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Introduction

History

The Skating System is recognised worldwide as the standard scoring method used to award
results for DanceSport competitions. It was developed as a specialised system to calculate
marks when multiple couples were being judged on the floor simultaneously.

Invention of the Skating System started in the early 1900s at a time when many competitions
were decided by a sole Adjudicator casting a single vote. Competition organisers were under
increasing pressure to provide a plausible and solid system which produced objective and
credible results. It is believed that the first major competition to use an early form of the
Skating System was the 1937 British Championship in Blackpool. After several years of
development, the Official Board of Ballroom Dancing approved the system on 1% January
1947 as the official formula of scoring.

The initial set of Skating System rules comprised of 10 official rules which are still the
foundation methods we use today. A number of amendments were made during the next
decade including several clarifications during the Official Board meeting in 1948. A final
update in 1956 was made when Rule 11 became the elaborate tie breaking tool to help
minimise couples drawing with the same place mark.

The first computerised program to automate the Skating System was “DanceScore”,
developed by Dallas Williams from Australia in 1982. Since then, advancement of wireless
devices, servers and wireless networks have greatly increased the speed and accuracy of the
system. Scrutineers are now employed around the world to produce instant results that can
be uploaded online for the world to see within milliseconds.

Scrutineers, like Adjudicators and Chairpersons, hold an incredible responsibility to a
sensitive service in the dancing fraternity. Their need to hold a credible accreditation with
their respective member bodies around the world is now overwhelming. Despite all results
being calculated instantly by computers, Scrutineers remain responsible for double checking
the accuracy of all results in the unlikely instance of a computer glitch or failure. They also
often end up with the unenviable task of explaining to parents, couples and spectators how
results are calculated. Scrutineers must therefore have a thorough knowledge of the Skating
System.

The aim of this Study Guide is to provide a learning method for the

Skating System fundamentals and develop the necessary tools needed

to pass an accredited Skating System Examination.




How to use the Study Guide

Producing a documented study guide to suit every Scrutineer around the world interested in
becoming qualified has proven to be a difficult task. Prior education, background knowledge,
experience and study practices vary from person to person. For this reason, the study guide
has been developed as a series of tutorials.

Each tutorial consists of the following components:

e A scope of planned learning

e Lessons on the specific topic with worked examples
e Homework

e Answers

Suggested study methods

Work through the tutorials in order. The Skating System must be studied in tutorial order as
provided. The information taught in the earlier lessons are the fundamental tools needed to
understand the procedures used in later lessons.

Do the homework exercises. It's important all Scrutineers work through as many homework
exercises as possible. Repetitive drilling is the only successful way to achieve a long-lasting
understanding of the Skating System. Everyone’s learning experience is different, and some
people may need to repeat the exercises more than once.

Check your answers. We would suggest you check your answers to monitor your progress. If
you are consistently coming up with the wrong answer you will need to re-study the tutorial
lessons.

Time frame of course - It is suggested you set aside a specific time frame to work through
the study guide. Best results are achieved by studying approximately one tutorial per week.

Exam date - Like every examination, study is highly recommended immediately prior to
sitting your exam. If you have worked through the Study Guide and your exam is several
days, weeks or months later then you would be wise to restudy and work through the
sample examination sheets again.

Study Guide requirements

The only requirements needed to complete this study guide is a pencil, sharpener, eraser and watch.



Tutorial 1

Welcome to the first tutorial and congratulations on your decision to study Scrutineering and
the Skating System. In this introductory tutorial we will cover the following topics:

1. Become familiar with the overall scope of the Skating System rules.
2. Study Rules 1-4 which cover the system used for marking of Adjudicators’ cards and
calculation of results for all rounds other than the final.

The content covered in this tutorial will not be included in the examination however it is
essential to have a thorough understanding of these basic concepts in your capacity as a
Scrutineer. As a fortunate consequence, Tutorial 1 does not include any required homework
exercises on completion.

The Skating System Rules

The Skating system is made up of 11 rules that determine how Adjudicator marks are
collected and processed during a competition. Specific scrutineering rules govern different
aspects of the competition and a brief outline is listed below.

e Rules1-4 The Adjudicators’ Marks

These rules refer to the marking of Adjudicators’ cards and how to determine recalls for all
rounds prior to a final.

e Rules 5-8 Single Dance Calculations

Rules which refer to the calculation of results for a single dance.
e Rule 9 Multi Dance Calculations (Final Summary)

Final summary calculations of overall place marks for multi dance events.
e Rule 10 Breaking ties in the final summary

This rule is applied when two or more couples remain tied in the final summary of a multi
dance event.

e Rule 11 Ultimate tie breaking rule

This rule is the ultimate tie braking rule and is applied when two or more couples remain tied
even after Rule 10 has been applied.



Adjudicator Marks — Qualifying Rounds

The first four rules of the Skating System refer to the marking of Adjudicators’ Cards.
Although this process can be done either electronically or on paper, the rules still apply the
same way regardless of the recording method. Rule 1 refers to all rounds up to and including
the semi-final. Rules 2 to 4 refer to the final round.

Rule 1  in all rounds each Adjudicator must vote for the number of
couples as stipulated by the Chairman of Adjudicators.

In other words, the Chairman of Adjudicators decides the number of couples to qualify for
the next round of a competition, which is usually around 2/3 to 1/2 depending on the type of
competition and time available, but normally no less than 1/2. Some countries or federations
have rules governing recall numbers the Chairman must adhere to.

Each Adjudicator votes accordingly for their preferred couples. When a competition consists
of more than one dance it’s possible that a couple may be recalled in some dances but not
others. Note also the Adjudicator may select the couples in no particular order, they do not
necessarily mark the couples in order of merit.

Those couples with the greatest number of overall votes move to the next round. This rule
applies to all qualifying rounds including quarter finals and semi-finals, the only exception
being the final round.

Adjudicator and Scrutineering Calculation Sheets

Shown below are some actual examples of Adjudicator and Scrutineering calculation sheets
used for rounds and semi-finals.

Example 1 — Example of a paper card an Adjudicator would be required to fill out for a quarter or semi-final round. As
shown per the instructions, 6 couples are to be recalled by writing their back numbers in the spaces provided.
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24. Demonstration Final 24, Demonstration Final

Samba & CCC Samba & CCC

19. Fred Smith Dance 1. Samba 19. Fred Smith Dance 1. Samba

Rec:lls m Recall 6
0

Selected

Selected

Cancel Reload Cancel Help

Example 2 — This is an example of an electronic form displayed on a tablet device by the DanceScore Electronic
Scrutineering System. Although all the information and instructions are displayed in much the same manner, the biggest
difference here is the back numbers have been uploaded to the device ready for the Adjudicator to select. This removes

the possibility of an Adjudicator recording an incorrect back number and ensures they recall the correct number of
couples to the next round.

Recall Calculations

At the end of each round, all Adjudicators marks are collated into one table so that a tally of
results can be made. For example, the table below shows the calculations for 12 couplesin a
semi-final consisting of 2 dances with 3 Adjudicators that have been asked to recall 6 couples
to the final round. After collating all the results and their aggregates calculated, the
Scrutineer selects couples to recall starting with the one scoring the highest aggregate and
working down until the required number of couples are selected.

Couple Samba Dance Jive Dance | Total | Couples

No: | Judge | Judge | Judge Total | Judge |Judge | Judge Total recalled
A B C A B C

29 X X 3 X 1 4 *
41 2 X X 2 4 *
55 1 X X 3 4 *
63 3 X X 3 6 *
72 3 X X 3 6 *
135 - - -
139 X 1 X 1 2
146 X X 2 - 2
178 - - -
199 X 1 X X 2 3
201 - X 1 1
236 X X 2 X X 2 4 *




Shown below is a real example of a competition where the Chairperson requested
Adjudicators to recall 20 couples over 4 dances through to the next round. In this preliminary
round there is a clear cut off at 14 recall marks.
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How to deal with ties

In instances when 2 or more couples are tied on equal scores, the Chairperson must be asked
to make the necessary decision to either forward all the tied couples to the next round or
none of them. It is not permissible to split the tied couples as they must all be treated
equally.



This following example has been calculated electronically using the DanceScore Scrutineering
Program and shows 3 couples all tying on 22 recall marks for the 6 spot into the final. Note
rules defining tied recalls vary from country to country and federation. In this instance the
Chairman chose to allow 8 couples move through to the final round.

2015 Crown International DanceSport Championship
Sunday 19 April - The Palladium at Crown

Item 96. Masters |l & Ill Open Standard - Semi

To Item 121
¥ .
DanceScore
Summary Recalls Number Couple Name Copyright 1982-2015
1 54 181 David Powell & Elsa Mariani Vie
2 51 66 Peter Matthews & Susan Matthews SA
3 48 26 Michael O'Reilly & Kim Foster NSW
4 48 54 Kassie Naicker & Naumee Naicker SA
5 37 74 Paul Raleigh & Vicki Raleigh Vie
6 22 34 Ivan Ciurlino & Elizabeth Ciurlino Vie
7 22 87 Oryst Tkacz & Janet Tkacz SA
8 22 178 Frank Martuccio & Jenni Walker Vie
9 16 43 Jacques Kiop & Yvonne Kiop SA
10 10 191 Donald Hew & Lily Burton Vie
Adjudicators
A. Fabrizio Cravero - Italy B. Grant Barrett-Thompson -  C. Glen Tierney - WA D. Alan Shingler - NSW
E. Shane Hocking - Vic F. Anita McGrath - Vic G. Brent Olifent - Vic H. Adam Blakey - Vic
I. Paul Cruddas - NSW J. Peter Campbell - NSW K. Wantanee Kachana - Thai
Waltz Coupe A B C D E F G H I J K Total
26 1 % A9 0 4 & 6 58 A 9
34 1 1 o 0 1 1 0 0 1 1 0 6
43 0 1 1 0 0 0 0 0 0 0 0 2
54 1 1 1 1 1 1 0 1 1 1 1 10
66 0 1 1 1 1 1 1 1 1 0 1 9
74 1 0 0 1 1 1 1 1 1 1 1 9
87 1 0 1 1 0 0 1 1 0 0 0 5
178 0 0 0o 0 1 0 1 1 0 1 0 4
181 1 1 1 1 1 1 1 1 1 1 1 1
191 0 0 0o 0 0 0 0 0 0 0 1 1
Tango Cowple A B C D E F G H I J K Total
26 1 1 0 1 1 1 1 1 0 1 1 9
34 1 1 o 0 1 0 0 0 1 0 0 4
43 0 1 1 0 0 1 0 0 0 0 1 4
54 1 1 1 1 1 1 0 1 0 1 1 9
66 0 1 1 1 1 1 1 1 1 0 1 9
74 1 0 1 1 0 1 1 1 1 1 1 9
87 0 0 1 1 0 0 1 1 0 1 0 5
178 0 0 0o 0 1 0 1 0 1 1 0 4
181 1 1 1 1 1 1 1 1 1 1 1 "
191 1 0 o 0 0 0 0 0 1 [ 2
Viennese Waltz Couple A B C D E F G H | J K Total
26 1 1 1 1 0 1 1 1 1 1 1 10
34 1 1 0o 0 1 0o 0 0 1 0 0 4
43 0 1 1 0 0 1 0 0 0 1 0 4
54 1 1 1 1 1 1 o 1 1 1 0 9
66 1 1 1 1 1 1 1 1 1 1 1 1
74 o 0o 0o 1t 1 1 1 1 1 0 1 7
87 0 0 0 1 0 0 1 1 [} 0 1 4
178 0 0 1 0 1 0 1 0 0 1 0 4
181 oA A9 14 4 1 03 £ 01 9 1
Scrutineered by DanceScore V5 Max Recalls = 55 Page 10f 2
www.DanceScoreLive.net 6-1-04
Item 96. Masters Il & Il Open Standard - Semi
To Item 121
191 1 0 o] 0 0 0 0 0 0 0 1 2
Slow Foxtrot Couple A B C D E F G H I J K Total
26 1 1 o] 1 1 1 1 1 1 1 1 10
34 1 0 0 0 1 0 0 0 1 0 1 4
43 0 1 1 0 0 1 0 0 0 1 0 4
54 1 1 1 1 1 1 0 1 1 1 1 10
66 1 1 1 1 1 1 1 1 1 1 1 1"
74 1 0 o] 1 0 1 1 1 1 0 0 6
87 0 0 1 1 0 1 1 0 o o0 o0 4
178 0 1 o] 0 1 o] 1 0 0 1 1 5
181 1 1 1 1 1 0 1 1 1 1 1 10
191 0 0 1 0 0 0 0 1 o 0 0 2
QuickStep Coupe A B C D E F G H I J K Total
26 1 1 1 0 1 1 1 1 1 1 1 10
34 1 1 o] 0 1 0 0 0 1 0 0 4
43 0 1 1 0 0 0 0 0 0 0 0 2
54 1 1 1 1 1 1 0 1 1 1 1 10
66 1 1 1 1 1 1 1 1 1 1 1 11
74 0 0 0 1 0 1 1 1 1 1 0 6
87 0 0 1 1 0 0 1 0 0 0 1 4
178 0 0 0 1 1 0 1 0 0 1 1 5
181 1 1 1 1 1 1 1 1 1 1 1 11
191 1 0 o] 0 0 1 0 1 0 0 0 3
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Adjudicator Marks — The Final

The following rules refer to the way Adjudicators allocate place marks in the final.

Rule 2 inthe final round each Adjudicator must place all competing
couples in order of merit in each of the dances.

Rule 3 inthe final round the Adjudicator must allocate 1° place to

the best couple, 2" to the second couple, 3™ place to the third best
couple and so on for each dance.

These rules form the fundamental procedures governing how Adjudicators judge multiple

Rule 4 an Adjudicator is required to place every couple in the final
in every dance. It is not permitted to “tie” any couples for any place in
the final of any dance.

couples in a final.

Adjudicators are required to rank every couple participating in the final, there are no
exceptions. They are not permitted to tie any couples or leave any out, they must make an
ultimate decision for every place mark. On the very rare occasion an Adjudicator does not
adhere to the rulings, the Chairman and/or Competition Organiser would most likely remove
the aforesaid Adjudicator from that particular event. The result would then be calculated
using the remaining Adjudicators only.

Adjudicator Judging Sheets

Adjudicators manual judging sheets and electronic devices are designed to comply with Rules
2-4 to collect place markings for a final and therefore look quite different to those of a
preliminary round or semi-final.

Following are some examples of manual sheets and tablet screen layouts an Adjudicator
would be expected to use.

11




8 1 Tattersall's Australian DanceSport Championship
day. 10 Decermtm 2008

Wecresday 0 Dacerrtm

Final Masters 2 Level 4 Standard Final . 7
From 66
Waitz Fox Tango QStep
1
2
T
“
5
6
7
8
9
10
1"
12
Adjudicator # 4
Cedric Meers (Vic) x P -

Example 1 - Pictured above is an Adjudicator card produced from the DanceScore Scrutineering System as used at the
ADS Australian Championship held in Melbourne 2008. Adjudicators manually write their results in the allocated spaces.

24. Demonstration Final 24. Demonstration Final

Samba & CCC Samba & CCC

19. Fred Smith Dance 1. Samba

19. Fred Smith Dance 1. Samba

39
42
96
101

1
\ 4
160
=

-
(o))
o

SAVE

Cancel Help Reload Cancel Help G LED]

Example 2 - Shown above are screen shots from a Samsung Tablet as used by the DanceScore Scrutineering System at
the ADS Australian Championship held in Melbourne 2017.

Homework

Unique to Tutorial 1 only, there is no assigned homework. Enjoy the moment!

12



Tutorial

Welcome to Tutorial 2. In this tutorial we will cover the following topics:

Become familiar with the Majority and Most concept used in the Skating System.
Become familiar with the single dance worksheet.

Learn how to scrutineer a simple single dance event - Rules 5 and 6.

Homework exercises.

vk wn PR

Answers to exercises.

Basic concepts of “Majority” and "Most”

To master Scrutineering, it’s important to understand and remember the concept behind a
“majority” and how it differs from the terms “most” or “greatest” when applying the
different rules.

e Majority — the greater number or part of; more than half.

e Most — the greatest amount or degree; the greatest number of.

The key point here is that MOST does NOT require a MAJORITY.

Scrutineering rules almost always require a pre-determination of what MAJORITY is required
to satisfy the relevant calculations. Here are some common examples...

Panel of 3 Adjudicators requires a majority of 2
Panel of 4 Adjudicators requires a majority of 3

Practice identifying the majority marks needed for varying numbers of Adjudication panels
on the table below. Note this is a question on your Scrutineering Exam.

Exercise 01-01

Number of Adjudicators Majority Required
15

9

12
8

13

13



The Single Dance Worksheet

When working manually, Scrutineers use single dance worksheets to compile all Adjudicator
marks together and determine the allocation of results.

Pictured below is an example of a typical single dance worksheet.

Couple Adjudicator Place calculation ' Result

Number A B C D E 1 1-2 | 13 | 14 | 15 | 1-6
i | | 218 18 [L]| 2|8 2nol
6 |3 (4 |l2a|alwul-]2]3 3vol
17 | Gl &|b|—|=|=|=[|—1|5 |Lsw
1B g |5 -S| E[8Ble=|lle] g j=|fu
19 = % \ \ |2 | 3 |—F—— | o+
20 3B | HIM |8 ]=|=|%2|H [r|Y4

What do all these numbers and letters mean?
Here is a quick tour of the Single Dance Worksheet.

e Couples are identified by their back number and these are listed down the left-hand
side of the table. In this case Couples 15, 16, 17 and so on. On the result sheet you
would list the Couple names.

e Adjudicators are identified by their allocated alphabetical letter and are listed along
the top left row of the table as shown above. On the results sheet you would identify
the Adjudicators by providing a list of their names against their letter.

e Adjudicator marks for each Couple are transferred from their Adjudicator sheet into
the table above (LHS) with place marks recorded carefully against each Couple given
by each Adjudicator.

e All calculations take place on the right-hand side of the table under the Place
Calculation columns. “1” refers to the amount of 1°¢ placings, “1-2” means 2" and
higher placings, “1-3” means the 3™ and higher placings and so on. Scrutineering
sheets will vary and some just have column headings with 1%, 2"¢, 3" or 1, 2, 3 and so
on.

Explanations on how these worksheets are used for result calculations are outlined in the
following section.
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How to Scrutineer Single Dances

Skating System Rules 5 — 8 apply to the allocation of positions for single dance events. Rule 5 forms the
basis and back bone of single dance result calculations and the remaining rules determine the handling
of more complex situations. Tutorial 2 only looks at Rules 5 and 6 which cover simple single dance
calculations.

Rule 5 the winner of a dance is the couple who is placed first by an
absolute majority of Adjudicators, second place is awarded to the
couple placed second or higher by an absolute majority, and the
remaining places are progressively allocated in a similar way.

To explain this rule please carefully study the example given and follow through the
calculation procedure step by step as shown below.

Couple Adjudicator Place calculation S—

Number | A B C D E 1-2  1-3 | 14 | 1-5 | 1-6
10 1 5 1 1 2 1st
20 2 2 5 4 1 1 3 2nd
30 3 3 3 2 3 - 1 5 3rd
40 4 4 2 3 4 - 1 2 I e 4th
50 5 1| 4 | 5 6 1 1 1 2 £ | s 5th
60 6 | 6 | 6 | 6 | 5 - - - - 1 5 6th

Calculation procedure:
1. Establish the majority required.

The above example shows 6 couples in the final judged by a panel of 5 Adjudicators. Before
doing anything else you must first establish how many marks are required to obtain an
absolute majority. In this case with 5 Adjudicators the majority is of course 3. It’s also good
practice to note this on the side of the table somewhere to get you into the habit of checking
this first, especially as you progress to more complex rules and calculations.

2. Calculation of place markings.

Keeping the required absolute majority in mind, start by counting how many first places each
couple has attained. Write the tally in the “1” column of place calculations.

15




Now check your column. Have any couples attained an absolute majority of 1 placings?

In the above example Couple No: 10 received 3 x 1% placings which is a majority and
therefore they receive 1° place. Now draw a solid line through the table to indicate this
couple no longer needs to be considered for any other placings.

Continue with the remaining couples and make your place calculations for first and second
placings and fill out the 1-2 column. Check if any have a majority. In the given example,
Couple 20 have received a majority of 1-2 placings and therefore take out 2" place. Again,
draw a solid line through the remaining place calculation boxes so this couple are not
considered for any other placings by mistake.

Continue this same process working through each place column for the remaining couples
and record each result progressively.

Important points to remember:

e Accuracy is paramount so it’s highly advisable to work logically and complete all the
“Place Columns” in order. Commence with the “first” places, then the “first and
second” places and so on for all placings.

e When a position has been allocated a line should be drawn across the remaining
columns with the result noted.
e Remember to double check your work as mistakes are never permitted.

Please complete the following exercise to make sure you understand Rule 5.

Exercise 05-01 Majority needed

Couple Adjudicator Place Calculation
Number C 1 1-2 | 1-3 | 14 | 1-5 | 1-6

Result

10

20

30

40

50

NN |dDOlW| | (D
Wl o b
Al |N| WO
wiInvNlno Db, m

AP |NW

60
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What happens if more than one couple have a majority for the same

position?

Instances where multiple majorities are found for the same place, calculations continue by

implementing the next rule of the Skating System.

Rule 6 If two or more couples have a majority for the same position,

the couple with the largest majority shall be allocated the position

under review, and the couple holding the next largest majority is

allocated the following position.

The important point to remember here is to always look for the LARGEST MAJORITY.

Here is an example of where Rule 6 is applied to calculate the couple placings.

Couple Adjudicator Place calculation Result

Number | A B C D E 1-2 | 13 | 14 | 1-5 | 1-6
10 1 1 1 6 6 1st
20 2 5 5 2 2 3 3rd
30 5 2 2 1 1 4 2nd
40 6 3 3 5 3 - 3 4th
50 3 6 4 3 5 - 2 3 || - 6th
60 4 4 6 4 4 - - SO [ 5th

Calculation procedure:

Absolute Majority required for 5 Adjudicators =3

Calculation of place markings:

Both numbers 20 and 30 have a majority for “second and above placings” (1-2) however,

Couple No: 30 has a larger majority of 4 compared with Couple No: 20 who only has a

majority of. Therefore, Couple No: 30 is allocated “second” position and Couple No:20 is

allocated “third”.

The same applies to Couple No’s 50 and 60 with No:60 awarded 5™ having the larger
majority of 4 and No:50 awarded 6™ with a smaller majority of 3.




Homework

Please complete the following exercises to make sure you fully understand the majority
concept and how to calculate results for simple single dance events. We would suggest you
check your answers to monitor your progress. If you are consistently coming up with the

wrong answer you will need to re-study the tutorial lessons.

Exercise 01-02

Number of Adjudicators

Majority Required

4

9

21

12

3

8

Exercise 05-02

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2 | 1-3 | 14 | 1-5 | 1-6

Result

10

20

30

40

50

60

ol wW k| v |N D

AW N =P
v | RN W O

v  w | |, NMN|O O
D= | NNW U B~ M

Exercise 05-03

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2 | 1-3 | 1-4 | 1-5 | 1-6

Result

10

20

30

40

50

60

o2 W I SE N IO T Y N T O T B SN,

RN O W hd| o |m
Alw | N R | V|

wi N | 0|k, D> o |O
N U W Rk o> m
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Exercise 05-04

Majority needed

Couple
Number

Ad

judicator

Place Calculation

C

1-3

1-4

1-5

Result

10

20

30

40

50

60

70

NiRrwo(Np~OUD

NiPrPUoaNDNW i b

N Wwi koL, Uu|N

UL, WININIAOD

ADRLPWINN |~ |INNUIM

Exercise 05-05

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-3

1-4

1-5

Result

10

20

30

40

50

60

70

Vo |dININRIW(D

NiPPlOjRrlOWIMNWE

AW I INN|R WU,

o|lunw|NviNR|IMD

AN, WL |NM

Exercise 05-06

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

ik, wWNIdoO (D

DR, VW IN|DdDE

DR, UNINW O

AR IOIN WOV

DR, UINNW B~ M

DN W RO

NN IRr W DO

Exercise 05-07

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

wiINvNIOOU || |D

W v~ N- e

O, | INW OVO

AW =L | BN WO;

AN OB, WM

AN VR WM

N | DdNlOOIR| WG
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Exercise 05-08

Majority needed

Couple
Number

Adjudicator

Place Calculation

E

1 |12

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

Wik o|N|ID

PO, W U N

A V=P WIN|O
| b N =R O|W|O

AW OUTO|F

RN OO WM

iR, WO|NIG

A= W P |N|X

G AN W O | |-

Exercise 05-09

Majority needed

Couple
Number

Adjudicator

Place Calculation

E

1 12

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

AR |DINIGUV|W|D

=L WIN O S~

RN WO
AR, W A OWN|O

VW IN|FRIP~O

DR, BAINOUVWmM

A WL |NNU DO

AlRPIOON U W|XI

AR, NN PP W (=

Exercise 05-10

Majority needed

Couple
Number

Adjudicator

Place Calculation

Result

D

1-2

1-3

1-4

1-5

1-6

10

20

30

40

50

60

U kLR OO WwW [ NP

AN PR, W R

U= O PN WO
AP IO 0N W

AN PP WL |UImMm

ANV IO UKL | WM

U R | PP WINO G

Exercise 05-11

Majority needed

Couple
Number

Adjudicator

Place Calculation

E

1|12

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

DR[N] WD (D

AN R, WP U

AN =R U W |~ |O
A= | NN Ul W |~ |O

GNP O W

G| LR | N W SO

AR W UL|IN DO

| =[N U W |~ I

AR INOOW| UV |-
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Exercise 06-01 Majority needed

Couple Adjudicator Place Calculation
Number C 1 /12|13 14 | 15| 1-6

Result

10

20

30

40

50

W N, OU D

ojlwlnir|(vS

AU RLRIWINOID

Nniwi ki~ O M

AW INIFRPIUOO

60

Exercise 06-02 Majority needed

Couple Adjudicator Place Calculation

Number C 1 [12] 13 14 | 1.5 | 1.6 | Result

10

20

30

40

50

Alwloju|~L | NP>
w oL |INvD
W IN | DR
njwi NNl RLIDO
NN |RL| WM

60

Exercise 06-03 Majority needed

Couple Adjudicator Place Calculation
Number D 1 1-2 (13 |14 | 15 | 16

Result

10

20

30

40

50

DWW NN, | D~|D
OO ndNW|IFR|E
D wlnn|IN R |DdO
D W P OUIN|E
P~ UV, W |IN M
AP IW NIRRT
AW OUOIN|FIO

60

Exercise 06-04 Majority needed

Couple Adjudicator Place Calculation
Number D 1 1-2 | 1-3 | 14 | 15 | 1-6

Result

10

20

30

40

50

R MO O|lW >
R W o N UV
N | PO R |UTWIO
R U |N|Dd W m
R w NP~ m
N O ||, U WO

5
4
1
6
3
2

60
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Exercise 06-05

Majority needed

Couple

Adjudicator

Place Calculation

Number

E

1 12

1-3

1-4 | 1-5

1-6

Result

10

20

30

40

50

bR N WP

60

WU INIFPRIO| P>

APITOOINIFRPLP OOIWO
i WINI O|FIO

N OO W, U0 |P>~

HRIOIN|IR|UT|W|mM

A DWW R, VNG

AP NP IW UL I

NI R PRI W|-—

Exercise 06-06

Majority needed

Couple

Adjudicator

Place Calculation

Number

E

1-2 | 1-3

1-4

1-5| 1-6

Result

10

20

30

40

50

60

Wb UNNINOOIN|F D>

70

NhPfWoOIMMNOU |- |

AWMU IdIPINO|IO

Wi kNN O UL |O

AW IO

N WO AN |IOUmM

AW IN N UL, IOO

AW ININO|F—|XI

AW IHSh NP |IN V|-

Exercise 06-07

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

Rl IW|N |P

Wi LR oL |N|

N RO W U

RO jlwW U1 IN O

NP W UM

Exercise 06-08

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

N WL | U (D

IN W Ik O~

Vi IN O | W

w v NP> O|O

VIR W o bdm
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Exercise 06-09

Majority needed

Couple
Number

Adjudicator

Place Calculation

D

1 1-2 | 1-3 | 14

1-5

1-6

Result

10

20

30

40

50

60

w N bd|r (>

Wik INOOIUV| P, |®

W Wk o ko
Wi bR, OO |N

aOaOjlwiNN VDM

VIN|IFR|AlWO M

NfwWUu o ||~ |O

Exercise 06-10

Majority needed

Couple
Number

Adjudicator

Place Calculation

E

1-2 | 1-3

14

1-5

1-6

Result

10

20

30

40

50

60

OO W U R IN[D>

A WA~ UINIR®

o W NI IO
A NN W = | OO

oo w| b~ |~ |N

O V| B ITW N[ FR ™

w un| s~ IONIF O

AP WAIN|IF I

P O WU RN |-

Exercise 06-11

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3 14

1-5

1-6

Result

10

20

30

40

50

60

R U | WIN P>

RN W O |®
RN D W

NIOOR | W S| OO

W DL Ul |N M

Exercise 06-12

Majority needed

Couple
Number

Adjudicator

Place Calculation

E

F

1-3 | 1-4

1-5

1-6

1-7

Result

10

20

30

40

50

60

70

N wkr oM |D

O VRN PN W S

N WO OV B~ O
NN RO WSA OO
N WD | o (- b

N PR WO (N WU

DN RPN WIN PO

AN, IN VR, WI

AN PNV PP W -
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Answers

Please check your answers progressively and if you are finding any consistent mistakes it is

advisable you restudy the relevant text and repeat the homework exercises.

Answer 01-01

Number of Adjudicators

Majority Required

15

9

7

12

8

5

13

N W o d | B~ U1| 0

Answer 01-02

Number of Adjudicators

Majority Required

Exercise 05-01

4 3

9 5

21 11

12 7

3 2

8 5
Majority needed 3

Couple Adjudicator Place Calculation

Number| A | B | C | D | E 12 | 13 | 14 | 15 | 1-6 | "
10 1 2 3 3 1 I B Bl B 2nd
20 3 4 2 2 4 - 2 3 3rd
30 6 6 6 6 6 - - - - - 5 6th
40 4 5 5 5 5 - - - 1 5 | - 5th
50 2 1 1 1 2 e e e e R 1st
60 5|3 4| 4| 3| - - 2 4 | e | e 4th
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Answer 05-02

Majority needed

Couple Adjudicator Place Calculation Result
Number | A B C D E 1 |12 13|14 | 15 1-6
10 2 5 6 6 4 - 1 1 2 3 | - 5th
20 5 4 3 2 5 - 1 2 3 | | - 4th
30 1 1 2 1 3 3 | - 1st
40 3 2 1 4 2 1 3 2nd
50 4 3 4 3 1 1 1 3 3rd
60 6 6 5 5 6 - - - - 2 5 6th
Answer 05-03 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 13 | 14 | 1-5 | 1-6
10 4 6 6 6 4 - - - 2 2 5 6th
20 3 4 5 4 6 - - 1 3 | | - 4th
30 2 3 1 1 1 I 1st
40 5 5 2 5 3 - 2 2 5 | - 5th
50 1 2 3 2 5 1 | 3 | - 2nd
60 6 1 4 3 2 1 3 3rd
Answer 05-04 Majority needed 3
Couple Adjudicator Place Calculation
Result
Number | A B C D E 1-2 1 13 | 14 15|16 | 1-7
10 5 4 2 6 5 1 1 2 4 | - | - 5th
20 4 3 5 4 2 1 2 4 4th
30 2 2 1 2 4 4 2nd
40 6 6 6 7 7 - - - - 3 | - 6th
50 3 5 4 3 3 - 3 3rd
60 1 1 3 1 1 1st
70 7 7 7 5 6 - - - 1 2 5 7th
Answer 05-05 Majority needed 3
Couple Adjudicator Place Calculation —
Number | A B C D E 1-2 13 14 |15 | 1-6 | 1-7
10 3 3 5 4 2 1 L e e et 3rd
20 1 2 1 1 1 | 4 | | omm | mommm | momem | e | - 1st
30 7 5 7 7 7 - - - 1 1 5 7th
40 2 1 2 2 3 R el el el el 2nd
50 4 6 4 3 4 - 1 R e e 4th
60 6 4 3 5 5 - 1 2 4 | - | - 5th
70 5 7 6 6 6 - - - 1 4 | -—--- 6th
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Answer 05-06 Majority needed 4
Couple Adjudicator Place Calculation
Result
Number | A B C D E F G 1 1-2 13|14 |15 1-6
10 6 4 4 5 4 5 4 - - - 4 | - | - 4th
20 4 2 3 3 3 4 3 - 1 5 | -] -] - 3rd
30 2 3 2 2 2 1 1 2 6 |- | | | - 2nd
40 3 5 5 6 5 3 5 - - 2 2 6 | ----- 5th
50 1 1 1 1 1 2 2 5 | o | e | e | e | e 1st
60 5 6 6 4 6 6 6 - - - 1 2 7 6th
Answer 05-07 Majority needed 4
Couple Adjudicator Place Calculation
Result
Number | A B C D E F G 1-2 |13 |14 | 1-5 | 1-6
10 4 1 5 5 3 3 3 1 4 | | e | e 3rd
20 1 2 3 2 1 1 1 e e el el el 1st
30 5 4 2 4 4 5 6 - 1 1 e 4th
40 6 5 4 1 5 6 4 1 1 1 3 5 |- 5th
50 2 3 1 3 2 2 2 1 5 || | | - 2nd
60 3 6 6 6 6 4 5 - - 1 2 3 7 6th
Answer 05-08 Majority needed 5
Couple Adjudicator Place Calculation
Result
Number A | B | C|D | E|F |G H]|J 1 1-2 /13 /14|1-5|1-6
10 212231322 |1]2 7 |- |-—-]|--]--] 2nd
20 6| 5/3|6|6|6|6|4)|6]| - - 1 2 3 9 6th
30 4 1 3/4]1|55]3|3 3|1 1 5 |--—-|--|---] 3rd
40 1 /112321 12 |5 |-—-—-|-|-—]-—]|-—| 1st
50 316|542 |44 |5 ]| 4] - 1 2 6 | -—--|-—--| 4th
60 5146|541 ,5]6]|5]|1 1 1 3 7 | --——- | 5th
Answer 05-09 Majority needed 5
Couple Adjudicator Place Calculation
Result
Number A | B | C| D |E|F |G| H/|] 1(1-2/13/14|15|1-6
10 314 /3,26 ,3|4,3]|3 - 1 6 |-—|-—-]|--| 3rd
20 516|654 ,5|5|5|4 - - - P 7 | --— | 5th
30 212|514 122|221 7 | —-—--|-—--|-—--|--| 2nd
40 4 131432 4|16 |5]|1 2 4 7 |-—|-—-| 4th
50 1 (12|13 ]1]3 1 /1|6 |-—-—-|--]-——]|-—-—]---] 1st
60 65|16 |5 6|6 |4,6]|1 1 1 2 4 9 6th
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Answer 05-10 Majority needed 4
Couple Adjudicator Place Calculation
Number | A | B | C | D | E| F| G |1 |12|13] 141516 "o
10 4 13133 |5]3]|°6 - - 4 | - | e | - 3rd
20 2 (1|22 |1]1]2]3 /2 B e e R 2nd
30 3/4|4]|5]3]5]3 - - 3 5 | | - 4th
40 6 | 5| 6| 6 4|6 4| - - - 2 3 7 6th
50 112|111 2|2 |1 |4 ||| 1st
60 5 6 5 4 6 4 5 - - - 2 5 |- 5th
Answer 05-11 Majority needed 5
Couple Adjudicator Place Calculation Result
Number A | B | C | D |E|F |G| H|J |1 |12 13|14 |15 16
10 415|443 6|4 ,4|5]|-| - 1| 6 |-—|--| 4th
20 3/4(3/3(4/4,2|3|3|-]1]6]|-—|-—|-—| 3rd
30 5/3(5|/5(6|3|5|5|6|-|-1]2]2]|7 |-/ 5th
40 2|/1(1}2(1|2|3|2|2|3| 8 |-—-|-—-|-—--|-—--]| 2nd
50 1221|2111 |1|6|-—-]|--|--]|-——]-—| 1st
60 6|6 |6 |6 |5|5|6|6|4]|-/]- -1 1|3 |9 | 6th
Answer 06-01 Majority needed 3
Couple Adjudicator Place Calculation
Number | A | B | C | D | E | 1 |12 13| 14 | 15 | 1.6 | o
10 5 4 6 6 6 - - - 1 2 5 6th
20 6 2 5 2 2 - I e e Tl 3rd
30 1 1 1 3 4 L e el e 1st
40 2 5 2 1 1 2 R e el B e 2nd
50 4 3 3 5 3 - - | 3 | | | - 4th
60 3 6 4 4 5 - - 3 | | 5th
Answer 06-02 Majority needed 3
Couple Adjudicator Place Calculation
Number A | B | C | D | E | 1 |1-2] 13 | 14 | 1-5 | 1-6 | ="
10 2 | 2 | 1 | 1 | 3 | S R ——— 2nd
20 1 | 1 | 4 | 4 | 1 [SECHEESSStyu———— - 1st
30 5 6 6 6 6 - - - - 1 5 6th
40 6 5 2 2 2 - 3 | | e | e | - 3rd
50 3 4 3 3 4 - - 3 | - | e | - 4th
60 4 3 5 5 5 - - 1 2 5 | - 5th
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Answer 06-03 Majority needed 4
Couple Adjudicator Place Calculation
Number | A | B | C | D | E | F| G | 112131415 16| ="
10 4 |14 |12 |1 |14 |-—--|-—-]|-—--]|"-—- - | 1st
20 1 /3|12 |3]|2]|2]2 5 ||| - - | 2nd
30 2 |22 ]|5 1|3 |5 1 R e el -~ | 3rd
40 514 |54 |5 |5 |4 - - - 3 7 |- | 5th
50 3153|3443 - - 4 | - | - - | 4th
60 6 | 6| 6| 6| 6|6 |6 - - - - - 7 6th
Answer 06-04 Majority needed 4
Couple Adjudicator Place Calculation
Number | A | B | C | D | E | F | G | 1 12131415 |16 o
10 3143|5343 - 4 |- | - -— | 3rd
20 6 | 5|54 |4 |65 - - 2 5 |- | 5th
30 2 |21 |1]2 2 1| 3 7 || | - -— | 2nd
40 516 |6 | 6|6 |54 - - 1 3 7 6th
50 4 '3 ,/4 |3 |5 ]3]6 - 3 5 |- ---- | 4th
60 17122 | 1]|1]| 2|4 |-——-|-—--—-—-|—-- —- | 1st
Answer 06-05 Majority needed 5
Couple Adjudicator Place Calculation S
Number A | B | C|D|E | F |G |H]|]J 1-2 13|14 |15 | 1-6
10 3,431,432 ]|5]3 2 | 6 |- |-—]|-—--]| 3rd
20 2, 6|66 |5|5|5|3|]6|]-|1]2|2/|5]|-—| 6th
30 1112|1111 |4 |7 |-—|---]|-—--|-—|-——| 1st
40 61223 |3[2|3]|]2]1 5 |- ||| -] 2nd
50 4 |5/5/4|6|6 |4 |45 -] - -1 4|7 |--| 5th
60 5/3|/4/5|2|4|6|6|2]|-|2]3 |5 |--|--| 4th
Answer 06-06 Majority needed 5
Couple Adjudicator Place Calculation Result
Number A | B | C|(D | E|F |G| H|J|1|12|13 14|15 16| 1-7
10 111|6|1|1|5|6|1|5|5|-—-]-—|-——-|-—-]-—-]-—| 1st
20 2|52 |5|5]1]1|/6|2]|2 — | = | - | - | —-—-| 3rd
30 6/2(1(6|2[2]|5|2|1]|2 — | -] | - | - 2nd
40 716777147 |7\7|-|-|-]1]1|2]|9 7th
50 5/3|5/2|6|62|(3/4|-]12|4|5/]|-—-|-—-]-— 6th
60 4 (43|43 |3|3|[5|3|-|-[5]-—-]|-=-—-]-—-/|-=--1| 4th
70 31743474 |4/6|-]-12|6]-|-—-]-—-5th




Answer 06-07

Majority needed

Couple Adjudicator Place Calculation

Number | A | B | C | D | E | 1 | 12| 13 | 1-4 | 15 | 16 | &
10 2 2 5 2 5 - 3 3rd
20 3 4 3 5 3 - - 3 4th
30 5 5 4 3 4 - - 1 R I e 5th
40 6 6 6 4 6 - - - 1 1 5 6th
50 4 1 1 6 1 3 1st
60 1 3 2 1 2 2 4 2nd

Answer 06-08 Majority needed 3

Couple Adjudicator Place Calculation

Number | A | B | C | D | E | 1 | 12|13 14 15| 1.6 "=
10 5 | 4| 3|6 | 4 : : 1 SR SR 4Ath
20 6 6 4 4 6 - - - 2 2 5 6th
30 4 1|6 |2 |3 |[1]| 2 3 | e | e | 3rd
40 1 3 2 1 1 ¢ JJ IS S [ U — 1st
50 3 | 2 1 | 5 | 2 1 . J S S [ — 2nd
60 2 5 5 3 5 - 1 2 2 5 | -—-- 5th

Answer 06-09 Majority needed 4

Couple Adjudicator Place Calculation

Number | A | B | C | D | E | F | G |1 |12]13| 141516 &
10 | 1 | 1[4 |2 [1|6 |1 |4 |-—-]|m| ||| 1st
20 4 5 6 6 4 3 4 - - 1 4 | -—-- | ---- 5th
30 6 6 5 5 5 4 6 - - - 1 4 | ---- 6th
0 | 2|2 |1|1|2|1|5]3|6 |-=|-|-—|-—| 2nd
50 | 5|4 |34 |3|2|3]|-]1]4/|-—|-—]|-| 4th
60 3/3|3(3|6|5]2]|- 1 5 | - | == | - | 3rd

Answer 06-10 Majority needed 5

Couple Adjudicator Place Calculation

Number | A |B | C | D |E|F|G|H|J|1|12]|13]1a]15]16 "
10 2116|2111 |2]|5 |-———-|-—]|---|-—]|-—]| 1st
20 (122|112 22|14 9 |-—|-—|-—|-—]| 2nd
30 515143 /4]3|6 |6/ 5| - - 2 | 4 | 7 |-—| 5th
40 (3|4 |3 |5(3|4|4|3|3|-|-1]05 ||| 3rd
50 6|3/ 6|2 6|55 |5|6]| - 1 2 2 5 | -—--| 6th
60 (4|6 54|56 3|44 -|-1]1]|5 ||| 4th
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Answer 06-11

Majority needed

3

Couple Adjudicator Place Calculation

Number | A | B | C | D | E | 1 |12 |13 ]| 14 15 | 1.6 | ="
10 2 6 3 5 2 - 2 3 3rd
20 313 |4 4| 4| - : 2 G (SRR Ath
30 4 4 5 3 5 - - 1 3 | | - 5th
40 6 2 2 1 1 2 4 | -—-- 2nd
50 5 5 6 6 6 - - - - 2 5 6th
60 1 1 1 2 3 3 | | - 1st

Answer 06-12 Majority needed 5

Couple Adjudicator Place Calculation

Number | A [B|C|D|[E|[F|G[H|]J 1213 1-4 | 15| 16| 17 | "e=U"
10 6(3(4|5/4|5/4|3]|3 -1 3|6 |--]|-—-—]|-—-| 4th
20 (22|14 /1]|1]2|1]1 o | | st
30 4 /4 ,5/3|6[7|3|5|5 - 2 4 7 |- | ---| 5th
40 51766 |5|6|5|7]|7 - - - 3 6 | -—-- | 6th
50 |(1|1|2|1|2|3/1|4]|4 6 | | == | === | = | —— | 2nd
60 [3|5(3[2|3[4|7|2]|2 3 | 6 |—|-—|—|-— | 3rd
70 7167|7726 ]6/|6 1 1 1 1 5 | -—-- | 7th
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Tutorial

Continuing with the calculation of single dance events, Tutorial 3 studies the remaining rules
in this section which cover more complex single dance calculations. Specifically, we will cover
the following topics:

1. Study Rule 7 which deals with breaking ties in complex single dance results.

2. Study the application of Rule 8 where no couple receives a majority.

3. Learn how place marks are awarded if couples draw on the same result even after the
implementation of Rules 7 and 8.

4. Homework exercises.

5. Answers to exercises.

Breaking Majority Ties in Single Dances

Up until now the calculation of place markings has been relatively easy by applying Rules 5
and 6, however there are many instances where couples “tie” on the same majority.

Rule 7 was created to address this problem and define a method of calculation to fairly
award the more superior Couple.

Rule 7

If two or more couples have an equal Majority for the same position...

(A) If such majorities are equal, then we add together the marks
given by those Adjudicators who form the majority and the
Couple with the lowest total (or aggregate) is allocated the
position under review. The next position is awarded to the
Couple with the next lowest aggregate.

(B) If the aggregates of marks are also equal, then the next
lower place (or subsequent places if necessary) in respect of the
particular Couples concerned, must also be taken into account.
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To keep it simple, we will introduce these two concepts separately and give you examples
demonstrating how these rules are applied to our calculations.

Rule 7(a) Equal Majorities

If two or more Couples have an equal majority for the same position...

e We add together the marks which form the majority for those Couples only.

e The position under review is then awarded to the Couple whose majority marks have
the lowest aggregate total.

e The next position is then allocated to the Couple with the next lowest aggregate.

e This process must be continued until all positions have been awarded for the Couples
with the equal majority.

To help explain how Rule 7(a) works it’s easiest to work through the example shown below.

Note: The small figures in brackets represent the aggregates or totals of the equal majorities
concerned. The use of brackets is not necessary and for simplicity you will notice we have
omitted them in all future examples and calculations.

Couple Adjudicator Place Calculation Result

Number | A B C D E 1-2 | 13 | 14 | 15 | 1-6
10 5 11 | 1 | 1 | 5 [EEEEE e e 1st
20 4 | 2 | 2|5 | 1|1 |30 [ e | e | s 2nd
30 2 5 5 2 2 - B e | e e | e 3rd
40 1 3 3 4 6 1 1 | 37 | e | o | - Ath
50 3 | 4| 4|3 ]3| - S 1 1 U O g 5th
60 6 6 6 6 4 - - - 1 1 5 6th

Calculation procedure:

As usual it’s important to complete all place columns in order.

Majority required for 5 Adjudicators = 3

No: 10 is automatically in 1% place as they have the absolute majority of 1% placings.

Both No0:20 and No: 30 have a majority of three “2"¥and higher” placings so we add together
the individual marks given by those Adjudicators involved as follows:

For Couple N0:20...2+2+1=5

For Couple No:30...2+2+2=6
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Couple No: 20 has a lowest aggregate score of 5 and is therefore allocated 2™ place.
Couple No: 30 having the next lowest aggregate is immediately awarded 3™ place.

Next, we fill out the “1-3 placings column” and note both No: 40 and No: 50 have a “3”
majority of “3™ and higher” placings. Again, we make an addition of the marks involved as
follows:

For Couple No:40...1+3+3=7

For Couple No:50...3+3+3=9
Couple No: 40 has the lowest total score of 7 and is therefore allocated 4" place
Couple No: 50 having the next lowest aggregate is immediately awarded 5% place.

Last of all, Couple No: 60 is placed 6™ as shown.

Rule 7(b) Equal Majorities and Equal Aggregates

If two or more couples have an equal majority AND equal aggregate for the same position...

e Calculate the majority including the next lower place mark of the Couples concerned.

e |If they remain equal, then continue the calculation by taking into account the next
lower place mark again, until a greater majority is found.

e The Couple with the greatest majority is awarded the place under review.

e This process must be continued until all positions have been awarded for the Couples
with the equal majority and aggregate.

¢ If you encounter multiple ties, the same procedure still applies.

The example below demonstrates how Rule 7(b) is applied.

Couple Adjudicator Place Calculation Result

Number | A B C D E 1 (12 |13|14 |15 | 1-6
10 1 5 1 1 2 £ JONNN AR R I S R 1st
20 2 2 5 5 1 1 3° | 3| 3 5| — 2nd
30 6 1 2 2 5 1 3° | 3% | 3 4 | ----- 3rd
40 3 3 3 6 3 - - N R N R — 4th
50 4 4|6 | 4| 4a]| - | -] -1|4a/|-——]|—— Sth
60 5 6 4 3 6 - - 1 2 3 | - 6th
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Calculation procedure:
Majority required for 5 Adjudicators = 3
No: 10 is automatically in 1 place as they have the absolute majority of 1% placings.

Both No:20 and No: 30 have a majority of three “ 2"¥and higher” placings so we add the
marks given by those Adjudicators involved as follows:

For Couple No: 20...2+2+1=5
For Couple No:30...1+2+2=5

Hate to state the obvious but both aggregates are the same. Now continuing ONLY with
Couples No: 20 and No: 30 and IGNORING ALL OTHER COUPLES, we fill out the “1-3” column
and calculate the 3™ and higher placings. As shown above there is no change with both
majorities and aggregates remaining the same. So now we continue again with only these
two Couples and fill out the “1-4” column. Again, the majority and aggregate calculations
remain identical, so we proceed to calculate the “1-5” column. This time the result is
different with Couple No: 20 obtaining a majority of 5 and Couple No: 30 only managing a
majority of 4. We now place both couples by awarding No: 20 second place and No: 30 third
place.

Now return to the remaining columns making sure we continue from where we left off
earlier and complete your calculation for the outstanding place marks.

Note: It’s important to realise that in the above example 4" position was allocated to Couple
No:40 from markings in the “3™@ and higher” column. As stated earlier, all columns must be
filled out in order. In many instances, if you proceeded and forgot to fill all the columns in
error, you may produce an incorrect result. This also demonstrates why it’s good practice to
place a dash in the column in the instances where no marks are recorded as this helps keep
track of how your calculations have progressed.

Multiple ties

Below is an example showing how to handle multiple ties concerning Rule 7.

Couple Adjudicator Place Calculation Result

Number A | B | C | D | E |1 12 |13 |14 | 15 | 1-6
10 2 | 3] 5|4]5 - 1 2 3° 5 |--- 4th
20 1 6 3 1 1 3 1st
30 3 14| 4 |5 6 - - 1 K 6th
40 6 | 5 1] 3 2 |1 2 3 3rd
50 5 1 2 2 4 1 3 2nd
60 4 |2 | 6|6 |3 - 1 2 3° 3 |- 5th
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Calculation procedure:
In the above example Couple No’s 10, 30 and 60 all tie on a majority of 3.

By adding the relevant marks together Couples 10 and 60 are still tied on the lower
aggregate of 9 so we continue with these two couples only, ignoring the others.

After allocating the results for Couples 10 and 60 remember to go back to where we let off
and place the remaining couple in the tie which was No: 30 in 6™ place.

What if no couples receive a majority?

There are many instances where no Couples have received a majority of place marks for the
position under review. In this circumstance we apply the remaining Skating System rule
concerning single dance events, Rule 8.

Rule 8 If no couple receives a majority for the position under review
then you must proceed by including the next place marks in the calculation. If
still no majority is found then we include the next place marks, and if
necessary, the next again until a majority vote is found.

This rule applies to any positions under review including first place.

Shown below is a good example of when Rule 8 needs to be applied on two occasions within
the one single dance calculation.

Couple Adjudicator Place Calculation Result

Number | A B C D E 1 12 13|14 | 15| 1-6
10 1 1 3 2 3 2 3 - 1st
20 6 5 4 1 1 2 2 2 L e 2nd
30 2 4 1 5 5 1 2 2 37 | e | - 3rd
40 4 2 5 6 2 - 2 2 38 | e | - 4th
50 3 3 6 4 6 - - 2 R e 6th
60 5 6 2 3 4 - 1 2 L R 5th
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Calculation procedure:
The absolute majority required for this example of 5 Adjudicators is 3.

Calculations reveal no couples achieved a majority of 1% placings. We therefore consider 2"
and higher placings and find that with a majority of 3 we award Couple No: 10 the first place.

Next, we calculate the 3™ and higher placings and again note no couples have achieved a
majority so we are forced to calculate 4" and higher place markings. Here we find all couples
have equal majorities hence we apply Rule 7(a) to allocate the correct placings.

How to allocate tied place markings

Before concluding the single dance rules, we need to understand the procedure to be
followed in the event all markings remain identical even after Rules 5 to 8 have been applied.
Note this is not another rule but rather an explanation on how this situation is handled.

When two or more Couples have identical concluding place markings then the
Couples have TIED for the positions under review. As all the couples involved are
considered equal in placing for the dance, they are allocated the MEAN of the
positions under review.

The MEAN is simply the average and is calculated by adding the positions under review
together and dividing by the amount of positions that are tied.

Shown below is an example of such an occurrence.

Couple Adjudicator Place Calculation

Number | A [ B | C|D|E|F|G|H|J| 1|12 13 |14] 15 |16 "
10 (2 111|211 ]1[1]|2 e e e
20 14|32 222212 |7 |- |-]| |- 2nd
30 3/12(4 (334|543 - 1 | 5% | 8% 93 |93 35
40 5/13(2(44|3|3 |3 /4| - 1 | 5% | 8% 93 |93 35
50 4 | 6|5|5|6|5/4|5|5] - - - 2 7 | --—--| 5th
60 6|/5(6|6 56|66 |6 - - - - 2 7 6th
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Calculation procedure:
In this instance Couple No: 30 and Couple No: 40 have both TIED for 3™ position.
We therefore calculate the MEAN of 3™ and 4",

In other words, MEAN = 3+4 =35
2

This gives both couples a tied result of 3.5 or 3 % for those who prefer fractions.

Here is another more complex example with more than 2 couples tied.

Couple Adjudicator Place Calculation

Number | A | B | C | D | E | 1 | 12| 13 | 1-4 | 15 | 16 "
10 4 5 1 6 3 1 1 2 38 413 519 4th
20 3 1 3 1 2 2 3 1st
30 1 3 5 4 6 1 1 2 38 413 519 4th
40 6 2 4 2 5 - 2 2 38 413 519 4th
50 5 4 6 3 1 1 1 2 38 413 519 4th
60 2 6 2 5 4 - 2 2 38 413 519 4th

Although this result is rare however it is possible and easily solved by finding the mean of the
places under review. In this case 5 couples have tied for 2" place.

The calculation will be... MEAN = 2+3+4+5+6 = 4
5

All 5 tied couples are allocated 4™ place.

Let me assure you the most common place you will see this type of situation is on your exam
paper!
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Homework

Please complete the following exercises to make sure you fully understand how to calculate

results for complex single dance events. Again. we would suggest you check your answers to

monitor your progress. If you are consistently coming up with the wrong answer you will

need to re-study the tutorial lessons.

Exercise 07-01

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2 | 1-3 | 114

1-5

1-6

Result

10

20

30

40

50

60

olwlun|ph L |[N[D

AINNWLWLW OOV, |®E

wi bl UL |N

N[O O, | WO

RWo LN |PA~Mm

Exercise 07-02

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2 | 1-3 | 14

1-5

Result

10

20

30

40

50

60

wlilhl o N[>

AN, |P_OUOIW| @

WiN U O ||

olwlr|NvIdMOUIO

O IWOULIN M

Exercise 07-03

Majority needed

Couple

Adjudicator

Place Calculation

Number

1-2

1-3 /1415 1-6

1-7

1-8

Result

10

20

30

40

50

60

70

80

O IN VDN W D

N hooUnlwW kL INO

AN N|PPWIFRL U IO
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Exercise 07-04

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

Rlnw oo ld[D

AWMU, |N®E

HPIOINIW UV

wun bl | N|O

NOOdlUIRL,|W M

Exercise 07-05

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

D

1-2

1-3

1-4

1-5

1-6

1-7

1-8

Result

10

20

30

40

50

60

70

80

WiN|oyjoo|n | IN|F(D

VoVl |N|[R|w|d|m
oiN | ~N|O|~| W

N oW ik |INIO

DN N |PWERLOLWOO M

Exercise 07-06

Majority needed

Couple
Number

Adjudicator

Place Calculation

D

E

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

NI WlRaL|D

NOOwuni b,
NRrwWUo | bhO

AW U= BN

NOOW|FRL U D>

Nniwh RO

NnlwibhrRiaNIB

Exercise 07-07

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

D

E

1-
2

1-
3

q=
4

1-
5

1-
6

Result

10

20

30

40

50

60

70

N N [dhUODRIODJW| D

WiININNUODIRIOO| B
WiId|IPR|PARINOWU

NINIW| AR IOOWU

WO IN UV I |P>

RININOIW O |~

NN w |k, O
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Exercise 07-08

Majority needed

Couple
Number

Adjudicator

Place Calculation

D

1-2 | 1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

Alo|lw un|r | N[>

RhAW UL OIN R
RO WINIO

RO W|N

NIhhIWOUO OO M

RINWO| U™

RrlUlbhlojlw |G

Exercise 07-09

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3 | 14

1-5

1-6

Result

10

20

30

40

50

60

WwWiINOOUV ||~ |D

~ArIOWOINW L B
DR INW WU

RN W OO

WiINOO UL M

Exercise 07-10

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

E

1-2

1-3 | 14

1-5

1-6

1-7

Result

10

20

30

40

50

60

70

RINO|w | h|NOU|D

Nk lWN OO
RPN WO O

R IWIdINO B~ O

AN R W U

VININ|R[AfWO ™M

RlWoauN DN

Exercise 07-11

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

D

1-2

1-3

1-4 | 1-5

1-6

1-7

1-8

Result

10

20

30

40

50

60

70

80

MiN/OL|WIRL|INO|D

N OIN|PPIW LU 0| ®E
N WwihjoojLlid |~ |N

NN WA RO

DN P N[O UTW M
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Exercise 07-12

Majority needed

Couple

Adjudicator

Place Calculation

Number

D E|F

1-2 113 |14 | 15| 1-6

1-7

Result

10

20

30

40

50

60

70

Ao|lnw|N|R|INID

R O N|RPWO N
O TWId|ON R |~ O
AN R W
RO IN AW WL
WINO N UV P

N DN W~ B

WINNUDO|— I
VO |IN DN P W|=—

Exercise 08-01

Majority needed

Couple
Number

Adjudicator

Place Calculation

1-3

14 /15|16 | 1-7

Result

10

20

30

40

50

60

70

80

N oo ulsNwW k(D

OlUNINIO|PIW|IFL|N
O|IPLPIOWERLRINUIINIO

Exercise 08-02

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2 | 1-3 | 14 | 1-5

1-6

Result

10

20

30

40

50

60

ON VR (D w|D
WO~ ~N| | @
Rlo|w|N v
RlwiNn S o n|O

RO UIWINM

Exercise 08-03

Majority needed

Couple

Adjudicator

Place Calculation

Number

cC | D

1-3

1-4 | 1-5 | 1-6 | 1-7

Result

10

20

30

40

50

60

70

80

O UMY WINO D

W N~ N|UWOO|®E

AUV N0 R W
GO |R |0 NINW
RN PP WOINIM
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Exercise 08-04

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

rlOOVWIN|IF[D

A WINPT
VINIO S L WO

RWo U N

N RO |W M

WA NERLROUIO™mM

alwlrRrNvMOVA™IO

Exercise 08-05

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

AlO/R|INNW OLV|D

N UV R IARWO ®E

O WELIOON

olrINvNUOIM WO

N =R WUho|~m

Exercise 08-06

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

D

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

70

80

©(Nwunio|N| (R[>

HIOWOULINOIN|—L|®

AN A INIOO P W

VO R |00 NN W

RO IN|OOWOLINM

Exercise 08-07

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

1-2

1-3

14

1-5

1-6

Result

10

20

30

40

50

60

oIV, WD

ojlw|lhlU|R,|IN| T
nwalnv RO

AW NN

o |bh|krINMNWM

RPN WM

ANV W|Hd |-G
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Exercise 08-08 Majority needed

Couple Adjudicator Place Calculation
Number c| D 1 (1213|1415 16| 17 | 1-8

Result

10

20

30

40

50

60

70

N(ojounlbhlwiNikD>
Vo o|N_N R w m
W(N|D|o|luo|~ N
N(N|Uw|ld || o o
N | DN~ |0|w m

80

Exercise 08-09 Majority needed

Couple Adjudicator Place Calculation
Number C 1 1-2 | 1-3 |14 | 1-5 | 1-6

Result

10

20

30

40

50

nN|lo |k D w|D>
Alwln|o|N| -~ |®
onw| sk |N
Nk, lwlu s~
olr|lN|lw| >|m

60

Exercise 08-10 Majority needed

Couple Adjudicator Place Calculation
Number C | D 1 (12|13 |14 15|16 | 1-7 | 18

Result

10

20

30

40

50

60

70

Wik oMo~ D
VN[N lojw| |l
o bW N[N,
N|lojon|bdlw(N|E
Voo N DN, w|m

80

Exercise 08-11 Majority needed

Couple Adjudicator Place calculation
Number B 1 12|13 |14 15 16

Result

10

20

30

40

50

WiN|[Rr|o| > |D
Rlwlo|dln|N
aldNU WO

60
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Exercise 08-12

Majority needed

Couple

Adjudicator

Place Calculation

Number

D

1 /12|13 |14 15

1-6

Result

10

20

30

40

50

60

R lW|IN|Id OOV |D

oW iIN|IFL |

R AU W OO INO
AW L[| NN OO M
U | |RLRIWINT

R o 0w |N P

okl winidO

Exercise 08-13

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2 1-3 14 1-5

1-6

Result

10

20

30

40

50

60

nwlrkrl aolbIN (D

R, IN PO W
NI WS U0 O
WA~ NRIOOIM

R INW UL O |

Exercise 08-14

Majority needed

Couple

Adjudicator

Place Calculation

Number

C

1-2 | 13 | 14 | 1-5

1-6

Result

10

20

30

40

50

60

AWl NN |R I OUV|D

AP WIN |
RN W UL A~ O |O
= INWOULHOoO | &M

AlO|RIWO N

Exercise 08-15

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2 | 1-3 | 14 | 1-5

1-6

Result

10

20

30

40

50

60

N V|| R, WD D

AN WL, U
N[O U W|F
N wWwiIN|Id R OO
DR, ||| WM
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Exercise 08-16

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

DN WN|-|D

N | R |bd| w|m
w U o |N[F|>D

| =P U0 WN

A W NP, |OM

Exercise 08-17

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3

14

1-5

1-6

Result

10

20

30

40

50

60

Wi oON |~ (P

v w u| Dl |m

vV R |W
wWiINnNUO|— | DO

AlRLrOJLN|W| NN M

Exercise 08-18

Majority needed

Couple
Number

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6
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Exercise 08-19

Majority needed
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Exercise 08-20

Majority needed
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Place Calculation
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Exercise 08-21

Majority needed
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Exercise 08-22

Majority needed
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Place Calculation
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Exercise 08-23

Majority needed

Couple
Number

Adjudicator

Place Calculation
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Answers

Please check your answers progressively and if you are finding any consistent mistakes it is
advisable you restudy the relevant text and repeat the homework exercises.

Answer 07-01 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 (1213 14| 15 | 1-6
10 2 1 2 3 4 1 3 | | | e | e 2nd
20 1 5 1 1 2 R Bl B e s 1st
30 4 6 5 6 5 - - - 1 3W | e 6th
40 5 3 6 5 6 - - 1 1 3B | e 5th
50 3 2 4 4 3 - L e R 4th
60 6 4 3 2 1 1 L el 3rd
Answer 07-02 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 12 13|14 | 15| 1-6
10 1 3 1 5 2 2 3 | | e | e | 2nd
20 2 5 4 4 5 - 1 310 5 | - 5th
30 5 4 6 2 3 - 2 e e R 4th
40 6 1 5 1 1 R e e e el s 1st
50 4 2 2 3 6 - 2 | 3 | | | 3rd
60 3 6 3 6 4 - - 310 3 |- 6th
Answer 07-03 Majority needed 2
Couple Adjudicator Place Calculation Result
Number A B C 1/1-2|{1-3|/14/1-5 /16| 1-7 | 1-8
10 3 6 8 - - 1 1] 1|2 || -—- 6th
20 1 2 5 1 | 2 || | | | | 2nd
30 6 1 1 2 | | | | | 1st
40 2 3 3 - 1 | 3 || | | | e 3rd
50 4 5 4 - - S A I e R o 5th
60 5 8 7 - - - - 1|1 |22 —- 7th
70 7 4 2 - 1 A R T e 4th
80 8 7 6 - - - - - 1|28 | - 8th
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Answer 07-04 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 12 13|14 | 15 | 1-6
10 4 2 1 2 3 1 R el el s 2nd
20 2 1 5 1 1 R I e el el R 1st
30 6 5 3 6 5 - - 1 1 313 | e 5th
40 3 3 2 4 4 - 1 - L (S R, — 4th
50 5 4 6 5 6 - - - 1 31 | e 6th
60 1 6 4 3 2 1 2 2 LI (S SRR, — 3rd
Answer 07-05 Majority needed 3
Couple Adjudicator Place Calculation Result
Number A | B | C D | E |1 |12|13|14 |15 |16 | 1-7 | 1-8
10 1,4 |36 |8 |1 (1| 2|3 |—-—|-—]|-—]|-—-— 4th
20 2 | 311|251 3 |--]--]-=]--]-] - 2nd
30 4 |1 |6 | 1| 21| 3 ||| —- 1st
40 5122 |33 ]| - 2 | 4 || | | e | e 3rd
50 8 6 | 4|5 |4 - - - 2 | 3 || | - 5th
60 6 |7 5|8 | 7] - - - - 1|2 | 4% | —- 8th
70 718 7|42 - 1 1 (2|2 |2 |4°| —- 7th
80 3(5 /8|7 ]| 6] - - 1 1|2 |3 |- - 6th
Answer 07-06 Majority needed 4
Couple Adjudicator Place Calculation Result
Number A | B | C | D | E|F | G |1 |12 13 14|15 |16
10 5 1142 |4 ]2 |2 1 | 47 || === | === [ === === | 2nd
20 6| 4,6 | 4|5 |6 |6 - - - 2 3 7 6th
30 1 5|5 1 1 1 1 I e B e el 1st
40 313,35 /(3|44 - - | 42| —- | — | —-| 5th
50 4 16 | 1|3 |]6]| 3|3 1 RN Lo ety sy pestey  4Ath
60 2|2 ]12|6|2|5|5 ]| - |4 | —|—|-—|-—]| 3rd
Answer 07-07 Majority needed 4
Adjudicator Place Calculation
I\cl: our;le 1- | 1- | 1- | 1- | 1- Result
umber A | B C D | E | F |G >131al5!6 1-7
10 314 |5|5 4|44 - 1|5 ||| - 4th
20 6| 6 6| 6|7 |66 - - - - | 6 |- 6th
30 1112 (1]1|3]1 1st
40 5/5/4|4|5|5]5 - -1 2| 7 || - 5th
50 4 121,322 3 47 | 6 | === | === | === [ === 3rd
60 717177677 - - - - 1 7 7th
70 2 1332 (3|1]2 4’ | 7 |-—-|--|-—|-—| 2nd
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Answer 07-08 Majority needed 4
Couple Adjudicator Place Calculation Result
Number | A | B | C | D | E F| G| 1 |12 13 14|15 1-6
10 2 2 | 2 | 2 1|5 2 1 6 | —-|-—-—|-—-—|-—]| 2nd
20 16 3|3 |6|4|3 1|1 49— |-—|-—| 3rd
30 5 516 |5 |5]|6 6 - - - - 4 | —--| 6th
40 3 3 (4|4 ]33 4 - Sl e e 4th
50 6 | 4 |5 6 | 4 | 2 5 - 1 1 3 5 | ---—-| b5th
60 4 1 1 1 2 1 1 T e e e el 1st
Answer 07-09 Majority needed 3
Couple Adjudicator Place Calculation Result
Number| A B C D E 1 |12 13|14 | 15 1-6
10 1 1 5 5 1 I e e el el R 1st
20 4 3 3 3 4 - - £ {20 NERERE CRUEE ST 5th
30 5 2 2 2 5 - I e e el 3rd
40 6 6 4 6 6 - - - 1 1 5 6th
50 2 5 1 4 2 1 SN (NUSTUTS UUIUE T S 2nd
60 3 4 6 1 3 1 1 | 37 | oo | e | - Ath
Answer 07-10 Majority needed 4
Couple Adjudicator Place Calculation Result
Number A/ B | C D|E F |G| 1 |12|13 14|15 16 1-7
10 5/5|6|5|7|6|7|-]|- - - 3 | 5% - 6th
20 2 12(3|4|5|3|4)|-|2/[4% 68 7 |-—|-— 3rd
30 4 13|26 |3 |4|2|-]2 |49 |66 7 |—| A4th
40 3/1(7|2|1(1|5|3|4]|-—-|-—-|-—|-—|-—| 2nd
50 6| 6|57 ,6|7|6]|-|- - - 1 | 5%° | —- 7th
60 7144|3223 |-]2/4% 6% 6% 6 |-— 5th
70 117114514 ||| |-—]|—-—]"— 1st
Answer 07-11 Majority needed 3
Couple Adjudicator Place Calculation Result
Number A | B | C | D |E | 1 |12|13 14|15 |16 | 17 | 18
10 6 | 8| 2| 8|3 | - 12| 2 2 | 31| | - 7th
20 2 |51 |6 /|5|1]| 2| 2|2 4 | - | m | - 4th
30 1 |16 |1 |1 4 |-—-]-—-—-]|--]|-|--]] —- 1st
40 3 3 5 4 8 - - 2 R e B Rl B 3rd
50 514 8|3 |7 - - 12 | 312 e | - 5th
60 8 | 7|4 |5 | 4| - - - R e 6th
70 716 3|22 - 2 | 3 || e | e | e | e 2nd
80 4 |\ 2|7 |7 | 6| - 1 1| 2 2 |32 | - 8th
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Answer 07-12 Majority needed 5
Couple Adjudicator Place Calculation Result
Number A /B |C|D|E|F|G|H|J|1|12|13 1415|1617
10 71243 |5/4|1(1(3 |23 |5%07%8 8 |-—|-—| 4th
20 1 /5113|113 |6]1]|5 s | e | | - | - | st
30 2(3|2|2|2|5|/5|4|2|-|5|-—|-~—|-—-—|-—-—|-—| 2nd
40 3/4/6|7|4|7|/6|5[4|-]-]11]4]|5%°|—|-— 6th
50 517176767 |7|7/|-1|-1- -1 1] 3]|9 | 7th
60 6/ 6(3|5|6|2|4|2|6|-]2]|3|4]|5%® —|-—| 5th
70 411/5/4(1(3|2|3|5|2|3 |59 78 9 |—|-—]| 3rd
Answer 08-01 Majority needed 2
Couple Adjudicator Place Calculation
Number Result
A B C 1 /12 13|14 |15 |16 | 1-7 | 18
10 1 2 7 (1IN (IN7 2NN RE=S BSSss (Resa et RS e 1st
20 3 1 5 1 1 2 || | | | - 3rd
30 2 3 2 e el el =l I B 2 nd
40 4 4 1 1 1 1 L e e 4th
50 5 6 3 - - 1 1 | 28 | == | === | ---- 5th
60 8 7 6 - - - - - 1 2 7th
70 6 5 4 - - - 1 | 27 | == | === | ---- 6th
80 7 8 8 - - - - - - 1 3 8th
Answer 08-02 Majority needed 3
Couple Adjudicator Place Calculation Result
Number| A B C D E 1 1-2 13 14|15 1-6
10 3 5 4 5 2 - 1 2 3° 5 | - 4th
20 4 2 5 6 3 - 1 2 3° 4 | --—-- 5th
30 1 4 2 4 5 1 2 2 4 | - | - 3rd
40 5 1 3 2 6 1 2 3 | | | - 2nd
50 2 6 6 3 4 - 1 2 3° 3 | - 6th
60 6 3 1 1 1 I R e B el B 1st
Answer 08-03 Majority needed 3
Couple Adjudicator Place Calculation S
Number | A B C D E 1 1-2 | 13|14 |15 | 16 | 1-7 1-8
10 6 | 8 | 7| 3| 2 - 1 2 2 2 | 31| | - 6th
20 2 | 5|13 2|5 - 2 L e e e el P 2nd
30 312117 3| 1] 2|4 ||| ]|-—-—]| - 1st
40 7 6 | 8| 8|6 - - - - - 2 3 8th
50 4 |12 4|4 1] 2 2 5 | | = | o= | - 3rd
60 114 |4 |1 /|72 |2 2 | 4 || | | - 4th
70 517 |5 | 6|8 - - - - 2 | 38| cm | - 7th
80 8 3/6 |5 |11 1 1 1| 3 | |- -—- 5th
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Answer 08-04 Majority needed 4
Couple Adjudicator Place Calculation Result
Number A | B | C | D | E|F G| 1|1-2|13 |14 15 1-6
10 1/5/3]2|3|6|4|1|2|4]|-——/|-—|-—| 3
20 2 4|14 ,6|5]|5 1| 2 2 | 41| — | —-| 6th
30 3145 |5 |1|2|2]|3 |4 |-——|-—|-—| 2nd
40 5126|642 1 1|3 3 | 4° |- |- 4th
50 6 | 323|143 1| 2 5 | - |-—-|---| I1st
60 4 |6 |5 (123|612 3 |49 |-—-|-—| 5th
Answer 08-05 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 12 13|14 |15 | 16
10 5 6 2 3 4 - 1 2 3% | o | - 5th
20 3 3 6 4 6 - - 2 30 | o | - 6th
30 2 4 1 5 5 1 2 2 37 | e | e 3rd
40 1 1 3 2 3 2 3 1st
50 6 5 4 1 1 2 2 2 L B 2nd
60 4 2 5 6 2 - 2 2 38 | e | - 4th
Answer 08-06 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 13|14 |15 |16 | 1-7 1-8
10 1 (1|7 | 3| 2] 2| 3 ||| —- 1st
20 4 |7 3|2 5] - (1 2 (B3 = SRR SUSTOR e 4th
30 2 16|17 3|12 |30 |--]|-m]|]| —- 2nd
40 6 | 2| 8| 8| 6| - 1 1 1 1| 3 |- | —- 7th
50 51/5|2|4| 4| - 1 | &Y e | == | = | == 5th
60 313 |4 |17 |21 |3 |]|-m|m]|—]| — 3rd
70 71 8| 5|6 | 8| - - - - 1|2 3 | - 8th
80 8| 4|6 5|1 1|1 1 2 3 || -] - 6th
Answer 08-07 Majority needed 4
Couple Adjudicator Place Calculation Result
Number A | B  C | D | E| F | G |1 12|13 14 15|16
10 3| 2 1 1133 1|13 4 |-—|-—]|-—]|--] 2nd
20 1 14 2 2 | 2| 4] 2 5 | == | === | = | - 1st
30 51524 |1]6]3 1 2 3 | 4% | — | — | 4th
40 2 |46 5|41 5 1 2 2 | 41 | ——— | —— | b5th
50 4 | 3|1 3|3 |]6|4]|2 - 1 4 | --- | == | -—-- | 3rd
60 6 | 6| 5,6 |55 6 - - - - 3 7 6th
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Answer 08-08 Majority needed 3
Couple Adjudicator Place Calculation Result
Number A | B | C | D | E | 1 |12 13|14 15 16 17 | 1-8
10 1] 3 2 | 8| 3 1 2 N e el e 3rd
20 2 1 1|6 |5 2 | 3* | 3 | | == [=—=| = |- 2nd
30 3126 1 1 [RNZENRN3 5 R SESEEN FERCUR (RUSU SRR (e 1st
40 4 |4 |5 | 4| 8 - - - 3 | o | e | e | e 5th
50 517 | 8| 3|7 - - 1 1 2 2 | 42 | - 7th
60 8 | 6|4 |5 |4 - - - 2 3 | == | o= | - 6th
70 6 | 8 | 7| 7 |6 - - - - - 2 | 4% | - 8th
80 7|1 5] 3] 2 2 - 2 3 | === | === | emem | mem= | == | 4th
Answer 08-09 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 12|13 14|15 | 1-6
10 3 1 2 4 4 1 2 38 5 1st
20 4 2 1 5 3 1 2 35 | 410 5 2nd
30 1 6 4 3 2 1 2 36 | 410 4 3rd
40 6 5 3 1 5 1 1 2 2 4 5th
50 2 3 5 6 1 1 2 38 3 4th
60 5 4 6 2 6 - 1 1 2 3 6th
Answer 08-10 Majority needed 3
Couple Adjudicator Place Calculation Result
Number A | B | C D | E |1 |12 13|14 |15 |16 | 17 | 1-8
10 514 ]5 1] 3 1 1 2 | 38 | o | o | - | - 4th
20 4 | 3 1] 2 1] 2 I e e el el el 1st
30 8 | 6 | 2] 3 2 - 2 3 ||| =] | —-—| 2nd
40 7 1|6 4| 4 1 1 | 8| e || = | == | = 5th
50 2 | 8| 7|5 |7 - 1 1 1 2 2 4 | --- 8th
60 6 | 7| 3| 8 | 6 - - 1 1 1 3 | | - 7th
70 1 12|46 |8 1 2 p 2 - LA R [ R (— 3rd
80 3,5 8|75 - - 1 1 3 | | | - 6th
Answer 08-11 Majority needed 2
Couple Adjudicator Place calculation Result
Number A B C 1 12|13 14|15 | 1-6
10 4 2 1 1 23 2 3 1st
20 6 5 3 - - 1 1 2 6th
30 5 4 5 - - - 1 3 5th
40 1 6 2 1 23 2 2 2nd
50 2 3 4 - 1 2200 [NESTERY (NSRS e 4th
60 3 1 6 1 1 A B e 3rd
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Answer 08-12

Majority needed

Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 (1-2 1-3 /14 1-5|1-6
10 5111246 /|2|4]1]|3 3 |58 | | -—| 4th
20 6 |2|6|2|5|3|2|-13|4]|—|-—]|-—| 2nd
30 4 |3 (3|3 ]2]|1]|3 1| 2 6 | - | | - 1st
40 2 4 5 5 1 4 1 2 3 SN (G120 NETal Neres 3rd
50 3/ 6|46 |3|6]|5 - - 2 4 | -—-- | 6th
60 1 /51,14 ,5,6]|3]|3 3 4 | -—-|--—-—| 5th
Answer 08-13 Majority needed
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 13 14| 15 | 1-6
10 2 3 4 5 6 - 1 2 3° 414 | 520 5
20 4 5 6 4 1 1 1 1 3° | 4% | 520 5
30 6 4 5 3 2 - 1 2 3° 4% | 520 5
40 1 2 3 1 4 2 3 | | | e | - 1st
50 3 1 2 6 5 1 2 | 3% | 3% | 41t | 57 | 25
60 5 6 1 2 3 1 36 | 3% | 41t | 57 | 25
Answer 08-14 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1-2 1 1-3 | 14 15  1-6
10 5 1 2 6 4 2 2 37 | 412 | 518 5.5
20 1 2 5 4 6 1 2 2 3’ 412 | 518 55
30 2 3 3 5 5 - 1 38 3rd
40 6 5 1 3 3 1 1 3’ 37 4 | - 1st
50 3 6 6 2 2 - 2 37 37 3 | - 2nd
60 4 4 4 1 1 2 2 2 5 | | - 4th
Answer 08-15 Majority needed
Couple Adjudicator Place Calculation Result
Number| A B C D E 1 12|13 |14 | 15 | 1-6
10 4 5 1 6 3 1 1 2 38 | 413 | 519 4
20 3 1 3 1 2 2 3 1st
30 1 3|5 | 4|6 |1 1| 2 | 38|48 |57 4
40 6 | 2 | 4| 2 | 5 | - 2 | 2 | 3% | 48 | 5P 4
50 5 14 6| 3| 1] 1 1 2 | 38 | 48 | 5P 4
60 2 | 6 | 2| 5| 4| - 2 | 2 | 3% | 4B | 5P 4
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Answer 08-16

Majority needed

Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 1-3 | 14 | 15 | 1-6
10 1 3 2 4 5 1 2 35 | 410 | 515 | 515 3
20 2 4 3 1 1 2 3 | e | e | e | - 1st
30 3 01|52 |4 | 1| 2 |3°%]|4°5]|5 3
40 5 6 4 6 2 - 1 1 2 3 |- 5th
50 4 |2 | 1|5 ]3| 1| 2|35 |40 5° 5% 3
60 6 5 6 3 6 - - - 1 2 5 6th
Answer 08-17 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 1-3 | 14 | 15| 1-6
10 1 1 3 4 2 2 34 4’ git | 511 | 5l 2.5
20 2 4 1 1 3 2 34 4’ 511 | 511 | 5l 2.5
30 6 5 4 6 5 - - - 1 3W | e 6th
40 4 3 5 5 6 - - 1 2 4 | - 4th
50 3 2 2 2 1 1 A e el el 1st
60 5 6 6 3 4 - - 1 2 322 | eee- 5th
Answer 08-18 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 1-3 | 14 | 15| 1-6
10 1 3 4 6 4 1 1 2 412 | 412 | 518 4.5
20 2 | 2 | 5[ 1|5 |1 | 3 || || 1st
30 3 1 6 2 6 1 2 L e 2nd
40 4 6 1 4 3 1 1 2 412 | 412 | 58 4.5
50 5 5 2 5 2 - 2 2 2 5 | - 6th
60 6 4 3 3 1 1 1 L e 3rd
Answer 08-19 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 /12 13 14 15| 1-6
10 4 4 4 5 1 1 1 1 4 | - | - 5th
20 3 5 5 6 5 - - 1 1 4 | - 6th
30 1 6 3 2 6 1 2 36 | 3% | 3¢ | 518 3.5
40 2 3 2 1 4 1 3 | | e | e | - 1st
50 5 2 1 4 3 1 2 3° 4 | - | - 2nd
60 6 | 1|6 | 3|2 1| 2|3 |3 3|58 35
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Answer 08-20

Majority needed 3

Couple Adjudicator Place Calculation Result
Number | A B C D E 1 12 13|14 15 | 1-6
10 4 1 5 2 6 1 2 2 37 4 | ----- 4th
20 5 6 4 5 3 - - 1 2 4 | ---- 6th
30 3 5 3 4 1 1 1 37 | 411 | 516 | 5lé 2.5
40 1 3 6 1 2 2 3 | e | e | e | - 1st
50 2 4 2 3 5 - 2 37 | 411 | 516 | 5i6 2.5
60 6 2 1 6 4 1 2 37 3 | - 5th
Answer 08-21 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 |12 13 14|15 | 1-6
10 5 6 2 1 3 1 2 | 3% | 3° | 4% | 57 | 25
20 6 5 3 2 1 1 2 | 35| 3° | 4% | 5 | 25
30 4 4 1 3 2 1 2 38 5 | - | - 1st
40 3 1 5 4 6 1 1 2 38 | 418 | 519 5
50 2 2 4 6 5 - 2 2 38 | 488 | 519 5
60 1 3 6 5 4 1 1 2 38 | 418 | 519 5
Answer 08-22 Majority needed 3
Couple Adjudicator Place Calculation Result
Number| A B C D E 1 (12 13|14 | 15| 16
10 6 5 6 4 5 - - - 1 314 | e 5th
20 2 1 4 6 2 1 3° 3 4 | - | - 2nd
30 5 6 5 5 6 - - - - 3L | e 6th
40 4 2 1 3 3 1 2 R el el 4th
50 1 4 2 2 4 1 3° 3 5 | | - 1st
60 3 3 3 1 1 2 2 5 | | - | - 3rd
Answer 08-23 Majority needed 3
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 |12 13 14| 15| 1-6
10 1 5 1 1 1 Al el el e R 1st
20 3 3 4 4 2 - 1 38 | e | e | - 4th
30 4 1 5 3 3 1 1 37 4 | - | - 2nd
40 2 2 3 6 5 - 2 37 3 | | - 3rd
50 5 6 6 2 4 - 1 1 2 31 | 5% 5.5
60 6 4 2 5 6 - 1 2 31 | 5% 5.5
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Tutorial 4

Tutorial 4 introduces the scrutineering of multi-dance events which combines two or more
single dances and calculates the overall winner.

In this tutorial we study the following topics:

1. Learn the functions of a Final Summary worksheet.

2. Learn how to scrutineer a multi-dance event using Rule 9 of the Skating System.
3. Homework exercises.

4. Revision exercises for single dance events.

5. Answers.

You will notice this tutorial includes revision exercises for the single dance events learnt in
previous tutorials. Calculation methods for single dance and multi-dance events are quite
different and it’s important to practice the ability to alternate between the two.

The Final Summary

The Final Summary is a specialised worksheet utilised by Scrutineers to calculate the overall
results of a specific number of single dances which have been combined into one
competition known as a multi-dance event.

When all dances have been concluded for a competition, the single dance sheets are
collated, and marks are carried to a new chart, the Final Summary. This worksheet allows the
Scrutineer to observe the results of all Couples in all dances together and make the relevant
calculations required to obtain an overall result.

Shown below is a typical Final Summary used at dance competitions.

Couple No: Waltz Tango Viennese Foxtrot | Quickstep Total Result
10 1 2 1 2 2 8 1st
20 3 1 3 1 4 12 2nd
30 2 3 2 3 3 13 3rd
40 4 4 6 4 1 19 4th
50 5 5 4 5 6 25 Sth
60 6 6 5 6 5 28 6th
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What do all these numbers mean?
Here is a quick tour of the Final Summary.

e Couples back numbers are listed down the far left-hand side column.

e Names of the individual dances contested are listed along the top row, often depicted

by their first letter only.

e The Couple placings in the individual dances are transferred from the single dance
sheets and entered into the table in the appropriate boxes as displayed in white.

e The Total column shows the aggregate sum of all the individual place marks for each
Couple.

e The Results column shows the overall result achieved by the Couple as computed
using the Skating System rules.

Pictured below are two real examples of complete competitions showing the individual
single dance calculations and their final summaries. These are copies of actual scrutineering
sheets used at competitions in 1995 in Australia. Unfortunately, not all the information has
been filled out, most likely this occurred due to poor time constraints which was a common
problem for manual scrutineering. Sorry they also have Rule 10 and 11 ties which we will
learn about in future tutorials!

Example: 1

COMPETITI THE MONASH DANCE FESTIVAL

VENUE UNION BUILDING, MONASH Urg[\'r_:u_srrv ITEM. No. .......
TEM: - - i 7 o ~ DAT 29th. APRIL 19§
COUPLE =Sy | e ——— et
N JafBlcIp ETF G Ir Js [B]C [pE[F G P Ja 8 [cp[E[F[GJpJa B [cC[pE[F[GJP Ja e |c [p]E[F G JP
T MR i 31451514 Cl=lz 1 :»‘VI T I3lele 2= %] | lel 1% [apA[%
20 Isipli]24s ajufofefrls] t1eisi3lels| | Istel/1615(é 3 WAVALT !
2> |31s[s[s |1 xéS‘s‘s.% Islclelel 2 1 3l%[5]3]s 03 MUACALT K2
25 2]e|sis|s]| Sle| ¢l « ¢ 2] l«l313]618 |7 | | 1%(S|21r 4|2 B NCATALRL Y :
3 lel3lelela] | efs|z]2]z|3 telelsiele| | elelsTal/ 5] |2 [ =
o5 elele]S[e] clalz3 |55 a2 3s | a2 slele]r 3] L
. E , ‘ . 1| - L 1
Wets! i ] . N EEN
| B | L1170 [ | | O
\DJUDICATORS. [Couple FINALSUMMARY | ResuLts
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Scrutineering multi-dance events (Rule 9)

Rule 9 is the fundamental rule used for calculating the ultimate winner of a multiple dance
event. It is the most straightforward of all the Skating System rules and can be determined
quickly.

If the result is a tie, further examination is required and Rule 10 must be applied. If the result still
remains a tie, then Rule 11 is implemented as the ultimate tie-breaking rule. These rules will be
explained in future tutorials.

Rule 9

Compilation of the Final Summary

(a) When all dances have been concluded a final summary is
compiled showing the position achieved by each Couple in each
dance. The place markings for each Couple are added together to
give an overall total. The Couple with the lowest aggregate shall
be the winner, the next second and so on.

(b) If two or more Couples have the same aggregate, then this results
in a tie for the position under review and therefore Rule 10 and
possibly Rule 11 must be applied.

In summary...

e The Couple in 1% place is given one mark, the second two, and so on.

e You simply add the place marks for each dance to give the overall TOTAL score.

e Whoever has the lowest score becomes the winner, the next second and so on with
the Couple attaining the highest score placed last.

e If any Couples tie on the same aggregate, then we apply Rule 10 and if still tied we
apply Rule 11.

As these calculations are relatively simple no in-depth explanations are needed, and we will
move straight into some examples of Final Summaries demonstrating how Rule 9 calculations
are presented.
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Example of Rule 9 without ties:

The Final Summary tables shown below demonstrate how Rule 9 is applied to calculate the
overall placings.

Example 1
Couple No: Waltz Tango Viennese Foxtrot | Quickstep Total Result
10 1 2 1 2 2 8 1st
20 3 1 3 1 4 12 2nd
30 2 3 2 3 3 13 3rd
40 4 4 6 4 1 19 4th
50 5 5 4 5 6 25 5th
60 6 6 5 6 5 28 6th
Example 2
Couple No: Waltz Tango Viennese Foxtrot | Quickstep Total Result
10 1 3.5 1 1 2 8.5 1st
20 3 1 2 2.5 1 9.5 2nd
30 4 3.5 6 4 3 20.5 4th
40 2 3.5 3 2.5 4 15 3rd
50 6 6 5 5 27 6th
60 5 35 4 6 24.5 5Sth

Example of Rule 9 with Couples involved in ties:

The following Final Summary presents two instances where couples have the same
aggregate.

For the purpose of learning and practicing the application of Rule 9, we record our findings as
shown in the table below.

CT\;J::Ie Samba | ChaCha | Rumba | Paso Jive | Total :::‘:: Furt::;::‘tjions
10 2 2 2 2 2 10 1st
20 3 4 6 1 3 17 2nd
30 1 6 1 4 6 18 Tied for 3rd | Apply Rule 10
40 5 1 3 5 4 18 Tied for 3rd | Apply Rule 10
50 6 3 5 6 1 21 Tied for 5th | Apply Rule 10
60 4 5 4 3 5 21 Tied for 5th | Apply Rule 10
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Homework

Please complete the following exercises to make sure you fully understand how to calculate
results for multi-dance events in a Final Summary. Check your answers as you go.

Exercise 09-01

Couple No: Total | Rule9Result | Further actions needed
10
20
30
40
50
60

70

Nlw o|kr (M vS
RlwliNINvM|old| =
Rl W N NI O

Exercise 09-02

Couple No: Total | Rule9Result | Further actions needed
10
20
30
40
50

60

PRI WO IO WV

WINPT O

N W L, OO

Exercise 09-03

Couple No: Total Rule 9 Result | Further actions needed
10
20
30
40
50 6.5
60
70 8 7.5

80 6.5 7.5

1.5

1.5

wWiIN[A~ |~ S

u

D
|| o |o|d N W[ RL|O
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Exercise 09-04

Couple
No:

Total

Rule 9 Result

Further actions needed

10

20

30

40

50

60

Wi nn N[ S

ool WL |N| -

OB, IWIN|ER

AP, |INW

ol iw|ir | N O

Exercise 09-05

Couple No:

Total

Rule 9 Result

Further actions needed

10

3.5

20

3.5

30

40

50

60

70

NN (RO

N RPOOININ WD

PO INOOIN PR W

Exercise 09-06

Couple
No:

VW

SF

Total

Rule 9 Result

Further actions
needed

10

3.5

20

2.5

3.5

40

3.5

2.5

50

W
1
3
30 4
2
6
5

60

P W AN |-

o | bh i wlir|NIO

Exercise 09-07

Couple No:

Total

Rule 9 Result

Further actions needed

10

20

30

40

50

60

70

N|o|u|bhlw|N|R|S

AN V| DN W[~ |-

N ounl b~ WIN|PFP

O Nt~ W(RIQO
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Exercise 09-08

Couple No:

wW

SF

Total

Rule 9 Result

Further actions needed

10

5

5.5

20

1.5

2.5

2.5

30

4

40

6

5.5

50

1.5

2.5

2.5

60

3

AINOO|IW| L |-

Exercise 09-09

Couple No:

Total

Rule 9 Result

Further actions needed

10

20

30

40

50

60

NP~ RPIWUW

Nfw UL IOO

NN IP~W IR

U WIN|POD P

Exercise 09-10

Couple No:

Total

Rule 9 Result

Further actions needed

10

20

30

40

50

60

ok AN WS

Ok wibhin(—-

U WINIPR IR

~Awla|Nd|RR OO

Exercise 09-11

Couple No:

Total

Rule 9 Result

Further actions needed

10

20

2.5

30

5.5

40

50

2.5

60

PO, WNW

AW unnIN A IRIO

R 0wk~ oONRD

5.5

Exercise 09-12

Couple No:

VW

Total

Rule 9 Result

Further actions needed

10

20

30

40

50

60

oA~ wWNIRIS

O U WIN|FR|-—-

R W unINBER O

ViAW IN

MMV OIWIFR|IO
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Revision

Please complete the following single dance tables as revision exercises.

Exercise 08-24

Majority needed

not used

Couple

Adjudicator

Place Calculation

No:

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

A wliRLrlaoaou|Nn (P

R0 OOIN WD

VI INIRITW O

wlinv|unikRr|lodDO

NRrIW A~ UTIOM

Exercise 08-25

Majority needed

Couple

Adjudicator

Place Calculation

No:

C

1-2

1-3

1-4

1-5

Result

10

20

30

40

50

60

oo |lw | NR[ID

oUW LW
N W | S~ |, |WUn

nioo|bdh|lw| Nl I|D

R PO W O |N M

Exercise 08-26

Majority needed

Couple

Adjudicator

Place Calculation

No:

C

D

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

70

80

Alo|lu|lwl o | N|N|F (D

NN U OO~ WDE

RO |00 NP> O INW

N OO N0 W RS~ WU,

P OO0 IR WM
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Exercise 08-27

Majority needed

Couple

Adjudicator

Place Calculation

No:

D

1 /1-2/1-3 14|15

1-6

Result

10

20

30

40

50

60

ORI W|D

RlWIN OO MR

R WINOIS_ OO

N W Uik O P+~
WL NN PAUOIM

RUwW B INNOT

wlnikrinv O DO

Exercise 08-28

Majority needed

Couple
No:

Adjudicator

Place Calculation

D

1 1-2/1-3|14|1-5

1-6

Result

10

20

30

40

50

60

O NN (R W| DD

VO Wik~ INGE

A PhWINFLPIOUO

PO WIN |-
W oo n NP M

ANV IWmM

Rlw o b oo |@

Exercise 08-29

Majority needed

Couple

Adjudi

cator

Place Calculation

No:

C

D

1-2

1-3/14|1-5/1-6 | 1-7

1-8

Result

10

20

30

40

50

60

70

80

wW(N|o|o|n|d N[>

njw|Nla|N|kR|lw|d |
oiNln~INOO|FR|Ww

N wornn| OO OIN |-
NN INW|ARrIOOM

Exercise 08-30

Majority needed

Couple

Adjudicator

Place Calculation

No:

C

1-2 | 1-3 | 14 | 15

Result

10

20

30

40

50

60

uiv|woa|ls |~ |D

NRPRIOO_OUW ®E

mRWINOO P&
DAl |I_lwWwNOVO

Wi UL IMNOM
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Exercise 08-31

Majority needed

Couple

Adjudicator

Place Calculation

No:

C

D

1-2

1-3 14

1-5|1-6 | 1-7

1-8

Result

10

20

30

40

50

60

70

80

WiNlO || NI~ 0D

VOO NWIRLrIN P~
N DO N|W A~ U

WINIO|O ||k, UN

IO |ININ|FRIWM

Exercise 08-32

Majority needed

Couple

Adjudicator

Place Calculation

No:

D

1 1-2

1-3 14 | 1-5

1-6

Result

10

20

30

40

50

60

wWuiN oD

AN INPWERE

NIW O U~ B>O

A WP UL IN

RO~ UTWINM

N R WO UMM

AL INOIW UG

Exercise 08-33

Majority needed

Couple

Adjudicator

Place Calculation

No:

D

E

F

1 |12

1-3 | 14

1-5 | 1-6

1-7

Result

10

20

30

40

50

60

RINWOIU D INID

70

R INO|W AU

RINPPIWO I OO

RNV W

R INOOUV WD

NIRIR_OINW O

RN OO WIN OO

N IRIN|dMOUWW|XI

R INUVDIO W S| |-

Exercise 08-34

Majority needed

Couple

Adjudicator

Place Calculation

No:

C

1-2 | 1-3 | 14

1-5

1-6

Result

10

20

30

40

50

60

N W aRrRWw D

AR INWIRLRIU D

N OR~OUW| -

NWN D™ RFRLR OO

IR IN WM
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Exercise 08-35 Majority needed

Couple Adjudicator Place Calculation
No: C D 1 /12|13 14|15 |16 | 1-7 1-8

Result

10

20

30

40

50

60

70

NN lwirGO|R,|[N|D

0N N WL NSO

0N O WA INMNOUIIM

N OO oAU W
N OO NW(ik &

80

Exercise 08-36 Majority needed

Couple Adjudicator Place Calculation Result
No: D E 1 /1213141516

10

20

30

40

50

rlwlaoa|lun|N|FR|D
V| dDlolw| N |
Nl | DR, w|O
wld|INN|Rr Ol |
oclw kR, (NSO

2
4
5
6
3
1

3
6
5
4
1
2

60
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Answers

Answer 09-01

Couple No: W F Q Total | Rule9Result | Further actions needed
10 5 4 6 15 5th
20 7 6 7 20 7th
30 4 5 4 13 4th
40 1 2 2 5 2nd
50 6 7 3 16 6th
60 3 3 5 11 3rd
70 2 1 1 4 1st

Answer 09-02

Couple No: S C R Total | Rule 9 Result | Further actions needed
10 6 6 6 18 6th
20 5 5 5 15 5th
30 3 4 4 11 4th
40 2 1 1 1st
50 1 2 3 2nd
60 4 3 2 3rd

Answer 09-03

Couple No: W T Q Total | Rule 9 Result | Further actions needed
10 1 1.5 1 3.5 1st
20 4 3 3 10 3rd
30 2 1.5 2 5.5 2nd
40 3 4 4 11 4th
50 6.5 6 17.5 6th
60 5 6 6 17 5th
70 8 7.5 8 23.5 8th
80 6.5 7.5 6 20 7th
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Answer 09-04

Couple No: W T VW SF Q | Total | Rule 9 Result | Further actions needed
10 1 2 1 3 2 9 1st
20 4 1 2 2 1 10 2nd
30 2 3 3 1 3 12 3rd
40 5 4 4 5 5 23 4th
50 6 6 5 4 4 25 5th
60 3 5 6 6 6 26 6th
Answer 09-05
Couple No: S C R J Total Rule 9 Result Further actions needed
10 4 3.5 3 3 135 4th
20 2.5 3.5 2 1 9 2nd
30 7 6 7 7 27 7th
40 6 5 6 6 23 6th
50 2.5 1 1 2 6.5 1st
60 1 2 4 5 12 3rd
70 5 7 5 4 21 5th
Answer 09-06
cc;“u‘:le w T VW SF Q | Total | Rule9Result | Further actions needed
10 1 3.5 1 1 2 8.5 1st
20 3 1 2 2.5 1 9.5 2nd
30 4 3.5 6 4 3 20.5 4th
40 2 3.5 3 2.5 4 15 3rd
50 6 6 5 5 5 27 6th
60 5 3.5 4 6 6 24.5 5th
Answer 09-07
C(:“uzle W T SF Q Total | Rule 9 Result Further actions needed
10 1 1 1 1 4 1st
20 2 3 2 3 10 Tied 2nd Apply Rule 10
30 3 2 3 2 10 Tied 2nd Apply Rule 10
40 4 4 4 4 16 4th
50 5 5 5 5 20 5th
60 6 7 6 7 26 Tied 6th Apply Rule 10
70 7 6 7 6 26 Tied 6th Apply Rule 10
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Answer 09-08

c%ugle W T VW SF Q Total | Rule 9 Result | Further actions needed
10 5 5 6 6 55 | 27.5 Tie 5th Apply Rule 10
20 1.5 1 2 25 | 25 9.5 Tie 1st Apply Rule 10
30 4 3 35 1 4 15.5 Tie 3rd Apply Rule 10
40 6 6 5 5 55 | 27.5 Tie 5th Apply Rule 10
50 1.5 2 1 2.5 2.5 9.5 Tie 1st Apply Rule 10
60 3 4 35 4 1 15.5 Tie 3rd Apply Rule 10
Answer 09-09
Couple No: S C R J Total Rule 9 Result Further actions needed
10 5 6 1 1 13 Tie 1st Apply Rule 10
20 3 1 3 6 13 Tie 1st Apply Rule 10
30 1 4 4 4 13 Tie 1st Apply Rule 10
40 4 5 2 2 13 Tie 1st Apply Rule 10
50 2 3 5 3 13 Tie 1st Apply Rule 10
60 6 2 6 5 19 6th
Answer 09-10
Couple No: W T F Q Total | Rule9Result | Further actions needed
10 3 2 1 5 11 Tie 1st Apply Rule 10
20 2 4 4 1 11 Tie 1st Apply Rule 10
30 4 3 2 2 11 Tie 1st Apply Rule 10
40 1 1 3 6 11 Tie 1st Apply Rule 10
50 6 5 6 3 20 Tie 5th Apply Rule 10
60 5 6 5 4 20 Tie 5th Apply Rule 10
Answer 09-11
Couple No: S C R J Total Rule 9 Result | Further actions needed
10 3 1 2 4 10 1st
20 1 4 6 2.5 135 Tie 2nd Apply Rule 10
30 2 2 4 5.5 13.5 Tie 2nd Apply Rule 10
40 5 5 3 1 14 4th
50 6 3 5 2.5 16.5 Tie 5th Apply Rule 10
60 4 6 1 5.5 16.5 Tie 5th Apply Rule 10
Answer 09-12
CoupleNo: | W T VW | SF Q | Total | Rule 9 Result | Further actions needed
10 1 1 6 2 1 11 1st
20 2 2 4 6 3 17 Tie 2nd Apply Rule 10
30 3 3 2 3 6 17 Tie 2nd Apply Rule 10
40 4 4 5 4 2 19 Tie 4th Apply Rule 10
50 5 5 3 1 5 19 Tie 4th Apply Rule 10
60 6 6 1 5 4 22 6th
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Revision Answers

Answer 08-24

Majority needed

3 not used

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 | 1-3 | 14 | 15 | 1-6
10 2 3 6 4 6 - 1 2 3% | eemm | - 5th
20 5 2 3 6 5 - 1 2 2 4 | - 6th
30 6 6 1 1 4 2 2 2 36 | eeee | eee- 4th
40 1 4 2 5 3 1 2 36 | 40 | 515 | ... 2
50 3 5 4 2 1 1 2 36 | 4% | 515 | ... 2
60 4 1 5 3 2 1 2 35 | 41 | 515 | .

Answer 08-25 Majority needed 3

Couple Adjudicator Place Calculation Result
No: A B o D E 1 12|13 |14 |15  1-6
10 4 1 5 1 2 34 3 | - | - |- 2nd
20 1 3| 1] 2|6 2/|3 | 4 |- || 1st
30 2 5 4 3 3 - 1 38 | 412 | 517 | ... 3.5
40 3 2 3 4 5 - 1 38 | 412 | 517 | ... 3.5
50 6 6 6 6 4 - - - 1 1 5 6th
60 5 4 2 5 1 1 2 2 3 | - | - 5th

Answer 08-26 Majority needed 3

Couple Adjudicator Place Calculation Result
No: A/ B C|D|E|1 1213|1415 16|17 | 1-8
10 (1|3 3|53 |1|1 |48 | —-|-—|-—|-—]|-— 3
20 (7|42 |4|1]|1|2|2]| 4 || |-—-| 4th
30 2 | 15| 1|5 | 2| 3% || o | mmom | om | e | eeee 1st
40 6 | 6| 4| 3| 2| -1 |2 |3 |-=—-|--]|--] - 5th
50 318|787 - - 1 1 1 1 |3Y | 5% 7.5
60 5/5,8|7 |8 )| -| - - -1 2|2 |37 55 7.5
70 8| 7,6 |6 |6 |-|- - - - | 3| -] - 6th
80 4 | 2 |1 2| 4| 1|3 |--|emmm]|mm| e | === | === | 2nd
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Answer 08-27 Majority needed 4
Couple Adjudicator Place Calculation Result
No: A | B | C | D |E F | G 1 |1-2/13 |14 |15 1-6
10 314,64 |5 |64 - - 1 |4 | - | —— | 6th
20 16|46 |42 |6|1| 2 2 |4 | - | - | 5th
30 2 | 5|5 (1|2 |4|2]1]|4 |- ||| 3rd
40 6| 22|51 |3 |1|2|4%|-—----|-|-—-| 2nd
50 4 3 3 3 3 5 5 - - 4 oo || cooo || coee 4th
60 511|261 |3 ]3/|48|-—]|-—-|-—]-— 1st
Answer 08-28 Majority needed 4
Couple Adjudicator Place Calculation Result
No: A/ B|C D|E|F|G|1|12 13|14 |15|1-6
10 4 | 2|5 1 1] 3 2 | 2 | 45| 5% 6|78 78| 15
20 3/4|/1|2|4|1|6|2|3|4]|-—|-—-|-—| 3d
30 1 1 (2|32 |5 4] 2|4°|5° |63 | 78 78 15
40 2 | 313 6 | 5| 2 5 - 2 |40 | e | oo | == | 4th
50 516 |4 |5|6 4|3 - - 1 3 5 |- | 5th
60 6 | 5|6 4|3 ]| 6 1 1 1 2 3 4 | - | 6th
Answer 08-29 Majority needed 3
Couple Adjudicator Place Calculation Result
No: A/ B | C | D|E |1 |12 /13 |14/15|16|1-7 1-8
10 1 143|162 2|35 ||| mmmn| ommm | oeen 2nd
20 2 | 3 1 2 1 | 2 | 8 | cmem | cmmm | cmem | mme | mmem | e 1st
30 4 |1/6 |8 |4 |11 |13 |-—-|-—|-—| - | 4th
40 512|263 -1]2 3" ||| |==| == | 3rd
50 8| 64| 4|7 | - - - 2 | 2 |3¥ | | e 6th
60 6 | 7| 5|5 | 8| - - - - 2 |36 | o | e 7th
70 718 7|3 ]2/ - 112 2|2 |2 4 | --—-- 8th
80 3|/5/8|7|5|-]-11]1]|3 |-==|--|-=-| 5th
Answer 08-30 Majority needed 3
Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 | 13 | 14 | 15 | 1-6
10 1 3 4 5 6 1 1 2 38 | g8 | 519 4
20 4 5 6 2 2 - 2 2 38 | 413 | 519 4
30 6 4 5 3 1 1 1 2 38 | 413 | 519 4
40 3 6 2 q 5 - 1 2 3% | aeem | - 6th
50 2 1 3 1 4 2 3 ——— — e o 1st
60 5 2 1 6 3 1 2 3 ———- o ——— 2nd
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Answer 08-31

Majority needed

Couple Adjudicator Place Calculation Result
No: A/ B C| D E|1 1213 /1415|1617 1-8
10 51412 |3 |1 | 2|30 ||| oomm | e 3rd
20 112 |55 |12 3|3 |3 |-—-|--|-—|-—| 2nd
30 4 | 1|4 |12 ]2 [3%[3% 5 | e | cmmm | oo | o 1st
40 213|347 -11)|3%|42| 4 ||| —- 5th
50 87 |7 |8 | 8| - - - - - - 2 5 8th
60 6| 6| 8| 6 |5]| - - - - 1|4 || —- 6th
70 7,8 6|7 6| - - - - - 2 | 4 | - 7th
80 3|52 |3 /4| -|1/|3|42|5 ||| - 4th
Answer 08-32 Majority needed 4
Couple Adjudicator Place Calculation Result
No: A|lB C D E|F|G|1|12|13|14|15|1-6
10 1 /3|4 (2|2|5|5]1 |3 |4 527 |- 2nd
20 6 |4 1] 1|3|6 |3 ]2 2|4 52| 52 718 3.5
30 4 12| 5|55 4]|6 - 1 1 3|6 |- 6th
40 2 (16|44 |3 |21 3|4 6 |-—-—,]-—— 1st
50 5/5|3(3|6|1|1]|2]|2] 48| 4 /|- 5th
60 3/ 6|2 |6 /|12 |4]|1|3 |4 |52 512 718 3.5
Answer 08-33 Majority needed 5
Couple Adjudicator Place Calculation Result
No:  A/B|C/D|E F|G H|J |1 12 13|14 1516 17
10 7/7/6|3|4|5[(5[3|7|-|-12|3 /5% |- 7th
20 4 (5|7 |7 |3|3|7|5|4|-|-12|4] 6% -—-|-— 3rd
30 5(4|5|5|7|7(3|6|3|-|-12|3]|6%”|--|--| A4th
40 6(3/3|4|5|6|(6|4|6|-|-12|4 |59 —-|- 6th
50 3/6|/4|6|6[4(2|7|5|-/1|2|4 | 5% —|- 5th
60 22212214122 |8 |-==|-==|=--|-—-|-| 2nd
70 1111212121217 |- |==|=|==|==]-=—- 1st
Answer 08-34 Majority needed 3
Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13|14 | 15| 1-6
10 4 5 1 6 3 1 1 2 38 | 413 | 59 4.5
20 3 1 3 1 2 2 3 T L O 1st
30 1 3 5 4 6 1 1 2 38 | 413 | 59 4.5
40 6 2 4 2 5 - 2 2 38 | 413 | 59 4.5
50 3 4 6 3 1 1 1 3 — | e | - 2nd
60 2 6 2 5 4 - 2 2 38 | 413 | 519 4.5
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Answer 08-35

Majority needed

3

Couple Adjudicator Place Calculation Result

No: A B | C|D E 1 [1-2|1-3 14|15|1-6|1-7 | 1-8

10 2 5 3 4 5 - 1 2 3 | | e | e | - 5th
20 1 4 5 1 2 2 | 3% 3% | 4 | - | a- | mmm | -e-- 2nd
30 5 2 1 3 4 1 2 R e el e 4th
40 4 1 4 2 1 2 [ 3% 3% | B | cem | coem | e | eme- 1st
50 3 3 2 6 3 - 1 4 | - | meem | e | meem | e 3rd
60 7 7 8 5 6 - - - - 1 2 4 -—-- 6th
70 8 6 6 8 7 - - - - - 2 | 319 | o 7th
80 6 8 7 7 8 - - - - - 1 | 320 | 8th

Answer 08-36 Majority needed 4
Couple Adjudicator Place Calculation
Result

No: A B C D E F G 1 |1-2 13|14 |1-5]|1-6

10 1 2 3 2 3 6 4 1 3 | 51| 6 | 6| 77 1.5
20 2 3 1 4 6 5 5 1 2 3 |40 | | -~ | 4th
30 5 6 4 5 5 1 2 1 2 2 3 6 |- | 6th
40 6 4 5 6 4 2 1 1 2 2 | 41| | - | 5th
50 3 1 6 3 1 4 3 2 2 | 51| 6 | 6| 7 1.5
60 4 5 2 1 2 3 6 1 3 4 | — | - | - 3rd
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Tutorial 5

Tutorial 5 introduces the first of our tie breaking rules used to separate Couples tied in multi-
dance events. It’s the most complicated rule and as such will be studied in divided sections.

This tutorial covers the following topics:

1. The basic principles of Rule 10.

2. What is unique about Rule 10?

3. Calculation methods using Rule 10 of the Skating System.

4. Learn how to calculate results when Couples have received equal place marks for the
position under review.

5. Learn how to deal with multiple Rule 10 ties.

6. Learn how to manage tied place marks (fractions) in Rule 10 calculations.

7. Study how Couples can remain tied under Rule 10 and the circumstances when we
should apply Rule 11.

8. Homework.

9. Answers.

Rule 10 basics and why is it unique?

When Couples tie with the same aggregate in the Final Summary under Rule 9, they are in fact equal in
all round efficiency.

Where this occurs, Rule 10 rewards the Couple who has attained the highest efficiency in the greatest
number of dances in relation to, or higher than, the position under review.

Note we have used the word GREATEST, meaning the greatest amount or degree... the MOST.
(Just making sure you understood this!)

*Important: Rule 10 is the only rule within the Skating System that does
NOT require a MAJORITY.

For calculations in Rule 10 we do not deal with majorities. As this principle is unique for Rule 10, we
must always make sure we correctly adjust our thinking when moving between any other Skating
System rule and Rule 10.
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The Basic Rule 10 calculation

As mentioned, Rule 10 is quite complex so it’s best to study the separate sections of the rule
one at a time. This first part deals with the basic foundation calculations for Rule 10.

RU Ie 1 O(a) If there is a tie under Rule 9 for 1% place, the

winner shall be the Couple who have won the MOST dances. If the tie
is for 2" place, we count the 2" and higher places and the Couple
with the MOST 2" and higher placings are awarded the position.
Similarly, all other placings are treated in the same way.

All Rule 10 calculations must commence and observe the following process.

e |dentify the tied Couples being considered in the Rule 10 calculation.

e Note the position under review.

e Count the number of place marks (and higher placings where applicable) for each
Couple in consideration.

e Award the Couple with the MOST place markings the awarded position.

To demonstrate the process of applying Rule 10 please follow the calculations and
explanations given for the following two examples of Couples tied after the Rule 9 result.

76



Example 1:

Couple Result | Result
no: | W T F QT giles |Rule1o Reason
10 1 1 2 5 Tie 1st 1st Rule 10 — Most 1+ placings
20 3 3 1 2 Tie 1st 2nd Rule 10 - Renl?eining couple in
30 2 5 4 4 15 Tie 3rd 4th Rule 10 — Renl?eining couple in
: Rule 10 — Most 3" and high
40 4 2 3 6 15 Tie 3rd 3rd uie p‘l’ascingsa” igher
50 6 6 5 1 18 Tie 5th 6th Rule 10 - Rer’rleileining couple in
: Rule 10 — Most 5t and high
60 | 5 | 4 | 6 | 3 | 18 | TieSth | 5th | "uiet0TMostonandhigher
Calculations:
Under Rule 9...

Couples 10 and 20 both have totals of 9 and are therefore tied on 1% place — Apply Rule 10.

Couples 30 and 40 both have totals of 15 and are therefore tied on 3™ place — Apply Rule 10.

Couples 50 and 60 both have totals of 18 and are therefore tied on 5t place — Apply Rule 10.

Under Rule 10...
e Tie for 1% place

Numbers 10 and 20 are both tied for 1% place under Rule 9.

Applying Rule 10 we now look for the Couple with the MOST 1% placings.

Couple 10 have 2 x 1% placings compared with Couple 20 who have 1 x 1°t placings.

Therefore Couple 10 are awarded 1° place and Couple 20 are awarded 2" place being the

remaining Couple in the tie.

e Tie for 3™ place

Numbers 30 and 40 are both tied for 3™ place under Rule 9.

Applying Rule 10 we now look for the Couple with the MOST 3™ and higher placings.

Couple 40 have 2 x 3™ and higher placings, Couple 30 have only 1 x 3" and higher placing,

therefore Couple 40 are awarded 3™ place and couple 30 awarded 4™place.

e Tie for 5" place

Rule 10 can be applied in exactly the same way for Couples 50 and 60 looking for 5" and

higher placings to give the result as per above, Couple 60 in 57" place and Couple 50 in 6%

place.
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Example 2:

Couple Result | Result
no: | W T F @ Total | pies | Rule10 Reason
10 3 1 1 1 6 1st Rule 9

. Rule 10 — Most 2" and high

20 1 2 2 6 11 Tie 2nd 2nd e p?asdngsan 'gher
30 2 3 3 3 11 Tie 2nd 3rd Rule 10—Remtei)éning couplein
40 4 4 4 5 17 Tie 4th Ath Rule 10 - l\/Ip(IJascti:‘ghsand higher
50 5 5 5 y) 17 Tie 4th 5th Rule 10—Rerrlzia;ning couplein
60 6 6 6 4 22 6th Rule 9

Under Rule 9...

Couple 10 has the lowest total and is therefore awarded 1°¢ place.
Couples 20 and 30 both have totals of 11 and are therefore tied on 2" place — Apply Rule 10.
Couples 40 and 50 both have totals of 17 and are therefore tied on 4™ place — Apply Rule 10.

Couple 60 has the highest total and is therefore awarded 6" place.

Under Rule 10...
e Tie for 2" place

Couples 20 and 30 are tied on 2™ place so we must find the Couple with the MOST 2" and
higher placings.

In this case we find Couple 20 has 3 x 2" and higher placings, and Couple 30 has 1 x 2"¢ and
higher placings.

We therefore award Couple 20 with 2" place and Couple 30 is awarded 3™ place being the
remaining Couple in the tie.

e Tie for 4" place

Couples 40 and 50 are tied on 4" place so we must find the Couple with the MOST 4 and
higher placings.

In this case we find Couple 40 has 3 x 4" and higher placings, and Couple 50 has 1 x 4" and
higher placings.

We therefore award Couple 40 with 4™ place and Couple 50 is awarded 5™ place being the
remaining Couple in the tie.
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Couples with equal place marks

This second section of Rule 10 deals with Couples that have obtained the same number of

place marks under review and remain tied.

aggregate.

R U Ie 10 ( b) If Couples remain tied by receiving the same

number of placings for the position under review, then add together the
place marks and award the position to the Couple with the lowest

This calculation is simple and straight forward and follows on from the previous calculation:

e |dentify the tied Couples being considered in the Rule 10 calculation.

e Note the position under review.

e Count the number of place marks (and above if applicable) for each Couple in

consideration.

e |If the total amount of place marks is the same for both Couples, add the place marks

together to find the aggregate.

e Award the Couple with the lowest aggregate the position under review.

Please follow the calculations in the following example to demonstrate the application of this

rule.
Example 3:
Couple Result Result
T F Total R
No: W Q ota Rule9 | Rule 10 eason
10 2 1 1 1 5 1st Rule 9
. Rule 10 — Equal 2 and high
20 1 2 3 4 10 Tie 2nd 2nd placings, lowest aspregate
. Rule 10-R ini lei
30 3 3 2 2 10 Tie 2nd 3rd vie T Teme ing cotple
40 4 4 5 5 18 Tie 4th 5th Rule 10—Remtzi1;ning couple in
. Rule 10 — Equal 4t and high
50 6 5 4 3 18 Tie 4th 4th ‘;g cings, ?ouma,est az;reg'agteer
60 5 6 6 6 23 6th Rule 9
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Under Rule 9...
Couple 10 has the lowest total and is therefore awarded 1°* place.

Couples 20 and 30 are tied for 2"? place, and Couples 40 and 50 are tied for 4™ place — Apply
Rule 10.

Couple 60 has the largest total and is awarded 6™ place.

Under Rule 10...
e Tie for 2" place

Looking for 2" place - Couples 20 and 30 are tied on 2" place, we therefore count the 2™
and higher placings. Both Couples have received 2 x 2" and higher placings so we now
calculate the aggregate of these marks.

Couple 20 = 1% + 2" = aggregate of 3
Couple 30 = 2™ + 2" = aggregate of 4
Couple 20 have the lowest aggregate and are therefore awarded 2" place.
Couple 30 are awarded 3™ place being the remaining Couple in the tie.
e Tie for 4" place

Looking for 4™ place - Similarly Couples 40 and 50 are tied on 4" place, we therefore count
the 4™ and higher placings. Both Couples have received 2 x 4™ and higher placings so we now
calculate the aggregate of these marks.

Couple 40 = 4 + 4t = 3ggregate of 8
Couple 50 = 4™ + 3™ = aggregate of 7

Accordingly Couple 50 is awarded 4" place having the lowest aggregate and Couple 40 are
awarded 5" place being the remaining Couple in the tie.
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De

aling with multiple Rule 10 ties

I’'m sure you must be seeing a pattern here... there are always more complications and this

one is no exception! This section of Rule 10 deals with situations that arise when more than

two Couples are tied for the same position under Rule 9.

R U Ie 10 ( C) Dealing with multiple ties — If more than 2 Couples tie

for example 2™ place, use the above rules (10a and 10b) to award 2"
place. Then considering the remaining tied Couples, use the above rules to
award 3™ place. Continue until all tied Couples have been awarded prizes.

This ca

you fol

Iculation again follows on from the previous calculations however you must make sure
low the procedure in order to correctly award each Couple:

Identify the tied Couples being considered in the Rule 10 calculation.

Note the position under review.

Count the number of place marks (and above if applicable) for each Couple in
consideration.

If the total amount of place marks is the same for 2 or more Couples, add the place
marks together to find the aggregate.

Award the Couple with the lowest aggregate the position under review.

Now repeat the process from the beginning for the remaining tied Couples for the
next position under review.

Continue to repeat this process until all tied Couples have been awarded positions.

To better understand how we deal with these situations, please follow the calculations in the

following example to demonstrate the application of this rule.
Example 4:
Couple Result | Result
No: W T F Q fete Rule 9 | Rule 10 Reason
10 2 2 2 4 10 1st Rule 9
. Rule 10 — Most 2" and high
20 1 1 6 5 13 Tie2nd | 2nd e pcl’:dngsan 'gher
. Rule 10 — Most 3 and high
30 6 3 1 3 13 Tie 2nd 3rd e pf:cingsa” eher
40 4 | 4 | 4 |1 13 | Tie2nd | 4th | RueloTMesta andhigher
50 3 5 3 2 13 Tie 2nd 5th Rule 10 - Remt?;ning couplein
60 5 6 5 6 22 6th Rule 9
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Under Rule 9...
Couple 10 has the lowest total and is therefore awarded 1° place.
Couples 20, 30, 40 and 50 are all tied on a total of 13 for 2" place — Apply Rule 10.

Couple 60 has the largest total and is therefore awarded 6™ place.

Under Rule 10...
e Tie for 2" place

Looking for 2™ place - Couples 20, 30, 40 and 50 are tied on 2"? place, we therefore count
the 2" and higher placings. Couple 20 has 2 x 2" placings, Couple 30 has 1 x 2" placings,
Couple 40 has 1 x 2" placings, Couple 50 has 1 x 2" above placings. With the MOST 2™ and
higher placings we award Couple 20 with 2™ place.

e Now looking at the Tie for 3™ place

Looking for 3™ place — Couples 30, 40 and 50 remain tied on 3™ place, we therefore count
the 3" and higher placings. Couple 30 has 3 x 3™ and higher placings, Couple 40 has 1 x 3™
and higher placings, Couple 50 have 3 x 3™ and higher placings.

Note both Couple 30 and Couple 50 have the MOST with 3 x 3™ and higher placings. As they
remained tied we now calculate the aggregate of 3" and higher placings.

Couple 30 = 3™ + 15t + 3™ = aggregate of 7

Couple 50 = 3™ + 3™ + 2"d = aggregate of 8

Accordingly Couple 30 is awarded 3™ place having the lowest aggregate.
e Now looking at the Tie for 4t place

Looking for 4% place — Couples 40 and 50 remain tied for 4" place, we therefore count the 4%
and higher placings. Couple 40 has 4 x 4" and higher placings, Couple 50 has 3 x 4" and
higher placings. Having the MOST 4™ and higher placings, we award 4™ place to Couple 40.
Couple 50 is awarded 5™ place being the remaining Couple in the tie.

82



How to deal with 1/2 marks (fractions)

Remember those instances when Couples tied on a single dance and were awarded the
mean of the places shared by the tied Couples? This section explains how we should handle
these fractions whilst making Rule 10 calculations.

R U Ie 10 (d) When dealing with % marks (fractions) in the Final

Summary due to tied place marks, the places must be considered

together with the next lower position.

For instance, a Couple who is awarded 3™ place is ranked better than a Couple who achieved
a tied placing of 3 %. Therefore, the place mark 3 % must be included in the “4™ and higher”
place marks and not with the “3™ and higher” place marks.

You will notice fractional marks are sometimes referred to as fractions and other times as
their digital counterpart. Both are correct and either notation can be used in calculations.

Here are some examples of fractional marks:

e 2.5 (or 2%)is counted as “3™ or higher” mark
e 3.5 (or 3%)is counted as a “4'" and higher” mark
e 4.5 (or 4%)is counted as a “5%" and higher” mark

To help fully understand this section of Rule 10, please study the calculations presented for

the example shown below.
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Example 5:

e w [T o tew | et e
10 1 | 55| 4 | 6 | 165 | Tie3rd Jrd | Mo Eue 3 and heer
. Rule 10 — Remaining couple in
Bl e e T
40 3 1 1 | 3 8 Tie 1st 1st Rule 10— Most 1% placings
50 4 | 35| 6 | 4 | 175 | Tiesth Sth | FUpl0 Eue o and heher
60 5 | 55| 2 5 17.5 | Tie Sth th | Fuiet0~ Remaming couplein

Calculations:

Under Rule 9...

Couples 30 and 40 and tied for 1% place.
Couples 10 and 20 are tied for 3™ place.

Couples 50 and 60 are tied for 5% place.

Under Rule 10...

e Tie for 1% place
1°t place goes to Couple 40 having the MOST 1%t placings

2" place goes to Couple 30 being the remaining Couple in the tie.

e Tie for 3" place

Looking for 3" place — Both Couples 10 and 20 have 1 x 3™ and higher placing. As they remain tied,
we therefore proceed to calculate the aggregates. In this case it’s very easy with only one place mark
each, Couple 10 having an aggregate of 1 and Couple 20 having an aggregate of 2. Hence Couple 10
is awarded 3™ place and Couple 20 awarded 4™ place being the remaining Couple in the tie.

e Tie for 5" place

Looking for 5t place — Both Couples 50 and 60 have 3 x 5" and higher placings. As they remain tied
we calculate the aggregates.

Couple 50 = 4t + 3.5t + 4th = Aggregate of 11.5
Couple 60 = 5t + 2" + 5th = Aggregate of 12

Accordingly Couple 50 are awarded 5" place and Couple 60 awarded 6" place being the remaining
Couple in the tie.
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When do we apply Rule 11?

This section deals with circumstances where couples remain tied under Rule 10 and Rule 11
must be applied.

Shown below is a summary of these instances.

R U Ie 10( e) Couples will remain tied under Rule 10 in the

following instances and Rule 11 must be applied, but only to the

Couples actually concerned in the tie.
When the tie is for 1° place:

e |If the tied Couples have won the same number of dances.
e None of the tied Couples have actually won a dance.

When the tie is for a place other than 15

e If the tied Couples have the same number of place marks for the
place under review and their aggregates are equal.

e If none of the tied Couples have actually won a place mark or
higher corresponding to the position under review.

The following detailed examples over the next few pages show worked calculations to
demonstrate how Couples remain tied for each given situation.

Example 6:

If the tie is for 1% place and the tied Couples have won the same number
of dances.

Couple Result Result
Nop: W T F @ Total | pileo | Rule1o Reason
10 1 | 1| 3 | s 10 | Tielst | Tielst | Rue10-cqul
20 4 | 4 | 1 1 10 | Tielst | Tielst | amaiens
30 2 5 2 2 11 3rd Rule 9
40 3 | 6 | 4 | 3 16 4th Rule
50 5 2 6 4 17 5th Rule 9
60 6 | 3 | 5 | 6 20 6th Rule
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Calculations:

Under Rule 10...
e Tie for 1* place

Looking for 1st place - Couples 10 and 20 both have 2 x 1° placings. At this stage they are
both considered equal and Rule 11 must be applied.
Example 7:

If the tie is for 1°t place and none of the tied Couples have actually won a
dance.

Couple Result Result

NoF: w T F Q Total Rule 9 Rule 10 Reason

10 3 5 2 2 12 Tie 1st Tie 1st Rl;('Jer igs—it'i“; FL'EZ';%S
20 2 2 4 4 12 Tie 1st Tie 1st review — Apply Rule 11
30 1 6 3 3 13 3rd

40 4 4 5 1 14 4th

50 5 3 1 6 15 5th

60 6 1 6 5 18 6th

Calculations:

Under Rule 10...
e Tie for 1% place

Looking for 1% place - In the example above, it can be easily seen that looking for 1% place,
neither Couple 10 or 20 have received a 1° place mark.

At this stage they are both considered equal and Rule 11 must be applied.

Example 8:

If the tied Couples have the same number of place marks for the place
under review and their aggregates are equal.

Couple Result Result

Tos w T F Q Total Rule 9 Rule 10 Reason

10 4 1 6 1 12 1st Rule 9

20 2 2 4 5 13 Tie 2nd | Tie2nd | Rule10-Equal2™and
- - higher placings, equal

30 3 6 2 2 13 Tie 2nd Tie 2nd aggregate — Apply Rule 11

40 5 5 1 3 14 4th Rule 9

50 6 3 3 4 16 Tie 5th Tie 5th F:}y'ilO-IEquaIS‘“anf

igher placings, equa
60 1 4 5 6 16 Tie 5th Tie 5th aggregate — Apply Rule 11

86




Calculations:

Under Rule 10...
e Tie for 2" place

Looking for 2" place - Couples 20 and 30 both have 2 x 2" and higher placings. We
therefore calculate the aggregates of these place markings.

Couple 20 = 2™ + 2" = Aggregate of 4
Couple 30 = 2" + 2" = Aggregate of 4

Both aggregates are equal so both Couples remain tied under Rule 10 and Rule 11 must be
applied.

e Tie for 5" place

Looking for 5% place — A similar situation has occurred for Couples 50 and 60. Both couples
have received equal 5" and higher placings. By calculating the aggregates, we find both
Couples remain tied having equal aggregates.

Couple 50 = 3™ + 3" + 4% = Aggregate of 10
Couple 60 = 1%t + 4t + 51 = Aggregate of 10

Rule 11 must therefore be applied to Couples 50 and 60 for 5% place.

Example 9:

If none of the tied Couples have actually won a place mark or higher
corresponding to the position under review.

Couple Result Result
NoF: w T F Q Total Rule 9 Rule 10 Reason
10 1 1 1 1 4 1st
20 3 4 5 3 15 Tie 2nd Rule 10 —No placings for
30 | 4 | 3 | 4 | 4 15 | Tie 2nd P e
40 6 2 6 2 16 4th
50 2 6 3 5.5 16.5 5th
60 5 5 2 5.5 17.5 6th
Calculations:

Under Rule 10...
e Tie for 2" place

Looking for 2™ place — In this example neither Couple 20 nor 30 have received a 2™ or higher
place mark and are considered equal at this stage. Rule 11 must be applied for 2" place.
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Homework

Please complete the following exercises to your understanding of Rule 10. Make sure the

“Reason” column is filled out correctly as these answers will be a part of your examination.

Exercise 10-01

Couple

Total | Place

Rule/Reason

10

20

30

40

50

60

uidlwlo|Rr|(NIS

wWwuhINO|— |-

WL NP~

o b INEFL WO

Exercise 10-02

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

50

60

oA wN|RIS

OV W(IN|(F |-

W uNNPA O

M| Ow|RLIO

Exercise 10-03

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

50

60

o VA wWN RIS

O NI, WIN|IFI—

ViAW LN P

Ok w b~ INDO

Exercise 10-04

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

50

60

oln|pd|lwiN(k|S

O N IWIN|[F |-

R WO IN|P O

VikAhIWODO N

NOw| i, 0O
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Exercise 10-05

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

50

60

MUl |w N k(S

UL, hw|N—-H

WL N &~O

iR ~PWOOIN

N W b, 0O

Exercise 10-06

Couple

Total | Place

Rule/Reason

10

20

30

40

50

60

wiN(d ok 0SS

AlUujlwikRLR (N -

Wil b N

ik oaow| b NIDO

Exercise 10-07

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

AN W

50

5.5

60

Vvniolbd wWiN R[S

U | WIN|[~ |-

5.5

ol |w| b~ |INIO

Exercise 10-08

Couple

VW

Total

Place

Rule/Reason

10

20

30

40

50

60

RINO U W~ S

ol | w| b —H

O W | A~ IN -

Ul O |, N W D

Nlolun|k,r|lw| O
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Exercise 10-09

Couple

W

VW

Total

Place

Rule/Reason

10

1

20

2.5

30

2.5

3.5

40

w LN

50

5.5

60

3.5

RN IWIO | WU

5.5

N Wl |l |lO

Exercise 10-10

Couple

Total

Result

Reason

10

20

30

40

50

60

ON|(A~ P |lw n|S

Nlwlu| s »L | o|H

A LI NP W|FL]|mM

nuniwiNnN|do|—,|O

Exercise 10-11

Couple

Total

Result

Reason

10

20

30

40

50

60

via|kriaN WS

OV |krlwi i+

ViAW IN| AL,

Alwiaa|NdIFRIOV]O

Exercise 10-12

Couple

Total

Result

Reason

10

1.5

20

1.5

30

40

50

4.5

60

rN|ORP|lw Un|S

N OO R, UV W Dd]-

AP, WL, OUOOIN]T

4.5
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Exercise 10-13

Couple

Total

Result

Reason

10

20

30

40

50

60

W AN R oun|S

NIWwW o~ O] -

R OO, O W NN

viw oo N RO

Exercise 10-14

Couple

Total

Result

Reason

10

20

30

40

50

60

rwlulNnolr|S

Rlwl NN o M-

R0~ W N

ANV ORI WO

Exercise 10-15

Couple

Total

Result

Reason

10

20

30

40

50

60

N R W & | o S

O Rr| Wl L | N -

R O L W| | N M

| o] W N R MO

Exercise 10-16

Couple

Total

Result

Reason

10

20

30

40

50

60

AN~ R, | w Un|S

N Tw o bR,

A U NP IW | L™

uniwi N Ibdlo | |0
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Exercise 10-17

Couple| W T F Q Total | Result Reason
10 3 2 1 5
20 2 4 4 1
30 4 3 2 2
40 1 1 3 6
50 6 5 6 3
60 5 6 5 4

Exercise 10-18

Couple| W T F Q Total Result Reason
10 5 4 2 |15
20 3 3 5 |15
30 1 5 1 6
40 6 1 3 3
50 2 6 4 | 45
60 4 2 6 | 45
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Answers

Answer 10-01

Couple | W | T | SF | Q | Total | Place Rule/Reason
10 2 1 6 3 12 3rd | Rule 10, most 3™ and higher placings
20 1 6 4 1 12 1st | Rule 10, most 1% placings
30 6 2 2 2 12 2nd | Rule 10, most 2" and higher placings
40 3 4 1 4 12 4th | Remaining place in tie
50 4 5 3 6 18 6th | Remaining place in tie
60 5 3 5 5 18 5th | Rule 10, most 5'" and higher placings
Answer 10-02
Couple | W | T |VW | SF | Q | Total | Place Rule/Reason
10 1 1 6 2 1 11 1st | Rule9
20 2 2 4 6 3 17 2nd | Rule 10, most 2" and higher placings
30 3 3 2 3 6 17 3rd | Remaining place in tie
40 4 4 5 4 2 19 4th | Rule 10, most 4*" and higher placings
50 5 5 3 1 5 19 5th | Remaining place in tie
60 6 | 6 1 5| 4 22 6th | Rule9
Answer 10-03
Couple | W | T |[VW | SF | Q | Total | Place Rule/Reason
10 1 1 4 3 2 11 1st | Rule 10, most 1 places
20 2 2 2 1 4 11 2nd | Remaining place in tie
30 3 3 1 4 3 14 3rd | Rule 10, most 3™ and higher placings
40 4 | 4 3 2 1 14 4th | Remaining place in tie
50 515 6 5|5 26 5th | Rule9
60 6 | 6| 5|6 |6 | 29 | 6th |Rule9
Answer 10-04
Couple W | T |VW | SF | Q | Total | Place Rule/Reason
10 1 1 6 2 5 15 1st | Rule 10, most 1* places
20 2 2 4 6 1 15 2nd | Rule 10, most 2" and higher placings
30 3 3 2 3 4 15 3rd | Remaining place in tie
40 4 | 4 5 4 3 20 4th | Rule 10, most 4" and higher placings
50 5 5 3 1 6 20 5th | Rule 10, most 5'" and higher placings
60 6 6 1 5 2 20 6th | Remaining place in tie
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Answer 10-05

Couple | W | T |[VW | SF | Q | Total | Place Rule/Reason
10 1 2 6 2 5 16 2nd | Rule 10, most 2" and higher placings
Rule 10, equal 3™ and higher placings, lowest
20 2 3 4 6 1 16 3rd aggregate
30 3 4 2 3 4 16 4th | Remaining place in tie
40 6 1 1 4 | 3 15 1st | Rule9
50 5 6 3 1 6 21 6th | Remaining place in tie
60 4 5 5 5 2 21 5th | Rue 10, most 5" and higher placings
Answer 10-06
Couple| W | T | SF | Q | Total | Place Rule/Reason
10 5 2 2 2 11 1st | Rule9
Rule 10, equal 4' and higher placings, lowest
20 1 6 4 4 15 4th aggregate
30 6 1 5 3 15 6th | Remaining place in tie
40 4 3 1 6 14 3rd | Remaining place in tie
50 2 5 6 1 14 2nd | Rule 10, most 2" and higher placings
60 3 4 3 5 15 5th | Rule 10, most 5'" and higher placings
Answer 10-07
Couple W | T |VW | SF | Q |Total | Place Rule/Reason
10 1 1 3 3 2 10 | Tie 1 | Apply Rule 11 - equal 1% places
20 2 2 1 1 4 10 | Tie 1 | Apply Rule 11 - equal 1% places
30 3 3 2 4 | 3 15 3rd | Rule 10, most 3" and higher placings
40 4 | 4 4 2 1 15 4th | Remaining place in tie
. Apply Rule 11 — equal 5" placings, equal
50 6 6 | 55| 5 5 |27.5 | Tie5 aggregates
. Apply Rule 11 — equal 5% placings, equal
60 5 5]55| 6 6 | 27.5 | Tie5 aggregates
Answer 10-08
Couple W | T |VW | SF | Q | Total | Place Rule/Reason
10 4 2 1 4 4 15 | Tie 2 | Apply Rule 11 — equal 2" places
20 31| 4 2 3 3 15 4th | Remaining place in tie
30 5 3 4 2 1 15 Tie 2 | Apply Rule 11 — equal 2" places
40 6 1 3 1 5 15 1st | Rule 10, most 1* places
50 2 5 5 6 6 24 6th | Rule9
60 1 /6| 6 51 2 20 5th | Rule9
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Answer 10-09

Couple | W | T VW | SF | Q | Total | Place Rule/Reason
10 1 2 5 2 | 5 15 1st | Rule9
20 25| 6 6 1 | 6 | 21.5 | 6th |Rule9
30 25135 3 4 4 17 4th | Remaining place in tie
Rule 10, equal 3™ and higher placings, lowest
40 504 (3|1 27 | 3rd |20 °
50 6 1 2 |55 3 |17.5 | 5th |Rule9
60 35/ 1 |55 2 17 2nd | Rule 10, most 2" and higher placings
Answer 10-10
Couple| W | T F Q | Total | Result Reason
10 5 6 1 1 13 1st Rule 10, most 1* places
. Apply Rule 11 - equal 2" placings, equal
20 3 1 3 6 13 Tie 2 lowest aggregates
g Apply Rule 11 — equal 2" placings, equal
30 1 4 4 4 13 Tie 2 lowest aggregates
40 4 5 2 2 15 5th Rule 9
Remaining place in tie — equal 2" placings,
50 2 3 5 3 13 4th equal lowest aggregates
60 6 2 6 5 19 6th Rule 9
Answer 10-11
Couple| W | T F Q | Total | Result Reason
. Apply Rule 11 - equal 2" placings, equal
10 3 2 1 > 11 Tie 2 lowest aggregates
. Apply Rule 11 - equal 2" placings, equal
20 2 4 4 1 11 Tie 2 lowest aggregates
Remaining place in tie — equal 2" placings,
30 4 3 2 2 11 4th equal lowest aggregates
40 1 1 3 6 11 1st Rule 10, most 1 places
50 6 5 6 3 20 6th Remaining place in tie
60 5 6 5 4 20 5th Rule 10, most 5" and higher placings
Answer 10-12
Couple| W | T F Q Total | Result Reason
10 5 4 2 1.5 12.5 Tiel | ApplyRule11-no 1* places
20 3 3 5 1.5 12.5 Tie1l | ApplyRule 11 -no 1% places
30 1 5 1 6 13 4th Remaining place in tie
40 6 1 3 3 13 3rd Rule 10, most 3™ and higher placings
. Apply Rule 11 — equal 5% placings, equal
50 | 2 | 6 | 4 45| 165 | Tie5 | ™' "°
. Apply Rule 11 - equal 5% placings, equal
60 | 4 | 2 | 6 45| 165 | Tie5 [V °
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Answer 10-13

Couple| W | T F Q | Total | Result Reason
10 5 1 2 1 9 1st Rule 9
20 6 5 3 2 16 3rd Rule 10, equal 3" and higher placings, lowest
aggregate
30 1 4 5 6 16 6th Remaining place in tie
40 2 6 4 4 16 Tie 4 Apply Rule 11 - equal 4t placings, equal
aggregates
50 4 3 6 3 16 Tie 4 Apply Rule 11 — equal 4t placings, equal
aggregates
60 3 2 1 5 11 2nd Rule 9
Answer 10-14
Couple| W | T F Q Total | Result Reason
10 1 4 2 3 10 2nd Remaining place in tie
20 6 6 3 1 16 Tie 3 Apply Rule 11 — equal 3" placings, equal
aggregates
30 2 2 6 6 16 Tie 3 Apply Rule 11 - equal 3" placings, equal
aggregates
40 5 5 4 2 16 Tie 5 Apply Rule 11 - equal 5t placings, equal
aggregates
50 3 3 5 5 16 Tie 5 Apply Rule 11 - equal 5t placings, equal
aggregates
60 4 1 1 4 10 1st Rule 10, most 1* places
Answer 10-15
Couple| W T F Q Total | Result Reason
10 6 2 2 4 14 4th Rule 10, equal 4t and higher placings, lowest
aggregate
20 5 4 4 1 14 Tie 5 Apply Rule 11 - equal 5t placings, equal
aggregates
30 4 5 3 2 14 Tie 5 Apply Rule 11 — equal 5 placings, equal
aggregates
40 3 3 5 3 14 3rd Rule 10, most 3™ and higher placings
50 1 1 6 6 14 1st Rule 10, most 1° places
60 2 6 1 5 14 an Rule 10, equal 2" and higher placings, lowest
aggregate
Answer 10-16
Couple|l W | T F Q Total | Result Reason
10 5 6 1 1 13 1st Rule 10, most 1* places
Rule 10, equal 3" and higher placings, lowest
20 (3| 1|3 |6 13 3rd | e
30 1 4 4 4 13 4th Rule 10, most 4" and higher placings
40 4 5 2 2 13 2nd Rule 10, most 2" and higher placings
50 2 3 5 3 13 5th Remaining place in tie
60 6 2 6 5 19 6th Rule 9

96




Answer 10-17

Couple| W T F Q Total | Result Reason
. Apply Rule 11 - equal 2" placings, equal
10 3 2 1 5 1 Tie 2 lowest aggregates
. Apply Rule 11 - equal 2" placings, equal
20 2 4 4 1 11 Tie 2 lowest aggregates
Remaining place in tie — equal 2" placings,
30 4 3 2 2 11 4th equal lowest aggregates
40 1 1 3 6 11 1st Rule 10, most 1% places
50 6 5 6 3 20 6th Remaining place in tie
60 5 6 5 4 20 5th Rule 10, most 5" and higher placings
Answer 10-18
Couple| W T F Q Total Result Reason
10 5 4 2 1.5 12.5 Tie1l | ApplyRule 11 -no 1* places
20 3 3 5 1.5 12.5 Tie 1 | ApplyRule 11 -no 1 places
30 1 5 1 6 13 4th Remaining place in tie
40 6 1 3 3 13 3rd Rule 10, most 3™ and higher placings
A Apply Rule 11 — equal 5t & higher placings,
50 2 | 6 | 4 | 45| 16.5 Tie S | o aeeregates
3 Apply Rule 11 — equal 5t & higher placings,
60 4 | 2 | 6 | 45| 165 TieS | o seeresates
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Tutorial 6

We now come to the last tutorial involving explanations of rules in the Skating System.

In Tutorial 6 we will cover the following topics:

1. Whatis Rule 11?

2. The procedure for applying Rule 11.

3. Dealing with multiple ties and the Second Inspection.

4. How to handle Couples that remain tied after Rule 11 application.
5. Accuracy tips for Rule 11 calculations.

6. Homework.

7. Answers.

What is Rule 117

Rule 11 is the ultimate tie breaking tool used by Scrutineers when results remain tied after
the application of Rules 9 and 10.

In other words, we join all the dances involved in the competition final together to form one
large individual dance. We then apply the rules governing a single dance event to calculate
the place markings i.e. Rules 5 to 8 of the Skating System.

Rule 11 when Couples remain tied even after the application of

Rules 9 and 10, re-calculate the event considering the Judges markings
of the tied Couples over all dances, as a large single dance.

The explanation of Rule 11 has been split into two scenarios, dealing with ties between 2
couples and dealing with ties between multiple couples. Three examples with full workings
and calculations have been provided to help with understanding the various processes
involved in applying Rule 11.
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Procedure for applying Rule 11

The principles of applying Rule 11 are quite simple however when dealing with large
amounts of data mistakes can easily be made. It is advisable to work through each Rule 11
calculation by carefully following the procedures as set out in this tutorial.

Most importantly, all couples taken to a Rule 11 must be placed before you consider
placing anyone else in the Final Summary. They are equally better than any other
unplaced couples and therefore must be placed before considering any other couples not
included in the Rule 11 tie at this time.

If only two couples are in the tie, then the best couple is awarded the place under review and
the next placing goes to the remaining couple in the tie. If you have 3, 4 or more couples,
then the best couple is awarded the place under review and the remaining couples in the
Rule 11 application must go through a process known as the Second Inspection. Explanations
for these two scenarios are as follows including a fully worked example calculation.

(a)Dealing with ties between 2 Couples

1. Establish the majority needed.
If you have 5 Adjudicators and 4 dances, then the majority needed is 11.
If you have 7 Adjudicators and 5 dances, then the majority needed is 18 etc.

2. Ascertain which Couple holds an absolute majority of the placings under review the
same as you would under Rule 5.
Note we only need to commence calculations from the position under review for
Rule 11, unlike starting at 1 place marks in a normal Rule 5. In other words, if the tie is
for 3™ place then we start counting positions 3™ and higher.

3. If both couples hold a majority of places under review, allocate the place to the Couple
with the largest majority as per Rule 6.

4. If both couples happen to hold an equal majority then calculate the aggregate of all
placings under review as per Rule 7(a). The couple with the lowest aggregate is
awarded the place under review.

5. If both couples happen to hold an equal majority and equal aggregate, then continue
using the procedure using the next place marks as per Rule 7(b) until the Couple with
the greatest majority is found.
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6. If neither couple holds a majority then apply the same procedure using the next place

marks as per Rule 8 until a majority vote is found.

7. The best couple is awarded the place under review.

8. In this situation with only 2 Couples involved in the Rule 11, the next placing would go

to the remaining couple in the tie.

Let’s now work through some complete examples to understand the application and

calculations for Rule 11.

Example 1:

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

. Waltz Tango Slow Foxtrot Quickstep
‘|A|B|C/D/E|A/B|C|/D E|A/B|C D E|A|B|C|D]|E
10 |1 (1|2 (53|12 |2 |3 /4|2 |2|5|]1|5]2|6]2]6|1
20 |2 2 |5(2(5|5(3}1|22)|1}1}2|5|2]|]1|5|1|5]2
30| 4/5/3/1(113(1/3|1,3|5/6|3|2|3]|13(2|4]|2 4
40 |3 |3 |6 |3 6|4 4|44 113|313 6|5]1|5|1/|3
50 |6 | 6|14 |42 |5/5|5|5|6|4|6,6|4|4,4,6|3]|6
60 | 5|4 |/4|6|2|6 |6 66|64 |5 /44|16 |3|3|4]|5
FINAL SUMMARY
RESULT REASON
First Inspection Secon.d
INSpechon First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: |W| T | F| Q] Total 9 10 11 10 11
Tie Tie .. N
10[{1(1(2 2| 6 1st | 1st 2nd Remaining Couple in tie
- - _qst
2wl21211111] 6 'Il'le Tie 1st Rule 11 1.plfa\ce,|argest
st 1st majority
H H _Qrd
3013(3/2/2] 14 Tie | Tie 3rd Rule 11 3.plf':\ce,|argest
3rd | 3rd majority
a0(4|4(3(3[2a|l° | amn Remaining Couple in ti
3rd | 3rd emaining Couple in tie
Tie Tie - -
50|5/5|6|6]| 22 sth | sth 6th Remaining Couple in tie
Tie | Tie Rule 11 — 5% place, equal
60(6/6|5|5] 22 5th | 5th Sth majority, lowest aggregate
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RULE 11 CALCULATIONS

Result

2M & 39 & 4th & 5th & 6" & under

C(la\lu:le 1st Higher Higher Higher Higher Higher Rule 11

. ONLY
10 12 | | | e | 2nd
20 13 | | | | 1st
30 14 | -] e | e 3rd
40 11 | | | 4th
50 130 | - 6th
60 13% | e 5th

Calculations:

What is our majority?

We must first determine what majority is needed with 5 Adjudicators and 4 dances treated
as a single dance.

4 Dances x 5 Adjudicators =20 Majority =11
Under Rule 10...

Couples 10 and 20 are tied for 1% position.
Couples 30and 40 are tied for 3™ position.
Couples 50 and 60 are tied for 5" position.
Apply Rule 11 for Couples 10 and 20

We are looking for 1% position so we count the amount of 1% placings couples 10 and 20 have
obtained over the 4 dances. Couple 10 has 5 x 1% placings and Couple 20 also has 5 x 1t
placings. Neither has a majority of 11, therefore we now continue and count the total 2"¢ and
higher placings. Couple 10 has 12 x 2" and higher placings, and Couple 20 have 13 x 2"¢ and
higher placings. Couple 20 has attained a greater number of 2" and higher placings and
therefore receives 1% place. Couple 10 is the remaining couple in this Rule 11 tie and
therefore receives 2" place.

Apply Rule 11 for Couples 30 and 40

We are now looking for 3" position so we count the amount of 3™ and higher placings for
Couples 30 and 40 over the 4 dances. Couple 30 received 14 x 3™ and higher placings, and
Couple 40 received 11 x 3™ and higher placings. Both Couples have attained a majority
however Couple 30 has the greater majority and therefore receives 3™ place. Couple 40 is
the remaining couple in this Rule 11 tie and therefore receives 4™ place.
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Apply Rule 11 for Couples 50 and 60

We are now looking for 5™ position so we count the amount of 5™ and higher placings for
Couples 50 and 60. You will note both Couples 50 and 60 received a majority and an equal
amount of 13 x 5™ and higher placings. We therefore now calculate the aggregates of all 5t
and higher placings. Couple 50 ends up with an aggregate of 50 and Couple 60 has an
aggregate of 48. Having the lowest aggregate, Couple 60 is therefore placed 5™ and the
remaining in this particular Rule 11 calculation, Couple 50 is placed 6.

Example 2

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

Coupl Waltz Tango Slow Foxtrot Quickstep
e
Nno: |A|B|C|D E|A|B D E|A|B|C D/ E|JA|B|C D|E
10 1/1}2|5/3(1|12(23|4|1/1|2|5|2|]1|5]1]|5]2
20 212|512 (5|5/3/1|22|5|]6|3(2|3]|13|24|2) 4
30 3/3|6,3|6|4,4 44|12 |3|5|1|5]2|6]2|]6]|1
40 4,5(3}1(113}13|1/313(3|1|3|6|]5|1,5]1]3
50 6/ 6|1,4(4|2,5/5|5|514|5/4(4|]1]6|3]3|4]5
60 514|4,6|2|6,6 6|6 |6|]6|4,6|6 4|44 6|3 |6
FINAL SUMMARY
RESULT REASON
First Inspection Ini:)fe::i?)n
First Second

Rule Rule Rule Rule Rule Inspection Inspection
o [W|T|F Q™| 9 |10 11 | 10 | 11
101 (1|1|/1| 4 | 1st Rule 9

: : Applied Rule 11 — Couple
2012 (24 4| 12 Tie | Tie 2nd 20 had majority of

2nd | 2nd 3rd and higher placings

Tie | Tie Applied Rule 11 -
30(4 4|22 12 2nd | 2nd 3rd Remaining place in tie

Tie Rule 10 — No 2" and
40|13 (3|3 /31| 12 4th higher placings. Placed

2nd 4th
50[5|5|5|5| 20 | 5th Rule 9
60| 6|6 |66 24 6th Rule 9
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Calculations:

What is our majority?

4 Dances x 5 Adjudicators =20 Majority =11

Under Rule 9...

With the lowest total of 4 we can place Couple 10 in 1%

Couples 50 and 60 can also be placed according to their totals of 20 and 24 as 5% and 6™
place.

Under Rule 10...
Couples 20, 30 and 40 all have the same totals and therefore tie on 2" place.

Under Rule 10 we look for the Couple who has attained the most 2"* and higher placings in
the Final Summary. Both couples 20 and 30 have 2 x 2" placings each whereas Couple 40 has
none. At this stage Couples 20 and 30 are both tied for 2" position and are both better than
Couple 40, therefore Couple 40 is immediately awarded 4™ place. Rule 11 must be applied to
Couples 20 and 30 to determine 2" place.

RULE 11 CALCULATIONS
Result
2" & 3rd & 4th & 5th & 6t & under
Couple 1st . . . . .
. Higher Higher Higher Higher Higher Rule 11
ONLY
10
20 9 i e e 2nd
30 6 10 | - | e e 3rd
40
50
60

Apply Rule 11 for Couples 20 and 30

We are looking for 2" place so we count the number of 2" and higher placings for Couples
20 and 30. Couple 20 has received 9 x 2" and higher placings, and Couple 30 has 6 x 2" and
higher placings. Unfortunately, neither number of placings reached a majority and therefore
we must continue by including 3™ and higher placings. Couple 20 now have 13 x 3 and
higher placings, and Couple 30 have 10 x 3™ and higher placings. Therefore Couple 20 can
now be awarded 2" place having received a score above the majority. Couple 30 is the
remaining couple in this Rule 11 tie and therefore receives 3™ place.

103



(b) The Second Inspection - Dealing
with multiple Rule 11 ties

When Scrutineers make an error, it often occurs here so please study this section carefully.

Should more than two couples tie for a position under Rule 10, apply Rule 11 as outlined
above to all the couples concerned in the tie, commencing with the place marks
corresponding to the position under review as per Steps 1 to 8.

Once the position under review has been allocated, proceed as follows for the remaining
couples.

9. ldentify the remaining couples in the multiple tie taken to the Rule 11 calculation only,
do not include any other couples from the Final Summary that were not included in
this Rule 11 tie.

10.Perform a SECOND INSPECTION under Rule 10 in consideration of the new place now
under review. Allocate the place mark as per Rule 10 regulations if possible and
continue allocating place marks for the remaining couples in the Rule 11 tie.

11. If any couples remain tied under Rule 10, they are taken again to a count back under
Rule 11 until all couples in the tie are placed.

Note: In this situation we only need to commence Rule 11 calculations from the new
position under review.

Please work through the following example to learn how Rule 11 is applied to multiple ties.
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Example 3

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

Coupl Waltz Tango Slow Foxtrot Quickstep
e
Nnoo |A/B|C D E|A/ B/ C D E|A|/B C/ D E|JA|B|C|D| E
10 |2 |2 5|2 |5|1}|2|2|3|4|3|3|1(3,6]2|6|2|6|1
20 |3/3|6(3|6|3|1|3|1(3|1/1|2|5|2|4,/4,6|3]|6
30 4153|112 |5|5|5/5|4|5|4|4,1|]1|5|1,|5]|2
40 1|12, 534|444 |1|5|6/3|23|]6|3|3]4]5
50 |6 | 6|14 |/4|6|6|6|6 |62 2|5|]1|5|51,5|1]3
60 |54 |46 |2|5|3|1|2(2]6|4|6|6|4|3|2|4|2 |4
FINAL SUMMARY
RESULT REASON
First Inspection Secon.d )
inspection First Second

Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F | Q| Total 9 10 11 10 11
101213 |2 8 1st Rule 9

. : Rule 11 — Only couple
2014 /3|1 6| 14 Tie | Tie 2nd with majority of 3/ and

2nd | 2nd higher placings

Tie | Tie | Tie o Rule 10 — Most 3 and
30135511 14 ond | and | 3rd 3rd Rule 11 - remain tied higher placings

Tie | Tie | Tie o Remaining Couple in
4011/4 14| 5] 14 ond | 2nd | 3rd 4th Rule 11 — remain tied Rule 10
50(5/6|2|3 16 | 5th Rule 9
60| 62| 6|4]| 18 | 6th Rule 9
Calculations:

What is our majority?

4 Dances x 5 Adjudicators =20 Majority =11

Under Rule 9...

With the lowest total of 8 we can place Couple 10 in 1

Couples 50 and 60 can also be placed according to their totals of 16 and 18 as 5™ and 6%

place.
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Under Rule 10...
Couples 20, 30 and 40 all have the same totals and therefore tie on 2" place.

Under Rule 10 we look for the Couple who has attained the most 2™ and higher placings in the Final
Summary. All Couples 20, 30 and 40 have 1 x 2™ placings, having attained one 1% place each. At this
stage all couples remain tied on 2" place and Rule 11 must be applied.

RULE 11 CALCULATIONS
Result
2 & 3& 4th & 5th & 6t & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11
ONLY

10

20 6 13 | - | e - 2nd

30 7 8

40 5 10

50

60

Under Rule 11...

Couples 20, 30 and 40 are all tied on 2" place so we commence application of Rule 11 by
counting the total number of 2" and higher placings. From the table above, we note the
Couples received totals of 6, 7 and 5 respectively. These totals do not reach a majority and
therefore we must continue the count using 3™ and higher placings. We can now see Couple
20 has reached a majority with 13 x 3" and higher placings. Being the only couple having
reached a majority they are now placed 2",

All couples involved in a multiple tie involving a Rule 11 must be placed so we must now
revert to Rule 10 to ascertain which placings Couples 30 and 40 have achieved.

Second Inspection under Rule 10

We are looking for 3™ place now. Going back to the Final Summary and looking at Couples 30
and 40 only, we check to see who has the MOST 3" and higher placings as per Rule 10.
Couple 30 has a 1°t and 3™ which now qualifies them as having the most 3" and higher
placings and is therefore awarded 3™ place.

Couple 40 is the remaining couple in the tie and is awarded 4" place.
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What if Couples remain tied?

Rule 11 is also the final rule of the Skating System however it’s still possible the result
remains in an absolute tie after application of Rule 11. In this situation the ultimate result
will then depend on the organisation or local rules under which the competition is being run.
The awards for the position under review would be either shared between the tied Couples,
or the event re-danced to determine an ultimate winner.

Tips to help with accuracy

Although the basic process of Rule 11 is simple, treating all the Adjudicator marks over all
dances as a single dance can become somewhat confusing with the volume of numbers now
needing to be assessed. Furthermore, accuracy is paramount when assessing a Rule 11 as
even a tiny error can lead to completely the wrong result. We therefore advise you take note
of the following tips to help...

v" Use a pencil!

v" When counting or adding the marks together, work from left to right then double
check your result by working right to left... and again if needed.

v' Remember the “position under review” you are working on.

Homework

Please complete the following Rule 11 exercises.

Be sure to complete all columns including your reasons as this will form a part of your
examination.
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Exercise 11-01

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B C D E|A B/ C|D E|A B|C D/ E|JA B|C| D] E
i0/{4|5|1(1,2|5/6|1|2|2|3|1/3|1|3|]2|1|5|2]|4
2011,1,2,5/6|1|2|2|5|5|6|6|1]|2|2]|]3 3|3 |1|2
301 3/3|/3/3(3|3(|3|3/3|3|1(2|2|5|6]|]1|2]|2|3]3:3
40|54/ 5|2|1|2|5|5|1|6]|5|5|6|4|1|6|6|4|4)|1
50| 6 | 6| 6 6|5|6|1|/6|6|1|4|3 |4 |3|4|4|4|1|5]6
60| 2 |2 |4 |4 |44 |4 |44 4|2 |4|5|6|5]5|5|6|6]|5
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F | Q] Total 9 10 | 11 10 | 11
10 1 3/2| 8
2002|112 3| 8
3033 |1|1]| 8
40|5|5|/5|5]| 20
506|644 20
604 /4|6 6] 20
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11

: ONLY
10
20
30
40
50
60
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Exercise 11-02

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B C D E|A B/ C|D E|A B|C D/ E|JA B|C| D] E
i0|2|6 2|6 1]1/1|2|5|3|2|2|5|1|5]1]|2|2|3]|4
20115, 1,51 2|2|2|5|2|5|1|1}2|5|2}|5|3|1|2]|2
303|242 |4|4|5/3/1|1|5|6|3|2|3]3|1|3|1]3:3
40|51, 513|336 3 |6|3|3|1/3|6|4|4|4|4|1
50446 |3|6|6|6|1/4,4|6|4|6|6|4]2|5|5|5]|5
60| 6 |3 |3 |4 |5|5|4,4|6|2|4|5|/4|4]|1]|6|6|6]|6]6
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F | Q] Total 9 10 | 11 10 | 11
10| 2 2 6
2011 /2|1/2] 6
30|]4/3/4 /3| 14
40|34 34| 14
50[6|5/6|5]| 22
60|5/6|5|6] 22
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11

: ONLY
10
20
30
40
50
60
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Exercise 11-03

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B C D E|A B/ C|D E|A B|C D/ E|JA B|C| D] E
10|5|5|1(5/3|1/3|2|4|5]6,/4|1|4|5|3|5|3]3]2
2016 | 1|32 (4|2 |1|3|5|4|2|6|5|6|1]|]6|4|5]|6]|1
30|46 |5|6|1|3(4|5|2 1|1 |5|3|2,3|14,3|4|4]5
40|33/ 6|3|5|4|6|4]3[3|3|3[2|1|2|5|2|6|5]|6
50|14 |4 4|6|5|5|1|6|2|5|1,4,3|4|2|6|1|2]|4
60|22, 2,1|2|6|2|6|1|6|4|2|6|]5]6|1|1,2,1]|3
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11
10| 5 43| 14
20| 2 5|5 14
30| 6 241 14
40 | 3 1/6] 14
50| 4 2| 14
60| 1 61| 14
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11

: ONLY
10
20
30
40
50
60
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Exercise 11-04

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

Waltz Tango Viennese W Foxtrot Quickstep
AlB/CIDE/FIGIA|B|C D E|F G|A|B|C/ DE|F|G{A|B  CIDE|F|GIA|B|C|D|E|F|G
10]|2|3|3|6/5/3|2|5|/6/6|5|2|6/2]4]1|2/1(3]1|3|6|6|4|4|5|6|1]2]1]|2|2]4]1]3
20|5/6|6|3|4/4/3[3]3|1|2|5[3|6|3|5|1|6|6/6|4|4|4]|3|3]1|2|5]4|3|4]1]|2]|3]|5
30|45/ 5/5/6/5/6]2]2]2[3|6|4|4af1|3]3]4]1|2|1|3|5]|2|2]2|3]|6]3|5/6|/5]|3]4|1
4 | 6| 2|4/ 4/3/6|1|6|(5/3]4/3[1|5|5|4|6[/2|5[5/2)1|2|1|1|4]1|4]1|4]3]|3|5|2]|4
50 |3|1]|1|1|22|4]4|4|5|6|1|2|1|6|6]/5[3]2/3|6|5[3|6/5/3|4[3|6|2|1]4]|1|6]2
60 | 1| 4| 2| 2| 1| 1|5]1]|1|4|1|4a|5|3|2|2|4|4|4| 4|5|2|1|5|6|6|/5]/2|5|6/5/6|6|/5|6
FINAL SUMMARY CALCULATIONS
First Inspection Inizi?::i‘:)n
First Second
Inspection Inspection
Rule | Rule | Rule | Rule | Rule
9
v: |W| T |V | F| Q] Total 0
10| 3 | 6 |15 6 | 1 | 17.5
20| 5| 1|5 |3 |35] 175
30| 6 3 |15 2 5 17.5
40 | 4 5 4 1 |35| 17.5
50| 1| 4|6 |a5] 2] 17.5
60 2 2 3 4.5 6 17.5
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
ol - 2M & 3 & 4t & 5th & 6t & under
N:' Higher Higher Higher Higher Higher Rule 11
: ONLY
10
20
30
40
50
60

111




Exercise 11-05

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B C D E|A B/ C|D E|A B|C D/ E|JA B|C| D] E
i0|1|1|1(1,2|4,5|3|1|2]|]6/4|6|5|5|1|2|3|]4]5
20144221212 |2|1|3|6|3|4|2]|5|4|4|5]6
30| 6| 6| 5/3|3|5|3|4|5|5|2|2|2|2|4|4|1|2|3 |4
0|3 (3,6 |5|5|1}{2}1(3(3|1|1]4|1|3|3|3|5|6/3
50| 2/2|3|6|6|3|(4|5/6|6|4 (3|13 |1]2|5|1]|1]1
60| 5| 5|4 |4 |4|6|6|6|4|4|5|5|5|6|6]|]6|6|6]|2]|2
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11
10 1 5(31] 12
20| 2 4 5] 12
30| 6 22| 14
40 | 5 1/4] 12
50| 3 3|/1| 12
60| 4 66| 22
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11

: ONLY
10
20
30
40
50
60
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Exercise 11-06

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B C D E|A B/ C|D E|A B|C D/ E|JA B|C| D] E
10| 6 | 4|33 /4|]6|5|4|6|5]6|3|3|3|6|]6|5|5|5]|6
2014 |5|5/4|6|3|2|3|3|4|5(6|4|4,5]14,2|3|2]|5
30| 5/6 |6 |5|5|4 (4|24 3|4 (4|5|5/3|3/4|4]|3]|1
0|2 (1,2 |2 |1|2|1}|1}|2(1|2|1]|2|2 221|213
50|12 (11,21 (3|5(1|2}|1(2|1}1|1}|1/,3 |1 4|2
60| 3 /3|4 6|3|5|6|6|5|6|3|5|6|6|4]|]5|6|6|6]4
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11
10| 4 3 17
20| 5 514 17
30| 6 4|31 17
40 | 2 21| 6
501 1 6
60| 3 66| 21
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .

No: Higher Higher Higher Higher Higher Rule 11

: ONLY
10
20
30
40
50
60
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Answers

Answer 11-01

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

. Waltz Tango Slow Foxtrot Quickstep
o:

A/ B C|D E|A|B|C| D E|J]A| B C DIE|JA B|C | D|E
104|511 |2|5,6]1,2 23131321524
2011|1256 |1(2|2|5|/5|]6|6|12|2|3 33|12
30| 3/3(3(3,/3|3(3|3|3|3}|1(2|2|5]|]6|1,2]2,3]3
40|54 |5(21]12|5|5|1|6|5|5|6|4|1]|]6]6|4]4 1
506 6|/ 6| 6 5|6|1|6|6|1|4 |3 |4 (3|44 |4]|1|5]6
60| 2 |2 |4 44|14 4|44 ,4|2|4|]5|6|5|5|5|6]6]5

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon-d .
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F | Q| Total 9 10 11 10 11
Ti : R11 - Equal majority 2" &
1011121312 8 I: Tlni 2nd higher placings, lower
1 2 aggregate
Tie Tie Rule 11 — Remaining
2012123 8 1t ond 3rd couple
30(3/3]1]1] 8 |15 1st Rule 10— Most 15 places
Tie Rule 10 — No 4% placings,
40 5 5 5 5 20 4th 6th remaining couple so not
included in R11 for 4th
Tie Tie Rule 11 — Remaining
50 6 6 4 4 20 4th 4th 5th couple
Tie Tie Rule 11 — Highest
60(4 /4|6 6] 20 4th Ath 4th majority 4th & above
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2M & 34 & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11

’ ONLY

10 - i e R e I I— 2nd
20 - 11Y

30

40

50 - - - 11

60 - - - 12 | | - 4th
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Answer 11-02

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A B C D E|A|B|C D E|A|B|C| D E|J|A B |C|D E
10|26 |2|6|1|1,1(2 (53|22 |51 |5|1|2|2|3 |4
20115, 1,51 2|2|2|5|2|5|1|1}2|5|2}|5|3|1|2]|2
30|3,/2 4,2 ,4145/3]1]1|5(6]3]2 331,313
40| 5|1 |/5]1 33|36 ,3,6|3|3|1|3 6144441
50| 4,4, 6 /3 6|6 |61 |4 |4|6|46|6|4]|]2,5|5|5]|5
60| 6 (3|3 |4 |5]|]5|4|4|6|2|4|5/4|4]1]6 6|66 /|6

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d )
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11
Tie Tie Rule 11 — Remaining
10| 2 211 6 15t 15t 2nd couple in tie
Tie Tie Rule 11 — Largest
20| 1 12 6 15t 15t 1st majority 2"¢ & above
Tie Tie Rule 11 — Largest
30| 4 413114 3rd 3rd 3rd majority 3 & above
Tie Tie Rule 11 — Remaining
40| 3 34| 14 3rd 3rd 4th couple in tie
Tie | Ti le 11— Remaini
50(6(5|6(5[22| .. | .. | 6th e e
Tie Tie Rule 11 — Equal majority
60| 5 516] 22 5t st | Sth 5th & above, lowest
aggregate
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
2M & 3rd & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11

’ ONLY

10 12

20 3 | - | e e 1st
30 - - 14 | - | | - 3rd
40 - - 11

50 - - - - 13°0

60 - - - - 1348 --- 5th
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Answer 11-03

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/B|C D E|A B C/ D E|A/ B C D/E|A|B|C D|E
10|5|/5|1|5{3|]1,3|2 (45|64 |1(45]|3|5|3|3]|2
206 (1|32 |42 1|3 |5|4|2|6,5|6|]1]6|4]|5|6]|1
30|46 |56 |1|]3/4|5|2|1|1|5,3|2|3|4|3|4|4]5
40| 3 |3 /6|3 |5|4|6|4 3 ,3|3|3|2|1,2]|5|2]|]6|5]|6
50|]1(4|4 4 |6]|]5|5|1|]6|2|5|1,4|3 /4126|124
60| 2 (2|2 |1,2|6|2|6|1|6|]4|]2|6|5]6|1 12|13

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d .
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11
Tie Tie Rule 11 — Largest
10 ( 5 43114 15t 5th 5th majority 5t & above
Tie Tie Rule 11 — Remaining
20| 2 5|5 14 1t ond 3rd couple in tie
Tie Tie Rule 11 — Largest
30| 6 24114 st 2nd 2nd majority 4t & above
Tie Rule 10 — Equal 4t & above
40 3 1 6 14 1st 4th placings, lowest aggregate
Tie Tie Rule 11 — Remaining
50| 4 3|2 14 15t gth 6th couple in tie
Tie Rule 10 — Most 15t
60| 1 6|1 14 15t 1st placings

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st Z,nd . ?frd & ‘fth & 5'"‘ & §‘h & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10 : : : : 19 | 5th
a0 - 7 9 12
30 - 5 9 14 | - | 2nd
40
L - - - - 17
60
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Answer 11-04

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

Waltz Tango Viennese W Foxtrot Quickstep
AlB/CIDE/FIGIA|B|C D E|F G|A|B|C/ DE|F|G{A|B  CIDE|F|GIA|B|C|D|E|F|G
10]12/3|/3|6{5{3|2]5|6/6|/5(2|6(2]4]1|2/1{3|1|3|6|6|4|/4|5|6|1]2|1|22/4|1|3
20|5(6/6/3|4|4/3|3|/3/1(2/5|3|6]3|5|/1|6/6|6(4]4|4|3(3|1|2|5[4|3/4(1]2|3|5
30| 4/5/ 5/ 5/6|5/6|2|2|2(3|/6|4|4]11|3|3(4]1|2|1]3|5|22]2|3|6]/3|5/6(5/3|4|1
40 | 6|24/ 4|3|6|1|6|5/3|4|3|1|5|5|4|6|2|5|5{2|1|2|1|1|4,1(4)1|4|3|3|5|2|4
50 | 3({1/1|/1|2|2/4|4|4|/5|/6/1|2|1]6|6|5[3]2|3|6]5|3|6[5[3{4|3]6|2/1{4]|1|6/|2
60 | 1({4|2/2|1|1/5|1|1/4(1|4|5|3]2|2|/4(4|4|4|5]2|1|5|6|/6|{5|2]5|6|/5/6|/6|5|6
FINAL SUMMARY CALCULATIONS
First Inspection Ini:(:::iin
First Second
Inspection Inspection
Rule | Rule | Rule | Rule Rule
9 10 11 10 11
v: (W[ T |V |F|Q] Total
Tie | Tie Rule 11 — Largest
10f 3 e ! 17.5 1t | st 1st majority 2" & above
Tie | Tie le 10 — rd
20 5 1 5 3 351 17.5 st st 3rd Rule 10 |V|OS't3 &
1 1 above placings
Tie | Tie Rule 11 — Lar
gest
30 6 3 15 2 5 17.5 1st 5th 5th majority 5th & above
Tie Tie _ ..
40| 4 | 5| 4|1 |35]1275] 4« 4th Rule 10 - Remaining
1 1st couple in tie
Tie | Tie _ nd
50 1| 4|6 45| 2| 275 g5t | g« 2nd Rule 10~ Most 2774
above placings
Tie | Tie Rule 11 — Remaining
60 [ 2 2 314> 6 17.5 15t | 5th 6th couple in tie

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
2 & 34 & 4th & 5th & 6t & under
CT\IU:IE 1st Higher Higher Higher Higher Higher Rule 11
. ONLY

10 6 14 | - | e | e | e 1st

20 4 7

30 - - - - 30 | - 5th

40 7 12

50 7 13

60 - - - - 29
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Answer 11-05

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A/ B C D E|A B|C D/ E|A B|C D/ E|A  B|C | D] E
101|111, 2|4, 5|3 ,12|6|/4|6|5|5]11|2[3|4]|5
2014 4221|212 |2|1|3|6|3(4|2|5|4]|4|5]6
306 6|/ 5{3|3|5|3|4|5|5(|22|2(2|414 12|34
4013 /3|6 |5|/511}2/1|3/3]11{1(4|1(3|]3/3|5]6]3
5022, 3,6, 6|3|4|5/6|6[|4]3]1|3|1]|]2,5|1|1]1
60| 5|5, 4,4 416|664 |4|5|5|5|6|6|]6|6|6|2]|2

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d .
Inspection First Second

Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 | 11 10 | 11

Tie Tie Tie *Rule 11 — Remaining
101 5312 1st 15t 3rd 4th couple in tie

Tie Tie Rule 10 — Most 2" &
20| 2 4|5 12 15t 15t 2nd above placings
30| 6 22| 14 | 5th Rule 9

Tie Tie Rule 11 — Largest
40 | 5 1/4] 12 15t 15t 1st majority 3 & above

Tie | Tie Tie * Rule 11 - Largest
50 |3 3/1]12 1t 1st 3rd 3rd majority 37 & above
60| 4 66| 22 | 6th Rule 9

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
2M & 34 & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10 6 9 11 *
20 3 9 11
30
40 6 14 | - | e 1st
50 8 12% | | e e 3rd
60
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Answer 11-06

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

\ Waltz Tango Slow Foxtrot Quickstep
o:

A B C D E|A|B|C D E|A|B|C| D E|J|A B |C|D E
10,6 | 4|3 |3|4]|]6 5|46 |5]|]6|3|3[3|6|6|5|5|5/|6
2014 (5|54 |6]|]3/2|3|3|4|5|6,4|4|5]14|2]3|2]5
30|]5/6|6|5|5|4/4|2|4|3|4|4,5|5]|3]|3|4 4|31
40| 2 1|22 12|11 |2|1|2|1|2|2|2]|2 12|13
501,211,213 512|121 ]1|1}|1,3|1/|4]|2
60| 3 (3|46 |3|]5|6|6|5]|6|3|5,6|6|4]5|6|6|6 |4

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon'd
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 11 10 11
Tie Tie Rule 10 — Remaining
10| 4 3|/5| 17 g | g 5th couple in tie
Tie Tie Rule 11 — Equal
20| 5 514\ 17 3rd 3rd 3rd majority 4th & higher,
lowest aggregate
Tie Tie Rule 10 — Most 4th &
30| 6 4|3 17 3rd 3rd 4th above placings
Tie Tie Rule 11 — Remaining
40 | 2 2|1 6 15t 1st 2nd couple in tie
Tie Tie Rule 11 — Majority of
50| 1 1/2] 6 15t 15t 1st 1%t placings
60| 3 66| 21 | 6th Rule 9

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
2M & 3 & 4th & 5th & 6" & under
CT\'U:IE 1st Higher Higher Higher Higher Higher Rule 11
: ONLY

10 8

20 132 | e | e 3rd

30 1343

40 8

50 i T e R e I 1st

60
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Tutorial

As study of the Skating System has now been completed, we now move into connecting all
components of the rules together and practice scrutineering complete multi-dance
competitions. However, before we move on, it’s time for some quick revision.

In this tutorial we will cover the following:

e Revise all Skating System Rules

e How to handle Ten Dance Competitions

e Homework — Complete multi-dance competitions
e Answers

Revision of Skating System Rules

The Adjudicators’ Marks

Rule1 /n all rounds each Adjudicator must vote for the number of Couples as stipulated by

the Chairman of Adjudicators.

Rule 2 In the final round each Adjudicator must place all competing Couples in order of
merit in each of the dances.

Rule 3 In the final round the Adjudicator must allocate 1°t place to the best Couple, 2" to
the second Couple, 3™ place to the third best Couple and so on for each dance.

Rule4 An Adjudicator is required to place every Couple in the final in every dance. It is not
permitted to “tie” any Couples for any place in the final of any dance.

Single Dance Calculations

Rule 5 The winner of a dance is the Couple who is placed first by an absolute majority of
Adjudicators, second place is awarded to the Couple placed second or higher by an absolute
majority, and the remaining places are progressively allocated in a similar way.
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Rule 6 Iftwo or more Couples have a majority for the same position, the Couple with the
largest majority shall be allocated the position under review, and the Couple holding the next

largest majority is allocated the following position.

Rule7 If two or more Couples have an equal Majority for the same position...

(a) If such majorities are equal, then we add together the marks given by those
Adjudicators who form the majority and the Couple with the lowest total (or
aggregate) is allocated the position under review. The next position is awarded to
the Couple with the next lowest aggregate.

(b) If the aggregates of marks are also equal, then the next lower place (or subsequent
places if necessary) in respect of the particular Couples concerned, must also be

taken into account.

Rule 8 If no Couple receives a majority for the position under review, then you must proceed
by including the next place marks in the calculation. If still no majority is found then we
include the next place marks, and if necessary, the next again until a majority vote is found.

The Final Summary
Rule9 Compilation of the Final Summary

(a) When all dances have been concluded a final summary is compiled showing the
position achieved by each Couple in each dance. The place markings for each Couple
are added together to give an overall total. The Couple with the lowest aggregate
shall be the winner, the next second and so on

(b) If two or more couples have the same aggregate, then this results in a tie for the
position under review and therefore Rule 10 and possibly Rule 11 must be applied.

Rule 10 When there are ties in the Final Summary

(a) If there is a tie under Rule 9 for 1° place, the winner shall be the Couple who have won
the most dances. If the tie is for 2" place, we count the 2" and higher places and the
Couple with the MOST 2™ and higher placings are awarded the position. Similarly, all
other placings are treated in the same way.

(b) If Couples remain tied by receiving the same number of placings for the position under

review, then add together the place marks and award the position to the Couple with

the lowest aggregate.
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(c) Dealing with Multiple Ties — If more than 2 Couples tie for example 2" place, use the
above rules (10a and 10b) to award 2™ place. Then considering the remaining tied
Couples, use the above rules to award 3™ place. Continue until all tied Couples have
been awarded prizes.

(d) When dealing with % marks (fractions) in the Final Summary due to tied place marks,
the places must be considered together with the next lower position.

(e) Couples will remain tied under Rule 10 in the following instances and Rule 11 must be
applied, but only to the Couples actually concerned in the tie.

When the tie is for 1° place:

e [f the tied Couples have won the same number of dances.
e None of the tied Couples have actually won a dance.

When the tie is for a place other than 15t

e [f the tied Couples have the same number of place marks for the place under
review and their aggregates are equal.

e [f none of the tied Couples have actually won a place mark or higher
corresponding to the position under review.

Rule 11 The ultimate tie breaking rule

When Couples remain tied even after the application of Rules 9 and 10, re-calculate the event
considering the Judges markings of the tied Couples over all dances, as a large single dance.

Ten Dance Competitions

Any multi-style event danced in 2 parts such as Ten Dance, Eight Dance and Six Dance events
must be considered as the one event and handled as a normal multi-dance competition. The
Skating System rules are applied exactly the same way no matter how many dances are
included in the one competition. As each round is completed the recalls are calculated over
the 10 dances (or 8 or 6 etc) for that round, and this process is continued through to the final
round. The only drawback is waiting for both parts of the rounds to be danced, plus also the
extra volume of data makes the calculations lengthier and more time consuming.

Ten Dance competitions should not be confused with special awards that are sometimes
presented by Organisers to the overall best performing Couples that danced certain eligible
events. These events are danced and completed separately and then the overall winner is
determined by collating the individual event results as stipulated by the Organiser.
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Homework

The following exercises involve a complete competition. Please calculate the placings for
each single dance, compile the results into the final summary and work through the relevant
rules to calculate the overall placings for each Couple.

Exercise 11-07

WALTZ

Couple Adjudicator Place Calculation

Number C 1 112131415 | 1.6 | Result

10

20

30

40

50

i e N B Y SRR IOV IR I ©, I

B D
1 3
6 2
2 6
3 5
4 4
5 1

um | W IN O (L M

A |1O || U0 INN|W

60

TANGO

Couple Adjudicator Place Calculation

Result
Number C 1 (1213141516 &V

10

20

30

40

50

i O e O IS YTV I ORI € B

B
1
5
6
3
4
2

w U0 io| = |NO
g oW | k=L | BN M

A 1O NN OO |ER W

60

QUICKSTEP

Couple Adjudicator Place Calculation

Result
Number C 1 [12]13]14]15] 16| &V

10

20

30

40

50

A OIN |, W UV |D

B
3 3
5 6
1 4
2 1
4 5
6 2

Rl |l DM w|O
ol WL, U] N|m

60
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FINAL SUMMARY

RESULT REASON
First Inspection Secon.d .
Inspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W Q | Total | 9 10 | 11 | 10 | 11
10
20
30
40
50
60
RULE 11 CALCULATIONS
Result
2" & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
. ONLY
10
20
30
40
50
60
Overall Results
Couple No: Result
10
20
30
40
50
60
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Exercise 11-08

WALTZ

Couple Adjudicator Place Calculation
Number C 1 12 13|14 |15 | 1-6

Result

10

20

30

40

50

Nnilrkr|ldlwlo|Nn >
ol || W | > |

D
1
3
5
4
2
6

N | W B O L WU,
N W ok~ |, M

60

TANGO

Couple Adjudicator Place Calculation
Number C 1 |12 13|14 15 | 1-6

Result

10

20

30

40

50

Alr (N U lo|w(>
o N I, I I NS T OV S R SO . .

D E
2 1
6 6
5 4
1 3
3 5
4 2

W k=L | &N WU

60

QUICKSTEP

Couple Adjudicator Place Calculation

Result
Number C 1 1-2 | 1-3 | 1-4  1-5 | 1-6

10

20

30

40

50

Vvikr | N | w (D

B
4
3
1
2
5
6

N Rr|lw| o> wv
Aol | Nl wlO
N oo |w M|~ |m

60
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FINAL SUMMARY

RESULT REASON
First Inspection I Secon_d
nspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W Q | Total | 9 10 11 10 11
10
20
30
40
50
60
RULE 11 CALCULATIONS
Result
2" & 3 & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
: ONLY
10
20
30
40
50
60
Overall Results
Couple No: Result
10
20
30
40
50
60
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Exercise 11-09

WALTZ

Couple
Number

Adjudicator

Place Cal

culation

C

1-2 | 1-3

1-4

1-5

Result

10

20

30

40

50

60

NU|RrwWwidlo|D

R(No|lw|h| v |
ARl Nv|w|o
wir|dluiv|io|O

AU RPIWINOM

TANGO

Couple
Number

Adjudicator

Place Cal

culation

C

1-2 | 13

1-4

1-5

1-6

Result

10

20

30

40

50

60

Nk Wi U|D

R0 R~wWINI®E
AW IELINO
NOjw uni—|~O

iR IWO|INMNM

VIENNESE WALTZ

Couple
Number

Adjudicator

Place Cal

culation

C

1-2 | 1-3

1-4

1-5

1-6

Result

10

20

30

40

50

WL~ M

60

AlO|NRPIUWW|D

Wi rOOIN ORI
NINWIERL | O
wWwirkrous~NIO

6

SLOW FOXTROT

Couple
Number

Adjudicator

Place Cal

culation

C

1-2 | 13

1-4

1-5

Result

10

20

30

40

50

60

Wk D|ID

Nlwlo|d v~ |
Nlwln|bs[R|o
Nlo ||, w| O

INW| O, M

QUICKSTEP

Couple
Number

Adjudicator

Place Cal

culation

C

1-2 | 13

1-4

1-5

1-6

Result

10

20

30

40

50

60

NORrRW D U |D

RlWOUINO | &~

AN WO
N(R|dlOOWwW U0 |O

U O R INNP>IWM
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FINAL SUMMARY

RESULT REASON
First Inspection Inss‘:)zc::::‘i(cj)n
First Second
Rule | Rule | Rule | Rule | Rule InsPECtion InSPECtion
No: | W VI|F Total | 9 10 11 10 11
10
20
30
40
50
60
RULE 11 CALCULATIONS
Result
2" & 39 & 4t & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10
20
30
40
50
60
Overall Results
Couple No: Result
10
20
30
40
50
60
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Exercise 11-10

Couple
Number

Adjudicator

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 1-5

Result

10

20

30

40

50

60

wWikruuo| biNiD

AR, 0B INWE

NROU W ;O
DAL UNINW P>
ik WO IN|Am

olr|dMlunv|w|m

Couple
Number

Adjudicator

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 1-5

1-6

Result

10

20

30

40

50

=W NmM

60

Uik, W(IN|D

AR |PPIUINWE

NROU W ;O

DR, NN W
DR,V PAWNNM

6

w

VIENNESE WALTZ

Couple
Number

Adjudicator

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 1-5

1-6

Result

10

20

30

40

50

RSN OGO

60

MR |IW[IN|D

AP, INWE

NRrOUIWwWw O
UL, INW
UGiRr O NWM

DR | UWINMM

3

SLOW FOXTROT

Couple
Number

Adjudicator

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 15

Result

10

20

30

40

50

RN OGO

60

MRl |WIN|D

ViRl W E

NRrROUW O
ik bE|NW
Ml WM

DNV R, IWmM

3

QUICKSTEP

Couple
Number

Adjudicator

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 1-5

1-6

Result

10

20

30

40

50

60

WLkl o bh|N|ID

ok lunlsa|viw e

NROU W O

Nk OWIN P&

AIRPOUIINWM

olr|dMlUuNv|w|m

wWirkrubsNvOIO
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FINAL SUMMARY

RESULT REASON
First Inspection Iniezc:::iin .
P First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W VI F Total | 9 10 11 10 11
1
0
2
0
3
0
4
0
5
0
6
0
RULE 11 CALCULATIONS
Result
2" & 34 & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10
20
30
40
50
60
Overall Results
Couple No: Result
10
20
30
40
50
60
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Exercise 11-11

WALTZ

Couple
Number

Adjudica

tor

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 15

Result

10

20

30

40

50

AW UN|IFIGQ

60

AWMU O|F|D

Wik UMM

wlhlunvio|l~ 0O
N RO |w

N |W LA~ m

wWuNN RO, T

(o)}

TANGO

Couple
Number

Adjudica

tor

Place Ca

Iculation

D

1-2 | 1-3

14 | 15

1-6

Result

10

20

30

40

50

WA~ INF O

60

wlh|ivO O |D

N, OO IW|

N POUVW| IO
W kR kU |N

APIWO VNI M

w oumiNnNO (PP

u

VIENN

ESE WALTZ

Couple
Number

Adjudica

tor

Place Ca

Iculation

D

1-2 | 1-3

1-4 | 15

1-6

Result

10

20

30

40

50

wWiNO U~ |
W A~ |NIFIQ

60

NWIN DO I|D

N WU |~ | W

Wb, INO - IO
RINIPIUO W

AP OINWI LM

4 5

SLOW FOXTROT

Couple
Number

Adjudica

tor

Place Ca

Iculation

D

1-2 | 1-3

14 | 15

Result

10

20

30

40

50

Wi INIFIO

60

N WUND R |D

WL UM

o |wlk|(dNvO
Nk donlo|w

N W b~k M

wi hrINOUFL, T

(e)}

QUICKSTEP

Couple
Number

Adjudica

tor

Place Ca

Iculation

D

1-2 | 1-3

14 | 15

1-6

Result

10

20

30

40

50

60

wloonvn DR

NIW kO U |, W

N D Ow |~ |O
RN O Ww

LN OOW| A~ M

WiV |
AlOjwWUI|N|FIGQ
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FINAL SUMMARY

RESULT REASON
. . Second
First Inspection Inspection .
First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W VI|F Total | 9 10 11 10 11
10
20
30
40
50
60
RULE 11 CALCULATIONS
Result
2" & 39 & 4th & 5th & 6" & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10
20
30
40
50
60
Overall Results
Couple No: Result
10
20
30
40
50
60

132




Answers

Answer 11-07

WALTZ
Couple Adjudicator Place Calculation Result
Number | A B C D E 1-2 | 1-3 |14 | 1-5 | 1-6
10 5 1 3 3 1 2 2 | 4 | 4 5 | - | 25
20 3 6 2 2 6 - 2 3 T T T 4th
30 2 2 5 6 2 - 3 —= | T | 1st
40 1 3 1 5 3 2 2 48 4 5 -—-- 2.5
50 6 4 6 4 4 - - - |32 | =" | =" | 6th
60 4 5 4 1 5 1 1 1 3° | == | = | 5th
TANGO
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 1-3 |14 | 1-5 | 1-6
10 5 1 3 2 2 1 3 | | 7 |7 | | 2nd
20 2 5 1 1 4 2 3 | | | | 1st
30 3 6 5 6 1 1 1 2 2 3 | - | 5th
40 1 3 2 5 3 1 2 4 |~ | = | | 3d
50 6 4 6 4 6 - - - 2 2 5 6th
60 4 2 4 3 5 - 1 2 3 T T 4th
QUICKSTEP
Couple Adjudicator Place Calculation Result
Number | A B C D E 1 1-2 | 1-3 |14 | 1-5 | 1-6
10 5 3 3 3 2 - 1 4 |~ | =7 | ™ | 3
20 3 5 6 4 5 - - 1 2 4 | = | 5th
30 1 1 4 2 1 3 T T T T T 1st
40 2 2 1 5 3 1 3 =T | T | T | 7 | 2nd
50 6 4 5 6 4 - - - 2 3 | = | 6th
60 4 6 2 1 6 1 2 2 3 e 4th
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FINAL SUMMARY

RESULT REASON
First Inspection Secon.d
T 50 First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: |W | T | Q| Total | 9 10 11 10 11
Tie Tie Rule — 11 Remaining
10| 25| 2 3175 nd 2nd 3rd couple in tie
2014 |1 | 5| 10 | 4th Rule 9
30| 1 /5|1 7 | 1st Rule 9
Tie Tie ule 11 — Equal majority 3" &
40 | 25 3 2 7'5 ond ond 2nd " above, :E;westagjgretgyate
50| 6 6 | 6| 18 | 6th Rule 9
60| 5| 4 | 4| 13 | 5th Rule 9
RULE 11 CALCULATIONS
Result
2M & 34 & 4th & 5th & 6" & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10 - 6 12%7
20
30
40 - 7 o e L [ [ — 2nd
50
60
Overall Results
Couple No: Result
10 3rd
20 4th
30 1st
40 2nd
50 6th
60 5th
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Answer 11-08

WALTZ
Couple Adjudicator Place Calculation
Result
Number | A B C D E 1-2 1 13 14|15 | 1-6
10 2 4 5 1 1 3 |- 1st
20 6 1 1 3 5 2 2 3° 3rd
30 3 3 6 5 4 - - 2 3 |7 T 5th
40 4 2 4 4 6 - 1 1 4 || T 4th
50 1 5 3 2 3 1 2 4 2nd
60 5 6 2 6 2 - 2 2 2 3 | - 6th
TANGO
Couple Adjudicator Place Calculation
Result
Number | A B C D E 1 |12 13|14 15 | 1-6
10 3 4 5 2 1 1 2 36 3rd
20 6 1 6 6 6 1 1 1 1 1 5 6th
30 5 3 2 5 4 - 1 2 3 |7t T 5th
40 2 2 4 1 3 1 3 1st
50 1 5 1 3 5 2 2 35 2nd
60 4 6 3 4 2 - - 2 4 || T 4th
QUICKSTEP
Couple Adjudicator Place Calculation
Result
Number | A B C D E 1-2 | 1-3 |14 | 1-5 | 1-6
10 3 4 5 3 1 1 1 37 3rd
20 6 3 4 6 4 - - 1 | 31 | 5th
30 2 1 6 2 3 1 3 1st
40 4 2 3 1 6 1 2 36 2nd
50 1 5 1 5 5 2 2 2 2 5 | - 6th
60 5 6 2 4 2 - 2 2 38 |- | 4th
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FINAL SUMMARY

RESULT REASON
First Inspection I Secon_d
nspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W Q | Total | 9 10 11 10 11
Tie Tie Rule 11 — Largest
10| 1 3 7 1st 1st 1st majority 3™ & above
Tie Tie Rule 11 — Remaining
20| 3 5 14 gth gth 6th couplein tie
30| 5 1| 11 | 4th Rule 9
Tie Tie Rule 11 — Remaining
40| 4 2 7 1st 15t 2nd couplein tie
50| 2 6| 10 | 3rd Rule 9
Tie Tie Rule 11 — Largest
60| 6 4 14 gth gth 5th majority 5t & above
RULE 11 CALCULATIONS
Result
2" & 3 & 4th & 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
: ONLY
10 4 6 9 | ememee | mmmeee | emeeee 1st
20 - - - - 8
30
40 2 6 8 | o me | e e
50
60 - - - - 11 | - 5th
Overall Results
Couple No: Result
10 1st
20 6th
30 4th
40 2nd
50 3rd
60 5th
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Answer 11-09

WALTZ
Couple Adjudicator Place Calculation S—
Number A B C D E 1 1-2 | 1-3 | 1-4 | 15 | 1-6
10 6 5 6 6 6 - - - - 1 5 6th
20 4 4 3 2 2 - 2 37 4th
30 3 3 2 5 3 - 1 4 2nd
40 1 6 | 5 | 4 1| 2 | 2 N 5th
50 5 2 1 1 5 2 3 1st
60 2 1 4 3 4 1 2 36 3rd
TANGO
Couple Adjudicator Place Calculation ol
Number A B C D E 1 1-2 | 13 | 14 | 15 | 1-6
10 5 | 2 |6 | 4| 2| - | 2| 2| 3 |-==]|-=— 5th
20 4 3 2 1 6 1 2 36 3rd
30 3 4 1 5 3 1 1 37 4th
40 1 6 3 3 1 2 2 4 2nd
50 6 5 5 6 4 - - 1 1 3 |- 6th
60 2 1 4 2 5 1 3 1st
VIENNESE WALTZ
Couple Adjudicator Place Calculation Result
Number A B C D E 1 1-2 | 13 | 14 | 15 | 1-6
10 3 1 6 2 2 1 35 2nd
20 5 6 | 4| 4 | 4 - - L e 6th
30 1 2 1 5 5 2 34 1st
40 2 | 5 | 3|6 | 1|1 | 2|3 ]| 3 || 4th
50 6 | 4 | 2 | 1|3 [ 1| 2 |3 |4 |- 3rd
60 4 3 5 3 6 - - 2 310 | e | oo 5th
SLOW FOXTROT
Couple Adjudicator Place Calculation Result
Number A B C D E 1 1-2 | 13 | 1-4 | 15 | 1-6
10 4 1 6 3 1 2 2 3° 2nd
20 5 | 5 1 1 6 | 2 | 2 2 | 2 | 4 |- 5th
30 1 | 4 | 4| 4| 4| 1 | 1 | 1 | 5 || 4th
40 2 6 5 6 3 - 1 2 2 3 |- 6th
50 6 3 3 5 2 - 1 38 3rd
60 3 2 2 2 5 1 3 1st
QUICKSTEP
Couple Adjudicator Place Calculation Result
Number A B C D E 1 1-2 | 1-3 | 1-4 | 15 | 1-6
10 5 4 6 5 3 - - 1 2 4 | ----- 6th
20 4 6 3 3 4 - - 2 4 | —eem | - 4th
30 3 2 1 6 2 1 3° 4 1st
40 1 | 5| 5| 4| 1|2 |2 | 2| 38 |- 5th
50 6 3 2 1 6 1 2 3 3rd
60 2 1 4 2 5 1 35 3 2nd
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FINAL SUMMARY

RESULT REASON
First Inspection Ins;e‘::::iin
P First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: |WIT|V|F Total | 9 10 | 112 | 10 | 11
106|522 21 | 4th Rule 9
Tie T|e ule 11 — Largest majori
20(4|3|6/5 22 | | oo | 5th s melorty
Tie H Rule 11 — Tie remains, equal
30(2(4|1 4 12 1st -;-Ij 1.5 majorityfg‘“gi;:tc;ve,equal
Tie | Tie Rule 11 — Remaining
0 15/2 46 22 5th | 5th 6th couple in tie
501633 16 | 3rd Rule 9
Tie T|e Rule 11 — Tie remains, equal
60 |3|/1/5]|1 12 1st 1st 1.5 majority:é';f;;:;ve,equal
RULE 11 CALCULATIONS
Result
2 & 3 & 4th & 5th & 6" & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10
20 21 | - 5th
30 5 9 1531 20 24 25 1.5
40 20
50 3 11 1531 20 24 25 1.5
60
Overall Results
Couple No: Result
10 4th
20 5th
30 Tie 1st
40 6th
50 3rd
60 Tie 1st
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Answer 11-10

WALTZ
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 | 1-3 (14 15| 1-6
10 2 |3 |4 |44 |3|6|-]1|3]|6 ||| 3
20 4 | 2 3 3 2 2 2 - 4 | - | =eem | o= | == | 2nd
30 6 4 5 2 6 5 3 - 1 2 3 5 | - 5th
40 5 (/5|6 |5 |3 |45 |-|-]1|2]|6 |- | ath
50 1 1 1 1 1 1 1 /200 [ L [ B B 1st
60 3/ 6|2 |6|5|6|4]-11|2)|3/|4/ - 6th
TANGO
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 /13|14 15| 1-6
10 2 | 3 |43 2 2 6 - 3 5 | o= | === | === | 3rd
20 3 2 3 2 3 3 2 - 3 7 | = | === | == | 2nd
30 6 | 5|5 |4 |4 |5 |5 -|-]-12]686 |- 5th
40 4 | 4|6 | 5|54 |4 -1]-1]=-1]4a8/|-|--| ath
50 1 1 1 1 1 1 1 /2N (RS S R [ I 1st
60 5 6 2 6 6 6 3 - 1 2 2 3 7 6th
VIENNESE WALTZ
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2|1-3|14 15| 1-6
10 2 3 4 3 3 2 6 - 2 5 o | oo | e 3rd
20 312 (3|2 }|2]|3]2 - 4 | - | === | === | - | 2nd
30 6 | 4|5 |4 | 4|5 |4]-|-|-1|48/ |- ath
40 5|/5|6 |6 |6 | 4|5 -|-1]-11]|4 | - 6th
50 1 1 1 1 1 1 1 y 20 [ L P R 1st
60 4 6 2 5 5 6 3 - 1 2 3 5 | - 5th
SLOW FOXTROT
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 13|14 15| 1-6
10 2 | 3|43 3 3 6 - 1 5 | e | === | === | 3rd
20 3 2 3 2 2 1 2 1 5 | o= | emem | === | === | 2nd
30 6 |6 | 5|4 |6 |5 4| -1|-1|-12]|4 - 6th
40 5|4|6 |6 |5 |4|5|-1]-1]=-12]5 |- 5th
50 1 1 1 1 1 2 1 6 | mmmm | mmem | mmem | mmme | eme- 1st
60 4 5|2 |5|4|6|3|-1]1/|2]|4]|-—-—| -/ ath
QUICKSTEP
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 13|14 15| 1-6
10 2 3| 4|4 |3 |3 |6|-11]|48|-—|-—-—|-—| 3d
20 4 | 2 3 2 2 2 2 - 5 | o= | === | === | === | 2nd
30 6 4 5 3 5 5 4 - - 1 3 6 | - 5th
40 5|56 |6 |6 | 4|5 -|-]-11]|4 - 6th
50 1 1 1 1 1 1 1 y /200 [ L [ RPN 1st
60 3 /6|2 |5|4|6|3]-11/|3] |4/ |- ath
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FINAL SUMMARY

RESULT REASON
First Inspection | Seco:\'d
nspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W Vv Total | 9 10 | 112 | 10 | 11
10 | 3 15 | 3rd Rule 9
20 | 2 2 10 | 2nd Rule 9
Tie Rule 10 — Least 4th &
30 |5 4 25 | 6th above placings, not
4 included in Rule 11 tie
Tie | Tie Rule 11 — Largest
40 |4 6 25 4th 4th 4th majority 5t & above
50 (1 1 5 | 1st Rule 9
Tie Tie Rule 11 — Remaining
60 | 6 5 25 Ath Ath Sth couple in tie
RULE 11 CALCULATIONS
Result
2" & 34 & 4th g 5th & 6t & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
’ ONLY
10
20
30
40 - - - 10 25 | - 4th
50
60 - - - 16 23
Overall Results
Couple No: Result
10 3rd
20 2nd
30 6th
40 4th
50 1st
60 5th
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Answer 11-11

WALTZ
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 | 1-3 |14 | 1-5 | 1-6
10 1 2 1 3 | 4 1 1 | 8 | === | === | === | == | === | 1st
20 6 | 6 |6 |6 | 1|6 |2|1|2|2 2|2/ |7 6th
30 542|534 ]5 ] -1]2 |43 |- | 5th
40 2 | 5|5 |4 |6 |2 3] -1]2/|3 |41 || 4th
50 3|/1|4|1|5|5|4]2|2 |2 |5 |-—-|-| 3rd
60 4 3 3 2 2 3 6 - 2 5 | = | === | - | 2nd
TANGO
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 (1-2 |13 |14 15| 1-6
10 1 3 1 2 1 1 1 S0 (R [ R N I— 1st
20 6 |6 | 3|6 |2 |4|2]-]2/|3 4% 4 |- | 5th
30 5| 4|5 |5 |5 |6 |4]-]-|-121]6 |-/ 6th
40 2 |56 |4 |6 |2 |3 |-|2]3 41 5 |- | ath
50 4 | 1|4 |13 |5|6|2|2|3 |5 |-—|--| 3d
60 3 2 2 3 |14 |3 5 - 2 5 | === | === | === | 2nd
VIENNESE WALTZ
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 1-2 | 1-3 |14 | 15| 1-6
10 1 1 1 3 1 1 1 6 | == | mem | e | emem | e 1st
20 6 6 6 6 3 5 2 - 1 2 2 3 7 6th
30 4|5 |25 |26 |4|-|2]|2]|42|-—|-—- 5th
40 2 |3 144|523 - 2 | 4 | | | - | 2nd
50 3 |/4|5|2|4|3|6]-]12|3]|[5] |- 3d
60 5 2|3 |1|6|4|5]1]|2]|3[4°—|-—| 4th
SLOW FOXTROT
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 (1-2 |13 |14 15| 1-6
10 1 2 2 3 1 1 1 4 | oo | e | e | e | - 1st
20 4|6 | 4|6 |4 |5 |2 -1]1]|1]|4a%|-—|-— 6th
30 5 /4|1 ]5|3|6 |41 |12  42|-—|-- 5th
40 3 5 3 4 6 2 3 - 1 | 442 | oo | o= | === | 3rd
50 2 | 1|6 | 1|5 | 4|5 ]2 /|3 |3 |48 |- 4th
60 6 3 5 2 2 3 6 - 2 |40 | oo | - | === | 2nd
QUICKSTEP
Couple Adjudicator Place Calculation Result
Number | A B C D E F G 1 (1-2 |13 |14 15| 1-6
10 1 1 1 3 1 1 1 (>SN [N [ [ [ [ — 1st
20 4 5 5 6 4 5 2 - 1 1 3 6 ---- 5th
30 5 6 3 5 3 6 5 - - 2 2 5 | -—-- | 6th
40 2 |4 |6 | 4|6 |2 |3|-12|3 55|57/ 35
50 6 | 3| 4|22 |4|6]-]2]|3 555|735
60 3|22 |15 |3 |41 |3 /|5 |-==|-=-|--—-| 2nd
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FINAL SUMMARY

RESULT REASON
. . Second
First Inspection Inspection .
First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
n: |[WT|VIF| Q Total 9 10 | 11 | 10 | 11
10 {1 (1|1(1]| 1 5 1st Rule 9
20 |6/5|6(6| 5 28 6th Rule 9
30 |[5/6|5|5| 6 27 5th Rule 9
Tie Rule 10 — Remaining
40 |414|12|3|3.5] 16.5 3rd 4th couple in tie
Tie Rule 10 — Most 37 &
50 |[3(3/3/4]3.5] 16.5 3rd 3rd above placings
60 |2(2|4|2| 2 12 | 2nd Rule 9
RULE 11 CALCULATIONS
Result
2 & 34 & 4th & 5th & 6" & under
Couple 1st . . . . .
No: Higher Higher Higher Higher Higher Rule 11
: ONLY
10
20
30
40
50
60

Overall Results

Couple No: Result
10 1st
20 6th
30 5th
40 4th
50 3rd
60 2nd
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Tutorial 8

Tutorial 8 is the final tutorial of the Skating System Study Guide. The aim of this section is to
give guidance on the Skating System Examination.

This tutorial will cover the following topics.

e Scope of the Examination

e Examination Rules

e How to study for the examination
e Homework — Full practice exams
e Answers

Scope of the Examination

All new candidates not accredited by their member body must take a theory examination
consisting of 10 questions on all principles of the Scrutineering Skating System including
general principles, single dance calculations, multi-dance events and rules governing
management of ties.

There are 4 parts to the theory examinations. Exam questions will be provided by your
DanceSport Member Body and supervised by an Invigilator (as per the conditions for the
applications of the examination).

Part 1 — Answer 4 multiple-choice questions relating to general Scrutineer conduct at
competitions.

Part 2 — Perform simples calculations demonstrating an understanding of the “Majority”
principle.

Part 3 — Calculate the placings achieved for Couples dancing in single dance events.

Part 4 — Allocate place marks in “Final Summaries” of multi-dance events and state the
reasons for allocating the various places to the ‘tied’ couples. This section tests the
Candidates knowledge of Rules 9 & 10 of the Skating System.

Part 5 — Allocate the place marks in “Final summaries” of a multi-dance event and show
calculations for Rules 9, 10 and 11 of the Skating System. This question tests the Candidates
knowledge of applying Rule 11 and the reasons for applying it.
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Examination rules and requirements

The examination will be carried out by an appointed Invigilator by your member body. The
Invigilator will be required to follow a certain procedure for conducting an examination as
determined by your member body.

The most important points regarding the exam are:

e Time allowed to complete the exam paper is 40 minutes

e 100% accuracy is required to obtain a pass

e Only writing implements are allowed in the exam. Notes, manuals, calculators,
computers, phones, smart watches etc. are not permitted

Study tips for the Examination

Time management - To start with, work completely through an Exam and take note of the
time taken. This will of course, give you a guide on how to manage your time and if you need
to practice working at a quicker pace.

Check your understanding - After each exam paper compare your results with the given
answers at the end of this book. Note where you have gone wrong if errors have occurred,
make sure you understand how the errors happened and how they should be fixed. You may
need to re-study some areas of the rules and complete some extra practice exercises in
particular areas.

Accuracy required - As candidates are marked on technical accuracy, the passing grade is
100% for the examination. A very minor error may be allowed by the DanceSport Examiner
as a Pass mark provided the candidate has demonstrated a thorough and perfect
understanding of the Skating System principles.

Practice - Practice and aim to complete the exam within approximately 25-30 minutes and
use the remaining time to double check your work for accuracy.

Repetition - Continue working through each exam paper monitoring your accuracy and
timing until 100% result can be achieved within the given time. You can re-do the exam
papers and exercises over and over as many times as you like.

Revision - It’s advisable to keep practicing until the day of your examination to keep your
accuracy and timing to peak performance. Do not attempt to sit your examination without
some sort of revision and practice if there has been a break between your study and the
exam date.
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Homework

This next section includes a series of practice examination papers for training purposes.
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Skating System Examination

Name:

Date:

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

Country:

Practice Examination No:

No: of Adjudicators on a panel

Number required for a majority

3

4

11

19

13

12

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator

Place Calculation

No: C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

unw| | N|[kRL|lo|>
Alw v o |l ulm
wibln | N[O

N[, lw|d>| ulo|O

60

R PPN W UL OOM

(3)

Couple Adjudicator

Place Calculation

No: C

1-2

1-3

1-4

1-5

Result

10

20

30

40

50

OOIN DU W D>
W | N UL
ol |lw| |, |M|IN]|O

U NPk |W

60

AlO|R,P|W | N|U]M
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2 | 1-3 | 14 | 1-5 | 1-6

Result

10

20

30

40

50

60

nvniw| rlolbd|N|[D

A | R (NP0 WE
(=S N O I I O I R © 5 B B @ ) TR (R S

N o, | w0 |O

w s | NN, O m

(5)

Couple
No:

Adjudicator

Place calculation

C

D

E

1-2 /1314 |1-5|1-6

Result

10

1

2

20

o | b~ |D>

5

30

6
3
4

40

50

(o) N I

60

(6)

Couple
No:

Adjudicator

Place Calculation

D

E

F

1 (12|13 14|15 1-6

Result

10

20

30

40

50

60

O U D WI NP

ol w| M s|lr|lm

o lw (N s |0

2
1
4
3
5
6

UL | INN R W

A NN s R W

ol | ik, |Mlwle

(o) W IR O T [ NG T [ S 6 & BN R SN s o

DN, NNl W | D |-
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

C(l)\‘uorfle W T | F | Q| Total | Result Reason
10 1 1|6 | 6

20 313 ]5]5

30 4 | 4 | 4 | 4

40 2 | 2|3 3

50 6 | 5 1| 2

60 516 | 2 1

(8)

Couple

No: W | T |V | F | Q| Total | Result Reason
10 112 |5]2]5

20 |25, 6 | 6 | 1 |6

30 25135 3 4 4

40 4 1514 )3 |1

50 6 | 1|2 |55 3

60 5 (35| 1 55| 2

(9)

C?\IU:IE W T |V | F | Q| Total | Result Reason
10 4 2 1 4 | 4

20 3142 )3]3

30 513|421

40 6 | 1|3 |1]5

50 2 | 5] 5|6 |6

60 1|66 |52
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(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N: IA|B|C|D/ E|{AB|C/D|/E|JA/B|C|D E|A|B|C|D|E
10 |3 /1|1 /3|61 |1(2|2 (3|43 ,4|4,4|1/4|3 4,4
20 |5/4/3/5|3|]6/21/3 /61,223 |3|6[1[2|2]|6
30 |13 /444|545 |5/4|2|6/6|2|2|2|2|1|6|5
40 |2 |5|2|1 /52661 |2|3|1(3|6|1|4|5|4|1 |1
50 |42 |5|2|1|4,5/4,6|5|]5|5/1/1/6|5|6|5|5]|3
60 |6 |6 |6 |6 2|3(3(3(4|1|6|4|5|5|5|3|3|]6]3]3
FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
LBl First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
10 ([3|1(4 4|12
20 (5/41/2(12
30 (452112
40 (22/3|5]12
50 |1/ 6(5/6[|18
60 |6 3|(6|3| 18
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20
30
40
50
60
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Skating System Examination

Name:

Date:

Time Allowed: 40 minutes

Country:

Practice Examination No: 2P

(1) If the total number of Adjudicators on a panel is as shown below, state the number of

Adjudicators required for a majority in each case.

No: of Adjudicators on a panel

Number required for a majority

12

17

11

20

6

9

Allocate the places in the following “Dance Final” examples.

(2)

Couple
No:

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

rlwloalN|lRr 0>

Ao wW|N ||
RN W UL || 0|0

AP IW O N

R INW U o bdM

(3)

Couple
No:

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

niphlw vk o>

N o | w | | D~ |e
vl wl(Nn| o~ | MO

5
6
3
4
1
2

Wik NN OB~ m
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2 | 1-3 | 1-4 | 1-5

1-6

Result

10

20

30

40

50

60

N | U O, WS D

| AN W | L, | U |W
| W I IN|Dd|F | o |O

1
3
5
4
6
2

AR |0 OO N Wm

(5)

Couple
No:

Adjudicator

Place calculation

D

1 /12 1-3/1-4|1-5

1-6

Result

10

20

30

4
6
2

40

[y

50

60

wloo|lu | N DR I>

N | wl o, ||

A U N R W DO

E
3
6
5
1
2
4

v ik | O N WM

AR, || w | vV |G

(6)

Couple
No:

Adjudicator

Place Calculation

D E|F

1 12|13|14 ) 15

Result

10

20

30

40

50

60

ocolw |||

nlw VMol |lm

AW NN |FL]IO
AW N PO
A W NP, |0,
o U |IN PR W

R MOl W|IN OO

N D RO W | UI|XI

(o2 T O N I G S T B S B S I S
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

CT\‘u:Ie w | T F | Q | Total | Result Reason
10 5 6 1 1
20 3 1 3 6
30 1 4 4 4
40 4 5 2 2
50 2 3 5 3
60 6 2 6 5
(8)
Couple
No: W | T | F | Q| Total | Result Reason
10 5 4 2 |15
20 3 3 5 |15
30 1 5 1 6
40 6 1 3 3
50 2 6 | 4 |45
60 4 2 6 | 4.5
(9)
Couple
No: W | T | F | Q| Total | Result Reason
10 3 2 1 5
20 2 | 4| 4 1
30 4 3 2 2
40 1 1 3 6
50 6 5 6 3
60 5 6 5 4
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(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N: IA|B|C|D/ E|{AB|C/D|/E|JA/B|C|D E|A|B|C|D|E
0 | 6|1 |5|1|1|5|4|6|5|6|2|5|1|4|2]|]2|4|1|5]|5
20 |1/3|/1|5|2|]6|5/3|6|5|3/4/6,1 311323
30 |[4/2|2|3|6|3|3|2|4/4]1 |1/ 55|14 |2|5|6]|2
0 |3/6 (3|6 |4|2|1|5|1|1|5|2|2|2|5|6|5]|4]1]1
50 |5 /4,62 |3|1/6,4,3,2|4,3/3/3/,4|13 (36|46
60 |2 |54 /45|14 |2|1|2|3|6|6|4|6|6|5|6[2|3|4
FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ks (et le First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
10 (1|6(2 3|12
20 (254112
30 3/4|1(4(12
0 (6132|112
50 |4/3|5/6( 18
60 |5/2|(6|5| 18
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20
30
40
50
60
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Skating System Examination

Name:

Date:

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

Practice Examination No: 3P

Country:

No: of Adjudicators on a panel

Number required for a majority

5

6

9

13

15

24

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator

Place Calculation

No: C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

ol kRr| N W DD
W o R DMl
Rl N D W
N Dl Wl U ,|O

60

U O NN W| | LM

(3)

Couple Adjudicator

Place Calculation

No: C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

R OO|IN|D> U WD
N[ lWU| o | ]|®
i N ||, |W

RlU|lw|d|NIO]|O

60

APlW UL | NM
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

DN R, W 0| Dd|D>

N (R W OO |- |

5
4
3
6
2
1

o|lwlr | rlunlnNv|O

O N R |W O m

(5)

Couple
No:

Adjudicator

Place calculation

C

D

E

1-2

1-3 /14

1-5

Result

10

6

20

30

40

50

R W | N O],

60

A loolwnn IR |w]|>

A | RN~ W U ®E

(2 I T S 2 R O'6 o o

| W | b~ || OU

(o))

v w o NS | R m

||, W UV |NI|O

(6)

Couple
No:

Adjudicator

Place Calculation

D

E

F

1-2

1-3

1-4

1-5

Result

10

20

30

40

50

60

R INOW | D> U|D

nlw| dlPlolnv|m

W uNN R RO

(OS I i@ » W I S T I © 5 B [ SN )

DN |W| U |

NP WU O |

RN OOW | D OO

ik, w bl NI

A O INN R W O |-
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

Couple
No:

jo

Total

Result

Reason

10

20

30

40

50

60

U | W BN

A NN~ W| R

N R, U W O

N WL | B0 O

(8)

Couple
No:

<

jo

Total

Result

Reason

10

20

30

40

50

60

W IN| O | L | U |Dd

g o | PN W

0| R, W N

Wi kLI OO | P>

TR NN W O

(9)

Couple
No:

-

<

jo

Total

Result

Reason

10

20

30

40

50

60

| W INIF O

W kiR, INNO WUV

NIOO LW | D |

NP~V P, W

N IR, U W
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(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N: IA|B|C|D/ E|{AB|C/D|/E|JA/B|C|D E|A|B|C|D|E
10 |1 /1|2 /53|14 |4 4|4 1|56 3[2,3|3|2|4]2) 4
20 |4,5/3|1|1]1,2,23/4]13/3|1,3/,6|4|4|6|3|6
30 |6, 61442 |5|5|5|5]1|1/2|5|2|2|6|2|6]|1
40 |33 |6 |3|6|6|6|6|6 62251 |5|5]1|5|1]3
50 |[5/4/4/6|2|3|1/3|1,3|4,5/4,4|1|1|5|1|5]|2
60 (2 (2|52 /5|53 |1(2|2|6|4|6|6|4|6|3|3|4]5
FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ks (et le First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
10 |1(44 4| 13
20 (3/1(3|/6] 13
30 |5/5/1(2| 13
40 |4/6|2|3]| 15
50 (63|51 15
60 (2265|115
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20
30
40
50
60
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Skating System Examination

Name: Country:

Date: Practice Examination No: 4P

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

No: of Adjudicators on a panel Number required for a majority
6
8
12
4
16
24

Allocate the places in the following “Dance Final” examples.
(2)

Couple Adjudicator Place Calculation
No: C 1 12 13 14|15 | 1-6

10
20
30
40
50
60

Result

AL, | O | WI|PD
N R, | DdDlw | o |m
N U o | dM|lw |~ |O
Wl o u|krLr | N|D>m

6
2
5
1
4
3

(3)

Couple Adjudicator Place Calculation
No: C 1 /12 13|14 15| 1-6
10
20
30
40
50
60

Result

O | W | |, |INI|ID
N | R|IDlw oo|u|m

3
4
1
2
6
5

AW iR, | MU O|OD
i W | |mM
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2 | 1-3 | 1-4 | 1-5

1-6

Result

10

20

30

40

50

60

O |l LN W N| R ID

B
3
4
1
6
2
5

Ol R M 0l W N
w| |l o V| | MO

| W N[ | | M

(5)

Couple
No:

Adjudicator

Place calculation

D

1 1-2/1-3 |14

1-5

1-6

Result

10

20

30

40

50

60

Alw lu|lo|lr | N>

v O, INW]R

AN, OB WIO

2
1
5
6
4
3

E
5
6
1
2
3
4

N (R, OB W O mM

R OOl w | NN DO

(6)

Couple
No:

Adjudicator

Place Calculation

D|E

F

()

1 /1213 |14

1-5

1-6

Result

10

3

20

1

()]

30

N W DD

N

(6 I I © 2 B - )

40

N RO W O
N Wb

N

50

N W | 0| O

(¢))]

D

60

w | bt | N

[S2BNENe))

(S2 BN e))

AW v

u
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Allocate the places in the following “Final Summaries” and state your reasons for allocating
the various places to the ‘tied’ couples. If, however, you believe the markings should be
referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

Couple
No:

=

jo

Total

Result

Reason

10

20

30

40

50

60

W | NP, O WU

N Wl o | OO0

RO O |W N

| w IO |N |

(8)

Couple
No:

jo

Total | Result

Reason

10

20

30

40

50

60

AW U IN O |

B L S I B O 2 IR I S T @) I B >

= 0|l b~ W N

O IN O | R W

(9)

Couple
No:

jo

Total | Result

Reason

10

20

30

40

50

60

N (R, W |k 0O

DR, W OB BN

R o U |w |~ N

g OO W N || Ps
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10) Calculate the results of the following event and if after applying Rules 9 and 10 there is
still a tie in the final summary, then apply Rule 11. Results of the individual dances have been
given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N:fA/B|C|/D|/E|A|/B|C/ D|/E|A/B|/C/D E|A/B|C|D|E
10 4,215 /3|6|5/4|1/1|1/1|3|2|313|2|2|2]1
20 6/5(3|1|5|2|4(1|5|5|2|4|1|5|5]|]1|1|3|4]2
30 1/6|4,3(2|4|2|5/6|2|4|2|5/6]2]2|4|1|1]3
40 3/11(2|4|4|5|6(2|3|/4|5|6|2|3,4]|]6|5|4|61]5
50 2113|5613 |3,6|4|6|6|5/4]1|1|5|6|6]|3 |4
60 514|/6|2|6|1]1(3|2|3|3|3/6|4|6|]4|3|5|5]6

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ik et £t First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection

No: | W| T | F| Q] Total 9 10 11 10 11

10 |2(2|1 /1| 6

20 |53 |3 13%

30 344 13%

40 |11|5/5|6| 17

50 [46|2 5| 17

60 [6 1|6 4| 17

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20
30
40
50
60
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Skating System Examination

Name: Country:

Date: Practice Examination No: 5P

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

No: of Adjudicators on a panel Number required for a majority
4
6
8
12
16
24

Allocate the places in the following “Dance Final” examples.
(2)
Couple Adjudicator Place Calculation

No: C 1 12|13 |14 | 15| 1-6
10
20
30
40
50
60

Result

AWML O|D
OO WIN|F|®
RN W U > O|O
RN W WU o |™~|m

~ArlOIRIWOUN

(3)

Couple Adjudicator Place Calculation
No: C 1 /12|13 14|15 | 1-6
10
20
30
40
50
60

Result

nihblwW|INIFRPIO|ID
NfOOw || D ||
awiNvN|ioO|—r | »M|O
Wikl U|S~|mM

N R, PR W O U
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2 (13 | 1-4 | 1-5

1-6

Result

10

20

30

40

50

60

U R I dDlwWw|NIOI|IP

=N U A~ W O
w ~INMNIO | U L |O

N W o | |-

A O W N O | LM

(5)

Couple
No:

Adjudicator

Place calculation

D | E

1 (12|13 |14 |15

Result

10

20

30

40

50

60

w ol DR

N O W | O (| D>

A UV IN R, W IO

G W kL N O P

AN R OO W

U RO N WM

N R,r|lojlw|Nn U

(6)

Couple
No:

Adjudicator

Place Calculation

D E|F

1 |1-2|1-3 |14 |15

1-6

Result

10

20

30

40

50

60

oOolw|h|IN|IUV]|rR]P

unlw| VN ok |m

AW OO |N OO

O |lwiNn |G|

AW NP =0,

A NP |W

R M lw | Np| OO

N | DRI W LT

AN W i kL N D |-
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

C<|)\|u0|:>.le W | T  F | Q| Total | Result Reason
10 51611 13
20 3|13 |6 13
30 1 4 4 4 13
40 4 | 5] 2| 2 13
50 2 13 5|3 13
60 6| 2|6 |5 19
(8)
Couple
No: W T | F | Q| Total | Result Reason
10 54| 2 |15 125
20 3 3|5 ]15] 125
30 1|5 ] 16 13
40 6 | 1| 3| 3 13
50 2 | 6| 4 |45] 165
60 4 | 2 | 6 45| 16.5
(9)
Couple
No: W | T | F | Q[ Total | Result Reason
10 3 2 1 5 11
20 2 4 4 1 11
30 4 | 3 | 2| 2 11
40 1113 |6 11
50 6 | 5|6 |3 20
60 516 |54 20
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(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N: IA|B|C|D/ E|{AB|C/D|/E|JA/B|C|D E|A|B|C|D|E
10 |2 |4 |1|5|5|3|3|3|6|3|]3|4|/4|3|3|5|5|6|6/|6
20 |42 |5|6|2]|]6|12|2 5|66 /66|44 |4|5|3|5
30 |3/3/ 646|446 |4,4]1,3 /3 ,4,6[|2|6|3|5]|2
40 |56 (2|3 |(4|5|/6|4]3|6|2|5|5|2|2]|3|3|4|4|14
50 |1,1/3|2|3|1|/5/1/1,2|4,2 2 |5|1|6|2|2|1]|1
60 |6 | 5,4 |1 |1}|2(2|5/5|1|5|1]1/1|5|1|1]1,2]3
FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ks (et le First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
10 |3/4/5|/6| 18
20 |4(3/6|5]| 18
30 |6(5/4|3]| 18
40 (5|63 /4] 18
50 |1(1(2|2| 6
60 (2 (2|11 6
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20
30
40
50
60
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Skating System Examination

Name: Country:

Date: Practice Examination No: 6P

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

No: of Adjudicators on a panel Number required for a majority
3
4
11
19
13
12

Allocate the places in the following “Dance Final” examples.
(2)

Couple Adjudicator Place Calculation Result
No: C 1 1213 14 15| 1-6
10
20
30
40
50
60

W NP |OI|ID
rlw | vVNO|R,|U|W
N (R, W O o]|O
RN WlO||m

W I OOIN | RO

(3)

Couple Adjudicator Place Calculation Result
No: C 1 12|13 |14 |15 | 16
10

20

30

40

50

AN W R[>
wWirlid|NvV o n|m
olvn|lw|r |~ [N|O
Alo|lr|lw|Nv|a|m

i || PR |W

60
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(4)

Couple
No:

Adjudicator

Place Calculation

C

1-2

1-3

1-4

1-5 | 1-6

Result

10

20

30

40

50

60

|l w | krkrliol | NID

AR, NP0 |W|E
R IN|W O O |+
N O | =R Wb U0 |O

w v AN =R O m

(5)

Couple
No:

Adjudicator

Place calculation

D

1-2 1 1-3

1-4

151

-6

Result

10

20

30

40

50

60

ik |lw| N oolbdI|P

ol Rr|[ N w|d|m

Gua N R W OO

N T O || W | U

S TW |, UMM

|~ W IO, |NNT

ANV OOV |FR|W|O

(6)

Couple
No:

Adjudicator

Place Calculation

E

F

1 |12

1-3

1-4

1-5

1-6

Result

10

20

30

40

50

60

Ol | I W|IN|FI|IPD

olun | w|NVN|srlr|m

olw | v s |o
ol w| bk |N|O

A LA~ IN|IFP W

3
1
4
5
2
6

NN VR, | DM WIO

O W |IN | ROV |DdIE

DN, UV W | b |-
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

C(l)\‘uorfle W T | F | Q| Total | Result Reason
10 1 1|6 | 6

20 313 ]5]5

30 4 | 4 | 4 | 4

40 2 | 2|3 3

50 6 | 5 1| 2

60 516 | 2 1

(8)

Couple

No: W | T |V | F | Q| Total | Result Reason
10 112 |5]2]5

20 |25, 6 | 6 | 1 |6

30 25135 3 4 4

40 4 1514 )3 |1

50 6 | 1|2 |55 3

60 5 (35| 1 55| 2

(9)

C?\IU:IE W T |V | F | Q| Total | Result Reason
10 4 2 1 4 | 4

20 3142 )3]3

30 513|421

40 6 | 1|3 |1]5

50 2 | 5] 5|6 |6

60 1|66 |52
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(10)

If after applying Rules 9 and 10 there is still a tie in the Final Summary, then apply

Rule 11. (That is, refer back to the Adjudicators markings in the four individual dances.)

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

N Waltz Tango Slow Foxtrot Quickstep
o:

A/ B C D E|A/ B C D E|A B/ C/ D E|A/ B|C DI E
101|612 |1|1|6|2|3|2]|1|1|4|1(|3]|]6|1|2|2]|1
2055254443 |1|1|3|4|2|4]|6|1|5|4|5]6
30|2|1(3|4|2|2|2|4|5|3]|2|6|3|5(4|4|6|3|4|5
40|16 |2 |(5|3|3|6|5|6|4|6|4|5|]6]2|1[3|4|1|3]3
50|4|4|6|6|6|3|1|5|6|4|5|2|1|3|2]2|3|5|6|2
60 |33 (4|1 |5|5|3|1,2|5|6|3|5|6|5|5|2|6/|1]|4
FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection Secon.d
Lo First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F|Qf Total | 9 10 | 11 | 10 | 11
10 | 1 11| 4
20 |5 3/6| 16
30 | 2 5/5| 16
40 |4 42| 16
50 | 6 23] 16
60 | 3 64| 16
Enter below the information to apply Rule 11 to the couples who tied under Rule 10.
Result
Couple 1st 2" & 34 & 4t & 5th & 6t & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY

10
20
30
40
50
60
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Answers
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Skating System Examination

Name:

Country:

Date:

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

Practice Examination Answer:

No: of Adjudicators on a panel

Number required for a majority

3 2
4 3
11 6
19 10
13 7
12 7

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 (12 13|14 15| 1-6
10 6 5 6 6 6 - - - - 1 5 6th
20 1 1 1 5 5 3 | - 1st
30 2 6 2 4 3 - 2 | 37| 4 4 |----- 5th
40 4 2 5 3 2 - 2 | 37| 4 5 | - 4th
50 3 3 4 1 4 1 1|3 | 5 || 3rd
60 5 4 3 2 1 1 2 | 3° 2nd

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 13 /14 15 | 1-6
10 1 5 3 2 5 1 2 35 | 3 | emeem | meee- 4th
20 3 6 1 4 2 1 2 3° | 4 4 | - 3rd
30 5 2 4 1 3 1 2 3° | 4 5 |- 2nd
40 4 4 2 3 1 1 2 38 5 | - | 1st
50 2 1 6 5 6 1 2 2 2 38 | - 5th
60 6 3 5 6 4 - - 312 | ----- 6th
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(4)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13 14 | 15| 1-6
10 2 3 4 5 6 - 1 2 | 3° | 4| 5% 4
20 4 5 6 4 1 1 1 1 3% | 414 | 520 4
30 6 4 5 3 2 - 1 2 | 3° | 4| 5% 4
40 1 2 3 1 4 2 3 |- 1st
50 3 1 2 6 5 1 2 36 | 3° | 411 | - 2.5
60 5 6 1 2 3 1 2 36 | 3° | 411 | - 2.5
(5)
Couple Adjudicator Place calculation Result
No: A|B|C | D/ E F |  G|1 |12 13|14 1-5|1-6
10 4 |4 |6 |1]2|2|3]1|3 |4 6 |- | 1st
20 6 /3|3 |5|5|1|1|2]|2 4 4 -—-|--]| 5th
30 2 | 2|4 |3|1|5|5|2]|3]4|52|/7 |-—]| 2nd
40 31|14 |6|3|6]|2|2/|4,|5?% 52 7 3.5
50 1|6 |26 |3 |4|2|1]| 34|59 52 7 3.5
60 5/5|5|2 |46 |4|-]112|1|3 |6 |-—| 6th
(6)
Couple Adjudicator Place Calculation Result
No: |A/ B C|D E|F|G | H|J|1]|12/13]14]15) 16
10 1111|233 (3|4,4|3|4 |7 |-—-—|-—-|-—| 1st
20 244|111 4|5|3|3|4|5|-—-|--|-] 2nd
30 312 |5|4|2|4|1|1|5]2|4|5 |-—-|--|--] 3rd
40 4132|345 |5|2|1|1]3|5% -—|-—|-] 4th
50 5/5(3|5|5|2|2|3|2|-1]3]|5% -—|-]|-| 5th
60 6/ 6 6|6 6 6|6 6 |6]-|-1-1]-|-1]9] 6th
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)
Couple
No: W T | F | Q| Total | Result Reason
10 1 1 6 6 14 2nd Rule 10 — Most 2" & above placings
Rule 11 Apply Rule 11 - Equal 5'" above placings,
20 3 3 > 5 16 5th equal aggregate
Rule 11 Apply Rule 11 - Equal 5" above placings,
30 4 4 4 4 16 5th equal aggregate
40 2 2 3 3 10 1st Rule 9
50 6 5 1 2 14 Ru3|e 11 Apply Rule 11 - Equal 3™ above placings,
rd equal aggregate
Rule 11 Apply Rule 11 - Equal 3™ above placings,
60 5 6 2 1 14 3rd equal aggregate
(8)
Couple
No: W | T | V| F | Q]| Total | Result Reason
10 1 2 5 2 5 15 1st Rule 9
20 25| 6 6 1 6 21.5 6th Rule 9
Rule 10 — No 2" & above placings,
30 2.513.5 3 4 4 17 4th remaining couple not included in Rule 11
Rule 11 Apply Rule 11 - Equal 2" and above
40 4 5 4 3 1 17 2nd placings, equal aggregate
50 6 1 2 |55] 3 17.5 5th Rule 9
Apply Apply Rule 11 - Equal 2" and above
60 5 3.5 1 5.5 2 17 Rule 11 placings, equal aggregate
(9)
Couple
No: W T V| F | Q]| Total | Result Reason
Rule 11 | Apply Rule 11 — Most 1% placings, equal
10 4 2 1 4 4 15 1t aggregate
20 3 4 y) 3 3 15 3rd Rule 10. — Remaining c?uple nc.)t included
in Rule 11, no first placings
Rule 11 Apply Rule 11 — Most 1% placings, equal
30 | 5|3 |4|2]1] 15 - sggregate
40 6 1 3 1 5 16 4th Rule 9
50 2 5 5 6 6 24 6th Rule 9
60 1 6 6 5 2 20 5th Rule 9
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(10)  Calculate the results of the following event and if after applying Rules 9 and 10 there
is still a tie in the final summary, then apply Rule 11. Results of the individual dances have
been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N:A/B|C/D|/E|A|/B|C|D E|[(A|B|C| D E|(A|B|C|D|E
10 3/]1/1(3(6|1|1(22(3]14,3|4,4,411|4,3 |44
20 5143 (5|3|6|2]1,3|6]1|2 (2|3 |3]|]6|1|2|2]|6
30 1/3(4|4,|4]|5/4,5|5|4|2|6|6]2|2|2|2|1]|6]|5
40 2(5(2(1,512/6/6/1,2|3|13|]6|1]14 54,11
50 4125214546 |5|5|5]1/1|6|5|6|5|5]3
60 6/6|6(6 23|33 ,4|1]6|4|5|5|5]3 |3 ,6|3|3

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
S First Second

Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F | Q] Total 9 10 11 10 11

Tie | Tie Rule 10- Remaining
10 (3|14 |4 12 15t 1st 3rd couple in tie

Tie | Tie Rule 11 — Largest
20 (5/4/1/2]12 1st 1st 1st majority 3" & above

Tie | Tie Rule 10 — Most 2" &
3014|521 12 15t 1t 2nd above placings

Tie Rule 10 - Remaining
40 (2123|511 12 « | 4th couple, no 1* placings, not

1 included in Rule 11

Tie | Tie Rule 11 - Largest
50 (1 6(/5(6] 18 gth gth 5th majority 5% & above

Tie | Tie Rule 11 — Remaining
60 |[6(3|6|3] 18 gth 5th 6th couple in tie

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 3 & 4th & 5th & 6" & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10 5 7 12
20 3 8 13 | e | e | e 1st
30 2 7 8
40
50 - - - - 17 | - 5th
60 - - - - 14 | -
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Skating System Examination

Name:

Date:

Time Allowed: 40 minutes

Country:

Practice Examination Answer: 2P

(1) If the total number of Adjudicators on a panel is as shown below, state the number of

Adjudicators required for a majority in each case.

No: of Adjudicators on a panel

Number required for a majority

12 7
17 9
11 6
20 11
6 4
9 5

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1-2 | 13 | 14 | 15 | 1-6
10 5 1 2 6 4 2 2 37 | 41 | 57 | 55
20 1 2 5 4 6 1 2 2 37 | 411 | 5V 5.5
30 2 3 3 5 5 - 1 38 3rd
40 6 5 1 3 3 1 1 3| 37 | 4 |- 1st
50 3 6 6 2 2 - 2 37 | 3 3 |- 2nd
60 4 4 4 1 1 2 2 2 5 |- |- 4th

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 | 1-3 |14 15| 1-6
10 6 1 5 4 4 1 1 1 e e 6th
20 1| 4|6 | 1|52 ]| 2| 2|3 |~ 5th
30 2 5 3 6 2 - 2 37 4 || 3rd
40 3 3 4 2 6 - 1 38 4th
50 4 6 1 3 1 2 2 3° 1st
60 5 2 2 5 3 - 2 37 5 || 2nd
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Allocate the places in the following “Final Summaries” and state your reasons for allocating
the various places to the ‘tied’ couples. If, however, you believe the markings should be
referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate
competitors and complete the “Reason” Column.

(7)
Couple
No: W T F | Q | Total | Result Reason
10 5 6 1 1 13 2nd Rule 10 — Most 2" & above, lowest aggregate
20 3 1 3 6 13 3rd Rule 10 — Most 3™ & above, lowest aggregate
30 1 4 4 4 13 4th Rule 10 — Most 4t & above
Tie Apply Rule 11 - Equal 5t & above, equal
40 4 5 2 y) 13 et pply Rule ag:::gate above, equa
Tie Apply Rule 11 — Equal 5t & above, equal
50 2|3 53| 18 [ = YR et )
60 6 2 6 5 19 1st Rule 9
(8)
Couple
No: W | T F | Q | Total | Result Reason
10 5 4 2 | 15| 12.5 | Tie 1st Apply Rule 11 - No 1%t placings
20 3 3 5 | 1.5] 12.5 | Tie 1st Apply Rule 11 - No 1* placings
30 1 5 1 6 13 4th Rule 10 — Remaining couple in tie
40 6 1 3 3 13 3rd Rule 10 — Most 3" & above placings
q Apply Rule 11 -E 15t & ab , |
50 2 6 4 145 16.5 | Tie5th pply Rule ag:‘::gate above, equa
60 4 | 2| 6 | 45| 165 | Tiesth [ ArPvRueti-Eal® & above equal
(9)
Couple
No: W | T | F | Q| Total | Result Reason
10 3 y) 1 5 11 Tiel2nd Apply Rule 11 —:gc;::lg:::& above, equal
20 2 4 4 1 11 Tie 2nd Apply Rule 11 _a?gl::lg:::& above, equal
30 4 3 2 2 11 4th Rule 10 - Remaining couple in tie
40 1 1 3 6 11 1st Rule 10 — Most 15t placings
50 6 5 6 3 20 6th Rule 10 — Remaining couple in tie
60 5 6 5 4 20 5th Rule 10 — Most 5t & above placings

177



(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N: IA|B|C|D/ E|{AB|C/D|/E|JA/B|C|D E|A|B|C|D|E
10 6151|1546 ,5|6]2|5|1|4|2]2]|4,1|5]|5
20 |1/3|1|5|2|]6|/5|3|6|5|3|4,6|1 (31|13 ,2|3
30 |42, 2|3|6|3(3|2(4|4|1|1 |5/ 5|1|4|2|5|6]2
40 3/]6(3(6(42|1 51|15 |2|2|2|5]6|54|]1]|1
50 514|162 |3|1|64,3|2]14|3 (3|3 /413 |3|6|4]|6
60 2|/5/4,4 514|212 |3|6|6|4]|6,6]|5|6[|2]3 4
FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ks (et le First Second

Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11

Tie Tie Tie R10 - Equal 2nds & agg.
10 1 6 2 3 12 1st 1st 2nd 3rd R11 - Remaining couple

Tie Tie Rule 11 - Largest majority
20 (2|5/41[22]| 5| .5 |1st S orgestn

i Ti — Remaining couple no
30 3 4 1 4 12 IIset 1'; 4th '?rl;gludZdintief%)rZ"‘?Llacet

Tie | Tie Tie R10 - Equal 2™ & agg.
40 (61|32 12 1st 1st 2nd 2nd R11—Maj?)rity3"‘&agbgove

i Ti ule 11 - Largest majori
50 [4|3(5/6| 18| o | 5 | 5th Rulle 1~ targest majority

Tie Tie Rule 11 — Remaining couple
60 5 2 6 5 18 5th 5th 6th in tie

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 34 & 4t & 5th & 6t & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10 5 8 8
20 5 7 13 1st
30 3 8 11
40 5 9 11 ====== ====== ====== 2nd
50 - - - - 16 | - 5th
60 - - - 15
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Skating System Examination

Name:

Country:

Date:

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of

Practice Examination Answer:

Adjudicators required for a majority in each case.

No: of Adjudicators on a panel

Number required for a majority

5 3
6 4
9 5
13 7
15 8
24 13

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13|14 |15 1-6
10 4 4 3 1 1 2 2 | 3 2nd
20 3 1 5 6 4 1 1 2 3 | | - 5th
30 2 2 4 5 3 - 2 | 37 4th
40 1 6 2 3 2 1 3 |- 1st
50 6 5 6 4 6 - - - 1 2 5 6th
60 5 3 1 2 5 1 2 | 3° 3rd

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13|14 |15 1-6
10 3 1 3 6 2 1 2 4 3rd
20 5 6 1 2 1 2 | 3| 3| 3 |- 2nd
30 4 5 4 4 6 - - - 3 || 5th
40 2 | 3| 23| 5] - 1|2 | 8 ||| 4th
50 6 4 6 5 3 - - 1 2 3 |- 6th
60 1 2 5 1 4 2 | 3| 3| 4 |- 1st
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(4)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 | 1-3 | 14 | 1-5 | 1-6
10 4 1 5 2 6 1 2 2 37 4 | ----- 4th
20 5 6 4 5 3 - - 1 2 4 | ----- 6th
30 3 5 3 4 1 1 1 37| 41 | 5 | - 2.5
40 1 3 6 1 2 2 3 1st
50 2 4 2 3 5 - 2 37 | 41 | 5 | e 2.5
60 6 2 1 6 4 1 2 2 37| 3 |- 5th

(5)

Couple Adjudicator Place calculation Result
No: A/ B C D E | F G|1 12|13 14 |15| 16
10 3|56 5|12 |(21]|3 | 4|~ || | 4ath
20 1 3 1 5 2 4 5 2 3 |47 || 3rd
30 2 /4 41|32 |3|12]|3 |5 ||| 2nd
40 512 /34|46 |11 2|3 = | 7 | b5th
50 6 | 12|31 |3 |42 |3 |50 == [ 1st
60 4 6 5 6 6 5 6 - - - 3 7 6th

(6)

Couple Adjudicator Place Calculation Result
No: A/ B C D E|F |G| H|I 12|13 |14 |15 | 1-6
10 5/2|6|1|4|1|5|2 6|2 4|4 |59 — |- 5th
20 4| 6| 4|4 |5|6|4|6|3|-]-]1]5% -—|-—-] 6th
30 3|1 1|53 |5|3|4|1(|3]|3 67| —|—-—|—]| 1st
40 6| 4221363214 6%—|—-—|——] 2nd
50 23|56 |2 4|2 |1|5|1]|3 5956 849° 35
60 1/5|3|3|6[2|1|5|4|2]|3|5% 6% 849°| 35
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)
Couple
No: w | T F | Q | Total | Result Reason
10 2 1 6 6 15 2nd Rule 10 — Equal 2" & above, lowest aggregate
20 4 3 3 5 15 Tie 5th Apply Rule 11 —aEgt;l::IgaS:l& above, equal
30 3 4 4 4 15 Tie 5th Apply Rule 11 —aEgc;L::Ig::l& above, equal
40 1 2 5 1 9 1st Rule 9
50 6 5 1 3 15 Tie 3rd Apply Rule 11 —aEgc;::Ig:;:& above, equal
. Apply Rule 11 — Equal 3" & above, equal
60 56| 2| 2| 15 |Tiesrd T et ]
(8)
Couple
No: W | T |V | F | Q] Total | Result Reason
10 4 3 2 4 6 19 4th Rule 10 - Equal 4th & above, lowest aggregate
20 5 2 3 6 3 19 6th Rule 10 — Remaining couple in tie
30 1 1 1|5 2 10 1st Rule 9
40 6 4 6 2 1 19 Tie 2nd Apply Rule 11 —:gc;::lg:;‘:& above, equal
50 2 6 5 1 5 19 Tie 2nd Apply Rule 11 —aqugt::Ig:::& above, equal
60 3 5 4 3 4 19 5th Rule 10 — Most 5t & above placings
(9)
Couple
No: W | T |V | F | Q] Total | Result Reason
10 6 5 1 3 3 18 Tie 4th Apply Rule 11 —aEg(;l::Ig::;& above, equal
20 1 6 4 1 5 17 1st Rule 10 — Most 15t places
30 2 2 3 5 6 18 Tie 4th Apply Rule 11 -:gc;::lg:::& above, equal
40 3 1 5 4 4 17 3rd Rule 10 — Remaining couple in tie
50 4 4 6 2 1 17 2nd Rule 10 — Most 2" & above placings
. Apply Rule 11 — Equal 4t & above, equal
60 |5 3|2 |6|2| 18 |Tieath Faal 47
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(10)

Calculate the results of the following event and if after applying Rules 9 and 10 there

is still a tie in the final summary, then apply Rule 11. Results of the individual dances have

been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N:A/B|C/D|/E|A|/B|C|D E|[(A|B|C| D E|(A|B|C|D|E
10 111,12 |5|3|4|4|4|4|1]|]5|6|3|2|3]|3|2|4]|2]|4
20 4 15|13 /1)1f(1,2|2|3|4|13 |3 1|3 |6|4|4|6|3]|6
30 6/6(1(4 |42 |5|5/5|5]1|1|2|5|2]2]|6|2|6|1
40 313/ 6/3|6|6|6|6|6|6]22|5/1|5]5|1,5|1/3
50 514|146 |2(3|1/3,1/3|4|5|4|4|1]1]|51|5]|2
60 2(2|(5(2|5|5(3|1,2,2|]6|4|,6|6|4]16|3|3,|4)|5

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
ks (et le First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
Tie | Tie Rule 10 — Remaining
10(1(4|/4 |4 13 st 1t 3rd couple in tie
Tie | Tie Rule 11 — Largest
20(3|/1/3|6 13 1st 15t 1st majority 3" & above
Tie | Tie Rule 10 — Most 2" &
30 |5/5/1|2 13 1st 15t 2nd above placings
Tie Rule 10 — Most 4th &
4 (46|23 15 gth 4th above placings
Tie | Tie Rule 11 — Largest
50 |6/3|5[1] 15 5th 5th 5th majority 5t & above
Tie | Tie Rule 11 — Remaining
60 [2(2]/6|5]| 15 gth | gth 6th couple in tie

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 34 & 4t & 5th & 6t & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10 3 7 11
20 4 6 i R e e 1st
30 4 9 9
40
50 - - - - 19 | - 5th
60 - - - - 16
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Skating System Examination

Name: Country:

Date: Practice Examination Answer: 4P

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

No: of Adjudicators on a panel Number required for a majority
6 4
8 5
12 7
4 3
16 9
24 13

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 |13 |14 15 1-6
10 3 6 6 1 4 1 1 2 38 3 | - 6th
20 6 5 2 3 2 - 2 3 2nd
30 5 3 5 4 1 1 1 2 38 5 | - 5th
40 2 4 1 6 5 1 2 2 37 | = | 4th
50 1 1 4 5 6 2 2 2 36 | = | 3rd
60 4 2 3 2 3 - 2 3 1st

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13|14 |15 1-6
10 2 5 3 6 1 1 2 36 3 || 3rd
20 1 6 4 5 3 1 1 2 32 | 4 |- 4th
30 4 3 1 2 6 1 2 36 4 |- | e 2nd
40 3 4 2 1 2 1 3 1st
50 6 1 6 3 4 1 1 2 38 3 |- 5th
60 5 2 5 4 5 - 1 1 2 5 | ----- 6th
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(4)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 |12 13 14 | 15| 1-6
10 1 3 2 4 5 1 2 36 | 41 | 5% | oo 3
20 2 4 3 1 1 2 3 1st
30 3 1 5 2 4 1 2 36 | 41 | 515 | ool 3
40 5 6 4 6 2 - 1 1 2 3 |- 5th
50 4 2 1 5 3 1 2 36 | 410 | 515 | ool 3
60 6 5 6 3 6 - - 1 1 2 5 6th
(5)
Couple Adjudicator Place calculation Result
No: A/ B | C| D E | F|G|1 12/1-3/14|15|1-6
10 2 /3 /3|2|5|6/|4]-]2|49° ||| 3
20 1 2 4 1 6 3 5 2 3 |47 ||| 1st
30 6 /1|55 |1|4|2|2 |3 |3 | 4| || 5th
40 5/4 1,62 |5|3|1|2]|3 4%~ || é6th
50 3 6 2 4 3 1 6 1 2 (4° | — ||| 2nd
60 4 |56 342|112 |3 | 5 ||| 4th
(6)
Couple Adjudicator Place Calculation Result
No: A/ B C D E| F G| H|J|1]|12 13 14 15 16
10 4 3/1]1]3 414|146 |- ||| 2nd
20 3/1|5(6|4]1|6|3|5[2|2 |4 5| || 4th
30 2124|5342 |6[3|-(3|5|"7[7|7| 3d
40 116|232 5 1126 | 7|7 ||| 1st
50 5/6/2|6|6|3|4|2]-/12|3|4|5 || 6th
60 5/3(1}2|5|5/4 56|12 |3 4|8/ -] 5th
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)
Couple
No: W | T F | Q | Total | Result Reason
10 5 1 2 1 9 1st Rule 9
20 6 5 3 2 16 3rd Rule 10 — Most 3™ & above, lowest aggregate
30 1 4 5 6 16 6th Rule 10 — Remaining couple in tie
. Apply Rule 11 — Equal 4th & above, equal
40 2 6 4 4 16 Tie 4th v agg‘:egate !
. Apply Rule 11 — Equal 4* & above, equal
50 4 3 6 3 16 Tie 4th yru agg‘:egate u
60 3 2 1 5 11 2nd Rule 9
(8)
Couple
No: W | T F | Q | Total | Result Reason
10 1 4 2 3 10 an Rule 10 — Remaining couple in tie
20 6 6 3 1 16 Tie 3rd Apply Rule 11 —aEg:L::Ig:t";& above, equal
30 2 2 6 6 16 Tie 3rd Apply Rule 11 _aEg:l::Ig::& above, equal
40 5 5 4 2 16 Tie 5th Apply Rule 11 —aEg:t::Ig:t‘:& above, equal
50 3 3 5 5 16 Tie 5th Apply Rule 11 —aI;:L::IgaSt‘:& above, equal
60 4 1 1 4 10 1st Rule 10 — Most 1%t places
(9)
Couple
No: W | T F | Q | Total | Result Reason
10 6 2 2 4 14 4th Rue 10 — Most 4t & above, lowest aggregate
20 5 4 4 1 14 Tie 5th Apply Rule 11 —aEgt;L::Ig::;& above, equal
30 4 5 3 2 14 Tie 5th Apply Rule 11 —aEg(;l::Ig:::& above, equal
40 3 3 5 3 14 3rd Rule 10 — Most 3¢ & above placings
50 1 1 6 6 14 1st Rule 10 — Most 1% places
60 2 6 1 5 14 2nd Rule 10 — Most 2" & above placings
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10) Calculate the results of the following event and if after applying Rules 9 and 10 there is
still a tie in the final summary, then apply Rule 11. Results of the individual dances have been
given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N:A/B|C/D|/E|A|/B|C|D E|[(A|B|C| D E|(A|B|C|D|E
10 4121|1536 |5/4 11113 |2(3|3|]2]2]2]|1
20 6/5/3/1(5|2(4(1|5(5]1]2,4/1,5|5]11/1,3 4,2
30 1,614 |13|2|4|2|5|6|2|4|2|5|6|2]|]2|4|1|1]3
40 311124 (4|5/6|2|3(4]5/,6|2,3|,4]16|5|4,6/|5
50 2(3|5/6|1|13 /3, 6|4|6]|]6|]5|4|]1|]1]|]5|6|6]|3 |4
60 51462 |6|1}1(3(2(3|]3,3|6/4,6|4|3|5|5/6

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
LBl First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W| T | F| Q] Total 9 10 11 10 11
10 (2|2 1|1] 6 | 1st Rule 9
2 ’ Tie | Tie Rule 11 — Remaining
20 |5/3 (3 v, 13% and | ond 3rd coupe in tie
2 \ Tie | Tie Rule 11 — Majority 2" &
30 (3|44 v 13% ond | gnd 2nd above placings
Tie | Tie Rule 11 — Remaining
40 |1 /5|56 17 4th 5th 6th coupe in tie
Tie | Tie Rule 11 — Largest
50 (416|2|5| 17 4th gth 5th majority 4" & above
Tie Rule 10 — Equal 4th &
60 16/1/6|4] 17 4th 4th above, lowest aggregate

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 34 & 4t & 5th & 6t & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20 - 8 10
30 - 9 11 | - 2nd
40 - - - - 6 | - 5th
50 - - - - 14
60
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Skating System Examination

Name:

Date:

Time Allowed: 40 minutes

Country:

Practice Examination Answer: 5P

(1) If the total number of Adjudicators on a panel is as shown below, state the number of

Adjudicators required for a majority in each case.

No: of Adjudicators on a panel

Number required for a majority

4 3
6 4
8 5
12 7
16 9
24 13

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1-2 | 13 | 14 | 15 | 1-6
10 5 1 2 6 4 2 2 37 | 41 | 57 | 55
20 1 2 5 4 6 1 2 2 37 | 411 | 5V 5.5
30 2 3 3 5 5 - 1 38 3rd
40 6 5 1 3 3 1 1 3| 37 | 4 |- 1st
50 3 6 6 2 2 - 2 37 | 3 3 |- 2nd
60 4 4 4 1 1 2 2 2 5 |- |- 4th

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 | 1-3 |14 15| 1-6
10 6 1 5 4 4 1 1 1 e e 6th
20 1| 4|6 | 1|52 ]| 2| 2|3 |~ 5th
30 2 5 3 6 2 - 2 37 4 | | e 2nd
40 3 3 4 2 6 - 1 38 4th
50 4 6 1 3 1 2 2 3° 3rd
60 5 2 2 5 3 - 2 37 5 || 1st
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(4)

Result

1st

2.5

2.5

1-6

520

520

520

414

414

414

14 | 1-5

39

39

39
410

410

36

36

Place Calculation

1-2 | 1-3

1

Adjudicator
C

Couple
No

10
20
30
40

50
60

(5)

Result

1st

S5th

4th

3rd

2nd

6th

5
6

6

512

48

Place calculation
1-2 /13|14 | 1-5| 1-6

1

G

Adjudicator
D

Couple
No

10
20
30
40

50
60

(6)

Result

1st
2nd
3rd
4th

5th
6th

8
7

1-2 | 13 |14 |15 | 1-6

Place Calculation

4 |5°
4 | 5%
4 | 5%

1

2

1

J

4(a|a)|s

5

5

6

G | H

3

4 | 4

F

5

Adjudicator
E

4|44

2

2

A B  C|D

Couple
No

10
20
30
40

50
60
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Allocate the places in the following “Final Summaries” and state your reasons for allocating
the various places to the ‘tied’ couples. If, however, you believe the markings should be
referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate
competitors and complete the “Reason” Column.

(7)
Couple
No: W T F | Q | Total | Result Reason
10 5 6 1 1 13 2nd Rule 10 — Most 2" & above, lowest aggregate
20 3 1 3 6 13 3rd Rule 10 — Most 3™ & above, lowest aggregate
30 1 4 4 4 13 4th Rule 10 — Most 4t & above
. Apply Rule 11 — Equal 5t & above, equal
40 4 5 2 2 13 Tie 5th aggregate
. Apply Rule 11 - Equal 5t & above, equal
50 2 | 3] 5| 3] 13 [ Tiesth yRule 11 faual 50 “
60 6 2 6 5 19 1st Rule 9
(8)
Couple
No: W | T F | Q | Total | Result Reason
10 5 4 2 | 15| 125 | Tie1st Apply Rule 11 - No 1+ placings
20 3 3 5 115 12.5 | Tie 1st Apply Rule 11 - No 1+ placings
30 1 5 1 6 13 4th Rule 10 — Remaining couple in tie
40 6 1 3 3 13 3rd Rule 10 — Most 3" & above placings
. Apply Rule 11 - Equal 5t & above, equal
50 2 | 6| 4 |45]| 16,5 | Tiesth Saual 5
. Apply Rule 11 — Equal 5t & above, equal
60 4 2 6 | 45| 16.5 | Tie5th aggregate
(9)
Couple
No: W | T | F | Q| Total | Result Reason
10 3 2 1 5 11 Tie 2nd Apply Rule 11 —aqugt::Ig:::& above, equal
20 2 4 4 1 11 Tie 2nd Apply Rule 11 _aqug::Ig:::& above, equal
30 4 3 2 2 11 4th Rule 10 - Remaining couple in tie
40 1 1 3 6 11 1st Rule 10 — Most 15t placings
50 6 5 6 3 20 6th Rule 10 — Remaining couple in tie
60 5 6 5 il 20 5th Rule 10 — Most 5t & above placings
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(10)  Calculate the results of the following event and if after applying Rules 9 and 10 there
is still a tie in the final summary, then apply Rule 11. Results of the individual dances have
been given in the final summary sheet as shown.

Judges markings in the four individual dances are shown below.

Couple Waltz Tango Slow Foxtrot Quickstep
N JA/B|C|D| E|A|B|C|D|/E|{A/B|C/D E|A|B|C|D|E
10 |2|4|1|5|5|3[3|3|6[3|[3|/4|4[3|3|5|5/6|6]6
20 |[4|2|5|6|2|6|1|2|2|5|6|6|6|6|4|l4a|4a|5|3]|5
30 [3/3|6|4|6|4|4|6|4|4|1|3|3|4]|6|2|6]|3|5]2
40 5|6 2|3 |4|5|6|4[3|6|2|5|5|2|2|3[3|4|4]4
50 |1 1|32 31|51 |1|2|4|2|2|5|1]|l6]|2]|2|1]|1
60 |6 | 5|41 |1|2|2|5|5|1f5]1|1|1|5|21|1]1]|2]3

FINAL SUMMARY CALCULATIONS

RESULT REASON
First Inspection | Secon.d .
nspection First Second
Rule | Rule | Rule | Rule | Rule Inspection Inspection

No: | W| T | F| Q] Total 9 10 11 10 11

—3rd ; -
Tie | Tie Tie | Tie Rule 11 -3 insp

10 13/4/5/6(18 |, |, ath | sth |3 argest maforey 5 &
20 4|3 6/5[18( 1 M | |6 remaiing couple inte
30|6/5|4|3] 18 ;:2 ;:Z 3rd Rl 11 Largest
20 |5/6(3/4] 185 | | 4th e prgest majorty
50 (1/1(2|2] 6 | 0| 1e | Lt
60 (22 1|1| 6 |1°| T |2nd Rule 11~ Remaning

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2" & 34 & 4t & 5th & 6t & under

No: Higher Higher Higher Higher Higher Rule 11

ONLY
10 - - 9 12 16 | - 5th
20 - - 6 10 14
30 - - 8 14 ====== ====== 3rd
50 8 14 | e | emeeeeee 1st
60 9 12
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Skating System Examination

Name: Country:

Date: Practice Examination Answer: 6P

Time Allowed: 40 minutes

(1) If the total number of Adjudicators on a panel is as shown below, state the number of
Adjudicators required for a majority in each case.

No: of Adjudicators on a panel Number required for a majority
3 2
4 3
11 6
19 10
13 7
12 7

Allocate the places in the following “Dance Final” examples.

(2)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 (12|13 |14 |15 | 16
10 6 5 6 6 6 - - - - 1 5 6th
20 1 1 1 5 5 3 1st
30 2 6 2 4 3 - 2 37 | 4% | 4 | - 5th
40 4 2 5 3 2 - 2 37 | 41 | 5 | e 4th
50 3 3 4 1 4 1 1 37 5 | meeem | meee- 3rd
60 5 4 3 2 1 3 2nd

(3)

Couple Adjudicator Place Calculation Result
No: A B C D E 1 1-2 13 | 14 | 1-5 | 1-6
10 1 5 3 2 5 1 2 36 K I R 4th
20 3 6 1 4 2 1 2 35 | 40 | 4 | - 3rd
30 5 2 4 1 3 1 2 35 | 40 | 5 | 0 2nd
40 4 4 2 3 1 1 2 36 5 | —eem | mmee- 1st
50 2 1 6 5 6 1 2 38 | e 5th
60 6 3 5 6 4 - - 1 2 | 312 | e 6th
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Allocate the places in the following “Final Summaries” and state your reasons for allocating

the various places to the ‘tied’ couples. If, however, you believe the markings should be

referred to Rule 11, then just enter “Rule 11” in the Result column against the appropriate

competitors and complete the “Reason” Column.

(7)

C?\‘uorzle W | T F Q | Total | Result Reason
10 1 1 6 6 14 2nd Rule 10 - Most 2" & above placings
20 3 3 5 5 16 Ruslfhll Apply Rule 1:q—u :?:2; i}:f:ve placings,
30 4 4 4 4 16 Ru5|:eh11 Apply Rule 1:q—u :?:;; f;g:reove placings,
40 2 2 3 3 10 1st Rule 9
50 6 5 1 2 14 Rusl:adn Apply Rule 1;1q—u E?:;Ig r3;:g ::)eove placings,
60 5 6 5 1 14 Rusltredll Apply Rule 1:q—u E?:Z:; ?;g:tbeove placings,
(8)
Couple
No: W | T | V| F | Q]| Total | Result Reason
10 1 2 5 2 5 15 1st Rule 9
20 25| 6 6 1 6 21.5 6th Rule 9
30 2535 3 4 4 17 4th Rule 10 — Remaining couple in tie
40 4 5 4 3 1 17 3rd Rule 10 — Most 3 or higher placings
50 6 1 2 |55 3 17.5 5th Rule 9
60 5 35| 1 |55 2 17 ol Rule 10 — Most 2™ or higher placings
(9)
Couple
No: W | T | V| F | Q| Total | Result Reason
10 4| 2 114l a 15 Rulltztll Apply Rule 11 - gmg::; :ts;placings, equal
20 |34 2]3 ]3] 15 | 3d | M O e
30 5 3| 4| 2 1 15 Rullestll Apply Rule 11 - gMgc::tg ;lts;placings, equal
40 6 1 3 1 5 16 4th Rule 9
50 2 5 5 6 | 6 24 6th Rule 9
60 1 6 | 6 | 5 2 20 5th Rule 9
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(10)

If after applying Rules 9 and 10 there is still a tie in the Final Summary, then apply

Rule 11. (That is, refer back to the Adjudicators markings in the four individual dances.)

JUDGES MARKINGS IN THE FOUR INDIVIDUAL DANCES

N Waltz Tango Slow Foxtrot Quickstep
o:

A/ B C D E|A/ B C D E|A B/ C/ D E|A/B|C DI E
10|16 |12 |1|1|6|2|3|2|1|1|4|1|3]|]6|1|2]|2]|1
205|512 |5(4|4|4 |3 |1|1(3|4|2|4|6|1|5|4|5]6
301213422 |2|4|5|3|2|6|3|5|4|14 63|45
40|16 |2 5|3 |3|6|5 6|4 |64, 5|62 1341|333
50|4/4|6 |6 |6|3|1|5/6|4]|5|2 13223 ,5|]6]2
60 |3 /3 (/4|1 |5|5|3|1(2|5]|]6|3|56|5|526]|1]|4

FINAL SUMMARY CALCULATIONS
RESULT REASON
First Inspection Secon.d
Inspection First Second

Rule | Rule | Rule | Rule | Rule Inspection Inspection
No: | W F | Q| Total 9 10 11 10 11
10 | 1 11 4 1st Rule 9

Tie | Tie Tie Rule 11 — Largest
20 | 5 3/6] 16 2nd 2nd 3rd 3rd majority 4th & above

Tie | Tie Rule 11 — Largest
30 | 2 5/5| 16 ond ond 2nd majority 4t & above

Tie | Tie Rule 10 - Remaining coupl
40 (4 412 16 2nd 2nd Sth no:includ:d i?\ Rulgeclol gee

Tie | Tie Tie Rule 11 — Remaining
50 | 6 23] 16 gnd | ond 3rd 4th couple in tie

Tie Rule 10 —-No 2" &
60 | 3 6141 16 ond 6th above placings, not

included in Rule 11 tie

Enter below the information to apply Rule 11 to the couples who tied under Rule 10.

Result
Couple 1st 2M & 3rd & 4t & 5th & 6t & under
No: Higher Higher Higher Higher Higher Rule 11
ONLY
10
20 - 5 7 13 ===== ===== 3rd
30 - 6 10 15 | eeemeem | e 2nd
40 - 4 9 12
50 - 6 9 12
60
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